Quantum Mechanics: Notes

Yi-Zen Chu
Contents
1 History 3
2 Basic Principles of Quantum Mechanics| 5
[3 Time Evolution in Quantum Mechanics| 6
[3.1 Properties of Evolution Operators| . . . . . . .. ... .. ... ... ... .... 7

[4 Heisenberg & Schrodinger Pictures: |

[  Time-Independent Hamiltonian| 13
5__Interaction Picture & Time Evolution| 17
6 Poisson Brackets, Commutation Relations, & Momentum as the Generator of |
L__Translations| 27
[ Non-Relativistic Quantum Mechanics: Schrodinger ’s equation & Probability |
[  Current, Electromagnetism| 29
8 Hydrogen-like Atoms| 33
[8.1 Separation of Variable Solution: Energy Eigen-functions & -Energies|. . . . . . . 33
[8.2  Electric Dipole transitions| . . . . . . . . ... ... o0 36
[8.3  Hydrogen Energies: SO, symmetry and the Runge-Lenz Vector|. . . . . . . . .. 36
9 3D Rotation Symmetry in Quantum Systems| 40
[9.1 ‘Adding’ angular momentum|. . . . . . ... ... 42
[9.2  Isospin symmetry| . . . . . ... 46
[10 Symmetry, Degeneracy & Conservation Laws| 48
(11 Spin and Statistics| 49
[I1.1 Spin Precession and Rotating Fermions| . . . . . . .. ... ... ... ... ... 51
[11.2 Atomic Structure/Periodic Table & Nuclear Structure . . . . . . . . . ... ... 52




(12 Simple Harmonic Oscillator] 53

[2.1 One Dimensionl . . . . . . . . . . . 53
[12.2 Schrodinger vs Heisenberg| . . . . . . . . . . .. ... oL 58
[12.3 Higher Dimensions| . . . . . . . . . . . . . . ... 60
(13 2-body Problem| 63
(14 Rigid Body Dynamics in 3D Space| 64
4.1 Classicall . . . . . . . 0. 64
(14.2 Quantum| . . . . . . . . . 68
(15 Entanglement & Bell’s Inequalities: Spin-Half Systems; EPR Paradox| 70
(16 Path Integrals| 75
[16.1 Example: Free Particle in Flat Euclidean Space| . . . . . . . . . ... ... ... 7
[16.2 Path Integrals From Time-Independent Hamiltoniansf . . . . . . . . .. ... .. 80
[16.2.1 General Properties| . . . . . . . . . . . .. ... 85
[[6.2.2 Free Particld. . . . . . . . . . ... 89

[16.2.3 Simple Harmonic Oscillator] . . . . . . . . . ... ... ... ... ... . 89

(16.3 SHO with Time Dependent Frequency| . . . . . . . ... ... ... .. ... .. 97
(17 Variational Method: Examples| 102
(18 Rayleigh-Schrodinger Perturbation Theory| 104
(18.1 1D SHO perturbed with a 2* potentiall . . . . . . . . . .. .. ... ... .... 104
[18.2 Hydrogen-like Atoms| . . . . . . . . . . ... 105
U821 Stark Bffect] . . . . . ..o oo 105

(18.2.2 Spin-Orbit & Fine Structure| . . . . . . . . . . .. ... o000 108

(18.2.3 Zeeman Effectl. . . . . . . . . . . 109

(18.2.4 van der Waals Forces between atoms| . . . . . . ... .. ... ... ... 112

[18.3 Magnetic Moment|. . . . . . . . . . ... 117
19 JWKB (Short Wavelength) Approximation| 118
20 Density Matrices: Schrodinger Picture| 123
[20.1 Open Systems| . . . . . . . . . . . 125
[20.2 Properties of Initial Density Operator|. . . . . . . .. . .. ... ... ... ... 126
[21 Scattering Theory| 129
22 Acknowledgments| 135
A Classical Mechan I a Pomi Particle: Review 135
IB_Some ldentities| 138
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These notes on Quantum Mechanics currently follow no particular order. Please do feel free
to provide feedback, error reports, etc.

1 History

The following points (very briefly!) summarize the development of quantum theory. Mainly
from Weinberg’s Chapter 1 [2].
Particle character of photons

e Black body radiation Energy density p of photon bath at temperature T' per angular
frequency w measured in the late 1800’s. Planck showed that the experimental results may
be fit to the formula

dE h w3

P=Wdo ~ mexp(w/(ksT)) — 1 (1.0.1)

This is where Planck’s constant h (note: h = h/(27) ~ 1.054--- x 10731 s = 6.582- - - X
10722MeV s) was first discovered. Nowadays the presence or absence of /i or h in physical
predictions is oftentimes used as a zeroth-order indication of whether the effect under
consideration is quantum or classical.

Theoretical explanations tend to predict: p blows up at high frequency if we assume photons
are classical waves. Planck’s derivation assumed photons were coupled to a large number
of discrete harmonic oscillators at temperature 7. The (correct) derivation was made by
Lorentz, by combining Gibbs’ statistical mechanical arguments with Einstein’s postulate
that light was made of particles (see below) each with energy fiw. Namely, the hypothesis
that photons are particles instead of waves changed the energy spectrum drastically at
high frequencies.

e Photoelectric effect Einstein postulated photons — though it was G.N.Lewis who coined
the name ‘photon’ itself — to explain photoelectric effect. Individual photons need to have
energy larger than electron ‘work function’. Otherwise no electrons emitted from metal.
Millikan did experiment to verify emitted electron energy is hAv, and obtained a h close
to that occuring in Planck’s black body formula.

e Compton scattering If photons were particles, they would collide/scatter electrons
according to simple laws of kinematics obeying conservation of energy and momentum.
Such scatterings between X-ray photons and electrons were done by Compton — and thus
further solidified the particle nature of photons.

e Remark on photons and probabilistic QM The particle character of photons, together
with the phenomenon of how the intensity of polarized light passing through a polarizer
varies with the angle/orientation of the latter, can be used to argue for the probabilistic
character of quantum mechanics — see lecture here for elaboration.

Atomic Physics & Wave Functions


https://www.youtube.com/watch?v=8OsUQ1yXCcI

e Discrete character of Atomic Spectra In the 1800’s and early 1900’s, the discrete char-
acter of the emission/absorption spectral lines from hot gases was not understood. These
lines formed a pattern that can be used to identify different chemical compositions. For
instance, Helium was in fact first discovered through the observation of its spectral lines
on the chromosphere of the Sun.

o Atomic Structure Understanding atomic spectra required understanding atomic struc-
ture. Rutherford, Geiger, Marsden did experiments to suggest, the atom is comprised of a
very heavy but small positively-charged nucleus, with much lighter but negatively-charged
electrons orbiting it. Later on Moseley found experimental evidence that the nucleus is
an integer multiple Z of |e|, the magnitude of the charge of the electron. (Rutherford
coined the term ‘proton’.) But Z was not A, the atomic weight; it was Chadwick who then
discovered the electrically neutral neutrons. Hence: nucleons were Z protons and A — 7
neutrons.

Classical electrodynamics would have predicted such a system to be radiatively unstable.
Nonetheless Bohr, and later one Sommerfeld, invented quantization rules that allowed one
to compute the discrete atomic energy levels. Of course, these rules are now superceded
by quantum mechanics proper.

e de Broglie, Schriodinger € Heisenberg Since light, which previously was thought to
be waves, are found to be particles as well — de Broglie suggested that electron (which
were known to be particles) are perhaps waves as well. This idea can heuristically be
connected to the Bohr-Sommerfeld quantization rules. Davisson and Germer carried out
an experiment in 1927 to show the reality of electron waves, obtaining diffraction peaks
from scattering electrons off a crystal of nickel (similar to X ray diffraction patterns).

de Broglie’s waves were for free particles. It was Schrodinger who then extended the ideas
to allow the wave to interact with a potential (the Coulomb potential for atomic electrons).
Thus quantum mechanic is born.

Around the same time, Heisenberg devised his matrix mechanics, which came to be recog-
nized as a complementary approach to quantum mechanics to the Schrodinger equation.

e Dirac & QFT The linear algebraic formulation we shall adopt, which subsumes both
Schrodinger and Heisenberg, is due to Paul Dirac [I]. Dirac is also the pioneer of quantum
field theory, the application of the rules of quantum mechanics to fields.

Probabilistic character of QM

o Max Born Even though quantum mechanics was devised by people like Schrodinger
and Heisenberg, it was Born was recognized the Schrodinger wave function squared de-
scribed the probability (per unit volume) the particle could be found at a given location.
This is the radical departure from classical physics that bothered many — including Ein-
stein.

Warning: For the rest of these notes, I am setting h = ¢ = kg = 1.


https://en.wikipedia.org/wiki/Helium#Scientific_discoveries
https://en.wiktionary.org/wiki/God_does_not_play_dice_with_the_universe
https://en.wiktionary.org/wiki/God_does_not_play_dice_with_the_universe

2 Basic Principles of Quantum Mechanics

Quantum Mechanics is the basic framework underlying the fundamental laws of Nature. Its
basic principles are intimately tied to Linear Algebra.

Hilbert Space Given a physical system, its possible states are vectors in an abstract
vector space, usually dubbed ‘Hilbert space’. This can be finite or infinite dimensional. Moreover,
all information of the physical system are fully contained within the ket it corresponds to.

Observables as Hermitian Operators Many physical observables in quantum me-
chanics — such as energy, position, momentum, spin, etc. — are described by Hermitian linear
operators. The possible outcomes of measuring these observables are the eigenvalues of these
Hermitian operators.

To properly describe a quantum system usually means to find as many mutually commuting
observables as possible.

Born Rule Consider an observable A, with eigenstate |A). When an experimentalist
tries to measure A, the probability that the system described by |¢) will be found in state |\)
— and thereby yield A as the observable — is given by

P(j¥) = |A) = [(A[)]° (2.0.1)

provided both [¢) and |A) have been normalized to unit length.

If X refers to a continuous set of eigenvalues, then | (A] ) |* would instead be a probability
density — for example, | (Z] 1) |* is the probability per unit spatial volume for finding the quantum
system at Z, because |Z) is the position eigenstate infinitely sharply localized at Z.

Because of this probabilistic interpretation of quantum mechanics, quantum states {|¢))} are
really rays in a Hilbert space. If |¢)) describes the system at hand, the probability of finding it
in the state |1) is unity by assumption. This only fixes its length-squared | (1| 1) |* = 1; there
is no other way to distinguish between € |¢)) and [¢), for real §, and we are thus obliged to
identify all vectors differing only by an overall phase as corresponding to the same system.

Copenhagen The Copenhagen interpretation of quantum mechanics further states that,
upon such a measurement, the original state |¢) ‘collapses’ to |A) if indeed the observable turned
out to be A — at least for non-degenerate |\). Suppose the system were degenerate, so that the
eigen-subspace corresponding to the eigenvalue A\ can be further labeled by say o, we may denote
these states as {|A;0)}. Now, if [¢) is some superposition of these \-states, namely

V)= ChlNo) (C, €Q) (2.0.2)

plus other states with eigenvalues not equal to \; then upon measuring A, if the experimentalist
finds A, the state collapses instead to this |\'):

0) - 2 (209

) -
Dynamics There is a ‘total energy’ operator, the Hamiltonian H, such that the time evo-
lution of a state [1(t)) describing some physical system is governed by the Schrédinger equation:
i [0() = H (1)) (2.0.4)



in units where h = 1.|1_-] Physically speaking, quantum mechanics is really a framework; the
actual physical content of a given quantum theory is encoded within its Hamiltonian. This is
analogous to Newton’s laws of mechanics; in particular, “force equals mass times acceleration”
is the classical parallel to eq. — the physics of Newton’s 2nd law is really specified by the
actual form of the force law.

3 Time Evolution in Quantum Mechanics

Unitary Nature of Quantum Time Evolution In quantum mechanics, the physical
system is described by a state [¢) in some Hilbert space. Suppose we identify some observable
A. We know its eigenstates {|A\)} span the whole space, and therefore we may exploit the
completeness relation I =), |A) (A] to express

[0y = IA) (Al ¢). (3.0.1)

The probability for finding the system a given state |\) is | (V| %) |2. On the other hand, the
probability to find it in any arbitrary state must be one, since these eigenstates span the whole
space.

L= [ =) wlA) (Al9) = wly) (3.0.2)
A A
In other words, the state itself must have unit norm. Not only that, it must do so for all time.
Otherwise, it would mean the probably of find it in any state is less than 1. (Where would
it be, then?) As we see now the time evolution is unitary — probability is conserved — iff the
Hamiltonian is Hermitian.
The time-evolution equation carries Schrodinger’s name:

0 ) = H |¢), (3.0.3)
—i0y (Y] = (Y| H'. 3.0.4
Consider now
O (1)) = (8 () |[¢) + (W[ (Be [)) = i (| HY 1) — i (4 |[H| ) (3.0.5)
=i (| H — H|). (3.0.6)

PIf we want (1|1) = 1 to remain one for all time; its time derivative must be zero. Since this
must be true for any quantum state [¢), we conclude

H=H" (3.0.7)

'Eq. is the starting point for quantum dynamics. Often though — particularly in quantum field theory
— one then quickly switches to the ‘Heisenberg picture’, where by choosing the analog of a rotating basis, the
time evolution is then transferred onto the operators.
Also notice how 7 occurs explicitly in Schrédinger’s equation; complex numbers are a necessity in quantum
dynamics.

2You might wonder why —id; (1| = (v)| HT. Start with |¢(t + dt)) = [(¢)) — iHdt [1h(t)) + O((dt)?), which is
equivalent to eq. (3.0.3). Then take the 1 on both sides to obtain (1 (t + dt)| = (¢(t)| +idt (¥ (t)| H + O((dt)?);
the 0; (] can be defined as the coefficient of dt.



On the other hand, if H = H' then the time derivative of (1| ) must be zero.
Time Evolution Operator The time evolution operator U is the operator that obeys
the Schrodinger equation

i0,U(t,t") = HU(t,t") (3.0.8)
and the boundary condition
Ult=t)=1L (3.0.9)

Suppose we were given some state of a system at time ¢, namely |¢)(¢')). Then the same physical
system at ¢t > ¢’ can be gotten by acting U upon it:

(1)) = UL, 1) (1)) - (3.0.10)

That eq. (3.0.10]) solves Schrodinger’s equation is because of eq. (3.0.8)); while at ¢ = t/, we
utilize eq. (3.0.9) to check that [i(t)) — |[¢()) is recovered.

Problem 3.1. Prove the following properties of the time-evolution operator:

Ulty, 1)U (g, t3) = U(ty, t3) (3.0.11)

and
Ulty, to)' = Ulta, h); (3.0.12)
where ¢, 5 3 are arbitrary times. O
Time-independent Hamiltonians & Stationary States Whenever the Hamiltonian

does not depend on time, the time evolution operator is simply
Ut,t') =exp (—iH(t —t')). (3.0.13)

It is easy to check that e *#(~*) satisfies both equations eq. (3.0.§) and (3.0.9). Under these
circumstances, if a quantum system is found in an energy eigenstate |E,) at time t', it will

remain there for all times, since, according to eq. (3.0.10|),

W(t > 1)) = e HE) | By = ¢miBalt=t) | B ) | (3.0.14)

3.1 Properties of Evolution Operators

In this section we will collect properties of evolution operators.

Definition Given some initial/fixed time ¢’ and a Hermitian operator H — for our
purposes here in this section, it does not necessarily need to be the Hamiltonian — the defining
equation of the evolution operator U is

QUL Y] = HULY), Ult=t]=L (3.1.1)



We shall assume H does not depend on time derivatives; in particular, since this is a first order
in time system, this means the solution to eq. ([3.1.1]) is unique. Taking the T on both sides also
hands us:

UL, 1) = UMt t'| H[t], Ut =t =1 (3.1.2)
Unitary The evolution operator defined by eq. (3.1.1)) is unitary.
Proof We wish to show that U'[t, #|U[t,#] = I. Using eq. (3.1.1)), i.e., i0,U = HU and
i0,U" = —UTH, we see that the time evolution of the LHS is governed by:

i0, (Ut Ut ) = ioU[t, V|U[t, '] + U, t]io,U|t, ] (3.1.3)
= —U't,t'|H[H)U[t, t'] + U[t, | H[tJU[t, '] = 0.

Therefore, UT[t,#'|U[t, '] is actually independent of t. To evaluate it for arbitrary ¢, therefore,
we only need to do so at t = ¢’. The initial/boundary condition in eq. (3.1.1)) says

Ut =t Ut =t] =1 (3.1.5)

Solution I The (unique) solution to eq. (3.1.1)) is

Ut ¢ :Hi(_i)e/ﬂtdte/j dtg_l.../ﬂtg dts /;2 At H[t)Hlte_1] ... H{tz)H[t:].  (3.1.6)

There is no restriction on whether ¢ > ¢ or t < t’ here.
Proof The initial condition U[t = /| = I is obeyed. Therefore, we need only to check the
differential equation — i.e., Schrédinger’s equation — is satisfied:

U] = S (i) / e / 7t / "t Hft ] H]
= H[t] i(_i)f /t dt, /tz dty_q--- /t2 dtlH[te] o H[tl]
= Ht] U:[t, t']

Note that the zeroth (¢ = 0) term of the sum on the second line is I.
Solution II The (unique) solution to eq. (3.1.1)) can also be written as

it — )T {exp [—i /t t dt”H[t”]] } + O, — T {exp [z /t ' dt”H[t”]] } BT

where T denotes time ordering, i.e., every operator within the {...} is to be arranged such that
operators evaluated at later times sit to the left of operators evaluated at earlier times. For
example,

Ult,t'] =©

N|=

1
2



and T denotes anti time ordering, i.e., every operator within the {...} is to be arranged such
that operators evaluated at earlier times sit to the left of operators evaluated at later times. For
example,

T{A[t)]B[ta]} = O1to — t1]A[t1] Blta] + O1[t1 — to] B[t2] Alt:]. (3.1.8)
Here the step function is defined as
O.ft—t]=1, if t >t
O.ft—t]=0, ift<t

1
n_ - . o
Ot —t]=5, ift=t.

Also the (anti) time ordered exponential(s) in eq. (3.1.7)) is formal — they are really defined by
its Taylor expansion:

T{exp {—i/tdt"H[t”]H ET{H—i— 3 (_Z)[ /tdte-../tdtlH[tg]...H[tl]}, >4,
¢ = v Je ¢

(3.1.9)
and
T{exp [z /tl dt”H[t”]] } = T{H+ ig/t dt, /t dtH[t,] . ..H[tl]} : t<t.
- (3.1.10)

Proof Let us show that our solution for U satisfies eq. (3.1.1). The boundary condition
Ult = ¢] = I is manifest. We first note that T (applied to eq. (3.1.9)) commutes with both 9y
and with 0;. This is because T does not involve either ¢ nor t’, since all the operators H are
evaluated at the intermediate times ¢; through t,. Therefore we may deduce,

iUt t'] = o[t —t'|T {exp [—i /t/t dt”H[t”]} } —§[t' =T {exp lz /tt’ dt”H[t”]] }
[t —t|T {i@t exp {—i /t t dt"H [t”]] } + 0.t - T {i@t exp lz /t ' dt"H [t”]] } :

The derivatives of the two ©-functions are each proportional to a §-function, but one is negative
of the otherP| Therefore the terms on the RHS of the first line cancel. What remains is the
differentiation of the exponentials. We have

t
T {i@t exp {—2/ dt"H[t"] } : t>
t/

#We really have 9,01 5[z] = (1/2)8[z— 0]+ (1/2)6[z+07T]. To see this, we integrate from some z = zy < 0 to
some arbitrary z. On both the LHS and RHS, if z < 0, the answer is zero. If z = 0, the LHS has to yield 1/2, by
definition; whereas on the RHS the integral picks up 1/2 due to the non-trivial contribution from 6z + 0] and
zero contribution from §[z — 07]. Once z > 0, the LHS yields unity; while the RHS now receives a contribution
of 1/2 from each J-function, thereby giving us unity. As far as the problem at hand is concerned, however, we
can say 8]z — 0] 4+ 6[z + 0F] = 26[z]. Our results here will probably not be affected if we had instead defined
o =1.

+6

NI




dtg dt

:T{
T{ - ’ dtg .- / dtlH[tzﬂ---H[tl]}

{; i~ / dte_l.../t/ dtlﬂ[tg_l]...H[tl]} = H[t|T {exp [—i/t/tdt"H[t”]]}.

The hat symbol indicates the t,-integral is being omitted. On the second equality, we have
re-labeled the integration variables to run from ¢; to t,_1; and, we have pulled out HJt] to the
left of the time ordering operator, since t is the latest time. Note the subtlety in this calculation
— because H is an operator, we cannot assume H [t;] and H[t;] commute if they are evaluated at
different times; in particular,

i0, exp {—z’/ﬂt dt" H [t”]} + HI[t] exp {—i/ﬂt dt’/H[t"]}

0, exp l—i / t dt”H[t”]} £ exp [—@' / t dt”H[t”]} HI.

dt1 [te] . HltsJH[t | H[ts 1] ... H[tﬂ}

It is the presence of the time ordering instruction that allows us to pull H|[t] all the way to the
left. A similar calculation yields

t/
T{z‘atexp [z / dt”H[t”]]}, t<t
t

OO

T . /du /dt /du t] .. ity (—2H) Hlty ] .. HIt]

=1 Tos=1

This means we have proven our solution for U satisfies eq. (3.1.1)).
(Solution II)t We also have

UL E] = 64t — ¢]T {exp {z /t t dt”H[t”]} } L O AT {exp [—i /t ' dt”H[t”]] } (3.111)

ie.,

UMt t'] = U[t,1]. (3.1.12)

10



Proof Simply take the Taylor series expansion in eq. (3.1.9) and take the T term by term/[]]
First, (—i)* is replaced with ¢ and vice versa. Second, for some arbitrary positive integer s, if
tg >tg_1>--->1y > 11, then

(H[t,).. . H[t.)' = H[t,] ... H[t,).

That is, a time ordered product of operators become an anti time ordered product. Taking the
on both sides once more shows an anti time ordered product of operators become a time ordered

product.
Corollaries to Solution II The differential equation with respect to ¢’ is
0, Ut t'] = =U[t, t'|H[t']. (3.1.13)
Therefore
i0p UMt 1) = H['|UT[L, 1] (3.1.14)

Notice these equations with respect to ¢ do not need to be imposed externally; they are a
consequence of the defining equations with respect to ¢ (i.e., eq. (3.1.1))).
Proof Let us prove eq. (3.1.13) via a direct calculation. We have,

{zaﬂ exp { / dt"H|t ”]} } t>1t
{H

T

dt ‘. dt

dt1 [te] . [s+1](—H[tl])H[ts—1]--~H[t1]}
Z / Aty ;- / dtlH[tg_l]...H[tl]}H[t’]

, dtg,y . /t/t dt;H[te_q] ... H[tl]} Hit'|=-T {exp {—i /ﬂt dt”H[t”]} } HIt'].

tl
T {i@t/ exp [z / dt"H [t”]] } : t<t
t

=T ;%Z/t dtg.../t dts---/t A L] Htan ) (2H[E) HIE ] . HIL]

Z 1

_|

—— —/
T

Mg

r\
H

(=

- _T{ 3 /_11 ‘/ dtgy- / dtlH[tu]...H[u]}H[t’} = —T{exp [z /ttl dt”H[t”]”H[t’}-

4Note: as long as the (anti) time ordered symbol is in place, the order of the operators within the {...} is
immaterial.

0o ._1 4
{Z Z/ dty_;-- /dtlH[tg_l]...H[tl]}H[t’]

11



A much simpler proof would be to start from the Schrédinger equation i0,U[t, t'] = HU][t, '],
take the dagger on both sides, and employing eq. (3.1.12)).

—i0,U'[t,t'] = U'[t,V'|H, (3.1.15)

—iU[t',t] = U[t',t]H. (3.1.16)
Group property The evolution operator obeys

Ult, t"U[t", #] = Ult, '], (3.1.17)

with no restriction on the relative chronologies of ¢, ¢ and t”.

Proof We have to show that both sides obey the defining equations in eq. . It is
manifest that i0,U = HU is obeyed and, as t — t’, the RHS tends to I. Thus, we merely have
to check the boundary condition that U[t,t"|U[t",t'] tends to the identity when ¢t — #': namely,
Ut t"\U[t", ¥ = UTt", ¢]U[t", ] = 1, where eq. was used in the first equality and the
unitary property of U was employed in the second equality.

Operator insertion If we insert an operator () in eq. :

Ult, t]Q[t]U[ t] = Ut QUL 1] = ULt *1Q[1UT[t. ¢]

= Q[t' /dtg/ dte_y-- / dtz/ dty
x [H[m, [H[tg_l], [ N [H[tQ], [H[tl],Q[t’]” m

Proof As t — t' we have the boundary condition Ult, '|Q[t'|U[t',t] — Q[t']. This is
obeyed on the RHS too. We may now check that both the LHS and RHS obeys the same first
order in time differential equation with respect to ¢. Differentiating LHS yields

i, (UL, 1QI1UT[t,¢']) = H[tJU[L, t|Q[t'1UT[t, ] — Ult, t|Q[t'|UT[t, ¢'| H[t]
[H[t], Ult, QUL t’]] .

Denote
] t ty t3 to

RIE Y] = Q) + 3 (=) / dt, / dty ;- / dt / a [Hlt, [ Hitea), | [ H I Q1)) ]
1 % % % %

Differentiating the RHS gives us

R i /dtg 1/ dty_y / dtz/tlhdtl[}][tg_l], [ [H[tl],Q[t’]] m

/=1

H[1] } (3.1.18)

12



4 Heisenberg & Schrodinger Pictures:
Time-Independent Hamiltonian

Just as choosing the right coordinates is often an important step in simplifying a given problem,
the choice of the right basis in a given quantum mechanical problem can often provide the
crucial insights. Moreover, recall that the change-of-basis between two orthonormal basis is
implemented via a unitary transformation. In this section we will study the change-of-basis
related to time-evolution itself, in the case where the Hamiltonian H is time-independent.
Schrodinger Picture If 3(t)) describes the physical state of a quantum system, the
Schrodinger picture is defined as the basis where the Schrodinger equation is obeyed:

10 (1) = H |4(1)) - (4.0.1)

If [¢(ty)) is the state at time ¢y, you may verify through a direct calculation the solution to
|P(t > to)) is given by

Bt > t0)) = Ut to) (ko)) (4.0.2)
U(t,t') = exp (—iH(t — ), Ut=t)=1 (4.0.3)
Eigen-spectrum Within the Schrodinger picture, the position, momentum and angular mo-

mentum operators do not depend on time; and their eigenstates and values also do not depend
on time. This statement also holds for any other time-independent observable A.

Ala) = ala) ; Ot la) =0 if 0 A=0. (4.0.4)

If an observable A does not commute with the Hamiltonian H, then in general if a system at
time ¢, is found in one of its eigenstates |a), at a late time ¢ > ¢, it will no longer be the same

eigenstate. From eq. (4.0.2),
[t > ty)) = e H=t) |g) (4.0.5)

is usually not proportional to |a) itself, for arbitrary |a), for it were then e (%) |g) = )\, |a)
(for some eigenvalue \,) would be a simultaneous eigenket of both exp(—iH (t —ty)) and A and
thus [H, A] = 0.

Heisenberg Picture The Heisenberg picture is usually defined using its relation to the
Schrodinger picture. There is also a need to choose some time ¢y where the two pictures coincide.

The motivation goes as follows, suppose [(t)) is a physical state in the Schrodinger picture
and O is some (not necessarily Hermitian) time-independent operator. The time-dependent
expectation value of O with respect to this physical state is

((t) [O]4(2)) - (4.0.6)
But using eq. ([4.0.2),
(W) 0](1)) = ((to) U (L, 1) OU(t, 10) | (o)) - (4.0.7)
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Within the Heisenberg picture, physical states {|1)y} are defined to be the {t(ty)} within the
Schrodinger picture at time t, namely

)y = li(to)) (4.0.8)

and are therefore time-independent.

Linear operators {Oy(t)} in the Heisenberg picture are related to those in the Schrédinger
picture {O} through the change-of-basis implemented by the time evolution operator itself (cf.
eq. ) Since U depends on time, this implies Oy typically depends on time too:

Ou(t) = Ul(t, o) OU (¢, to). (4.0.9)

An exception occurs whenever O commutes with H. For instance, whenever H is time-independent,
it commutes with itself for all times, and therefore

Ut (t, to) HU (t, ty) = etHE10) fre=illt=to) — o+ill(t=to) =il (t=to) [y — [T (4.0.10)
We highlight this important exception.

Whenever the Hamiltonian H is time independent, it takes the same form in both
the Heisenberg and Schrodinger pictures.

Returning to the defining Heisenberg picture equations (4.0.8]) and - we see that eq. -

may now be written as

(W) [0 (1)) = u (¥ [Ou®)] )y - (4.0.11)

Eigen-spectrum Within the Heisenberg picture, eq. - ) tells us that observables are
generically time-dependent. For example, whenever the position X momentum P and/or
angular momentum operators J do not commute with the Hamiltonian H , they become time-
dependent in the Heisenberg picture.

Xu(t) = Ut to) XU(t, t), (4.0.12)
Pu(t) = U(t, ) PU(t, 1), (4.0.13)
Ju(t) = U(t, to) JU(t, t). (4.0.14)

This in turn implies, since observables {A} are generically time-dependent, their eigen-states
become generically time dependent too:

Au(t) a, t)y = ala,t)y - (4.0.15)

Problem 4.1. Equations-of-Motion Whenever O does not commute with H, then com-
puting UTOU may not be easy. An alternate perspective is to tackle the following first order
equation. Prove that

Ou(t) = i [H,Ou(t)] . (4.0.16)

50ne may always write down an infinite series expansion using the Baker-Campbell-Hausdorff lemma.
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If )Z'H, Py and Jy are the position, momentum and orbitary angular momentum operators of the
simple harmonic oscillator with Hamiltonian

1= 2
H=-P"12 X2 (4.0.17)
2 2
solve them in terms of their Schrodinger counterparts X , P and J. O]
Ehrenfest Theorem Suppose the Hamiltonian is the usual kinetic plus potential energy,
namely
P2 .
H=—+V(X). 4.0.18
V() (4.018)

We will now see that Newton’s second law is recovered at the operator level, namely
mXy = —VV(Xy). (4.0.19)
To see this, we simply employ eq. (4.0.16]) and
[X(g), P(S)J} —i5i e Uty [ng), P(S)]} Ut ty) = [X;H), P(H)j] — 5t (4.0.20)
Suppressing the subscript H, but working in the Heisenberg picture — the second derivative reads

X—i|m x| =i (1, [H,X7]

-, -,

= P, = . .
e EAa e | B P RS PG
= im™ [V()?),R] (4.0.21)
X = —m WV (X). (4.0.22)
Problem 4.2. Anti-Time-Evolution If at arbitrary time ¢, the |a, t); is an eigenstate of
the observable Ay(t), show that
la, t)y = U(t, o) |a) . (4.0.23)

Namely, eigenkets in the Heisenberg picture are the anti-time-evolved Schrodinger picture ones.
Explain why the eigenvalues do not depend on time, as long as the operator A in the Schrodinger
picture is time-independent. O

The completeness relation of observables {A} in the Schrédinger picture reads
> la)(al =1, Ala) = ala) . (4.0.24)
In the Heisenberg picture, they read

> lastyy (et =1, Au(t)|a,t)y = ala,t)y - (4.0.25)
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For instance, if X is the position operator and ¥ is its eigenket,

/ dPF |7, 6), 1 (7, 1] = . (4.0.26)

To demonstrate the validity of eq. (4.0.25)), we employ eq. (4.0.23)) followed by the completeness
relation in the Schrodinger picture.

> lathy ula,t] = U(t, to) Z| (a| U(t,to) = Ut to)TU (¢, 1) = L. (4.0.27)

Of course, we could also simply recognize eq. (4.0.9), with O = A here, as being a change-of-
basis, which does not affect the Hermitian character of the operator in question.

Problem 4.3. Show that
u (7, tla, t)yy = (Z|a). (4.0.28)
That is, the position-representation of some eigenket of an observable is picture-independent. [J
Problem 4.4. Energy Eigenket Expectation Value Explain why
(EO|E) = u(E,t|0Out)| E, ty)y, (4.0.29)
where ¢, is an arbitrary time. In the Schrodinger picture, recall that, if the physical system is
in the energy eigenstate |(ty)) = |E), then (¢(t) |O]¢¥(t)) = (E'|O| E); i.e., the time ¢ in |¢(t))

is immaterial. This result in eq. (4.0.29) tells us the same statement holds in the Heisenberg
picture. O
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5 Interaction Picture & Time Evolution

Motivation In many situations, the Hamiltonian H is the sum of an exactly solvable (or,
at least, well understood) Hy and a complicated but ‘small’ perturbation H’.

H = Hy+ H'(t) (5.0.1)

For instance, Hy might describe the hydrogen atom and H' its interaction with an externally
applied electromagnetic field. We shall see how the interaction picture allows us to re-write
Schrodinger’s equation in such a way to implement time evolution as a perturbation theory in
powers of H'.

The interpretation will be as follows. We shall assume H’ is weak enough, so that the
eigenstates of Hy can still be treated as the possible outcomes of physical experiments. Hence,
the primary question is — with the passage of time — how does H’ drive transitions between the
eigenstates of Hy?

Time Evolution We will define the interaction picture in terms of the Schrédinger
picture. Denoting the former by the subscript ‘I’ and the latter by ‘s’, physical states are related
via

() = Ug [¥(D)),, (5.0.2)
where Uj is the time evolution operator corresponding to Hy, namely
Z‘atUo(t, to) = H()U()(t, to) and Uo(t = to) =1 (503)

Referring to eq. (5.0.2)), the ¢y is therefore the time where the Schrédinger and interaction
pictures coincide.
The linear operators are related via

O = Ulo,U,. (5.0.4)

This is to preserve the form of the matrix element between arbitrary states [¢); 2):
(W (8) O a0 = « (1 (1) [UaUJOURUS | at)) (5.0.5)
= s (V1(0) |Os] ¥2(1)) - (5.0.6)

The eigenkets {|a;t);} of an observable A; within the interaction picture are related to its
Schrédinger picture counterparts {|a; ).} of an observable Ay through

|a; 1)y = Uo(t, to) |a), ; (5.0.7)
because
Arla; t), = UL AUGUL |a), (5.0.8)
= Ul A, |a), = a- U] |a), (5.0.9)
=ala;t);. (5.0.10)
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Let us examine the time evolution of an interaction picture state. If, within the Schrodinger
picture,

i0,U(t,t') = HU(t,t') = (Ho + H)U (¢, 1) and Ut=1t)=1I (5.0.11)
then according to eq. ((5.0.2)),

[ (t)); = U, to) [¢(t0))s , (5.0.12)
Ur(t, to) = Up(t, o) U (¢, 1o). (5.0.13)

This Uy is not the Schrodinger picture U re-expressed in interaction picture,ﬂ but we are abusing
notation somewhat for technical convenience. In any case, U; does take a Schrédinger picture
initial state and evolves it to an interaction picture state at time ¢. What is important is its
equations-of-motion.

iUy = —(iUp)'U + Uy (iU) (5.0.14)
= U (—=Ho)U + Uy HU (5.0.15)
= Uj(—Ho + Ho + H)U = Ul H'U,U{U (5.0.16)
= H{U:. (5.0.17)

In words: the Uy obeys the Schrédinger equation, but with respect to the Hamiltonian H{ written
in the interaction picture.

Operator Equation Admitting Dyson Series As Solution Consider the operator
equation

A= BA, (5.0.18)

where the overdot denotes time derivative, and both A and B are operators. The solution is the
Dyson series

Alt) = (H+§ /t:ng /t dsp -+ /t ds, /t dslB(s@B(sf1)...B(SQ>B(SI)> Alty).

(5.0.19)
Note that the ordering of these Bs and A(ty) are important, because they are operators. From

eq. (5.0.14) and the initial condition Uj(t = tg) = I, we may therefore solve the U solely in
terms of Hj.

400 t Sy S3 52
Ui(t, tg) = (]I—I— Z(_Z)e/ dé‘g/ dse_1- / dsz/ ds1 H{(se)Hi(se-1) - ..H{(@)H{(sﬂ) .
=1 to to to to
(5.0.20)

6The interaction picture evolution operator, namely Ug(t,to)U(t,7,‘0)U0(t,to)7 does not in fact evolve the
initial state properly — ie., |¢(t)); # Ul (t,t0)U (t, to) U (t, to) |(to)); — because the state it acts on (namely,
[¥(to)); = [¥(to)),) is not evaluated at the same time as the operator itself.
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Time-Dependent Perturbation Theory We will assume Hj is a time-independent Her-
mitian operator; whereas H' is a time-dependent one. As we shall witness, the interaction picture
physical ket may therefore be solved in terms of the eigenkets of Hy, which obey

Hy |E,), = E, |E,).. (5.0.21)

From eq. (5.0.7) and the time-independence of the Hy to recall Uy(t, ty) = exp(—iHy(t — to)),

|Eit), = B0 B = Uy(t, to)T| En)_ . (5.0.22)
The solution, according to eq. ((5.0.20)) inserted into eq. (5.0.12), is

+00 t S¢ 83 52

_ (HZ(—N / ds, / sy / ds, / dslHl’(s@HI’(se_l)...HI’(SQ)HI’(SI)> (t)). -
=1 to to to to

Employing eq. (5.0.7)

Uola; t); = la), and 1{a;t| = 5 {(a|] Up; (5.0.24)

as well as [1(t)), = U(t, to) [1(t0)), the quantum amplitude for finding the physical system in
the eigenstate ‘E > t time ¢ is given by

s (Bn| (1)), = s (En |Us(t, to)Uo(t, to) U (¢, t0)| ¢(t0) ), (5.0.25)
= e B 10) (B, UL, t)] ¥ (L)), . (5.0.26)

The probability that the quantum will be found in the state ‘E”>s at time ¢t > ¢, is given by
P (to, [to) — t, |En>) = lea(t)% (5.0.27)
where, following Weinberg, we have defined

en(t) = o (Bn [Ur(t, to) [ 4 (t0)),
_ oifn(t—to) (E, ‘¢ > (5.0.28)

Moreover the physical state itself can now be expressed as
)y =Y |Er), s (B (1), (5.0.29)
¢
= e Blttley(t) | Ey) . (5.0.30)
¢

Since we know the differential equation for Uy, we may readily obtain one for ¢,(t).

i0hcn(t) = s (En [H{(t)Ur(t, to)] 1h(to)), (5.0.31)
. <En *H'@)UOUI(t,tO)‘ w(t0)> (5.0.32)
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— <En’ ez‘En(t—to)Hé<t>e—iHo(t—t0) Z ’E£>S . <Ee| Ui(t, to) |4 (to)), - (5.0.33)
¢

We arrive at

idhen(t) = Hy,(t)co(t), (5.0.34)
H,,(t) = "B B0 (B | HI(t) | Ep),
= ((En, t| H(t) |Ep, t),. (5.0.35)

First Order Time-Dependent PT To first order in Hj, we may employ eq. (.0.23) to
deduce the quantum transition amplitude is

t
ealt) = o (Bu|T— 2/ Hi(s)ds + ... |(to)) - (5.0.36)
to
In particular, if the physical system began at some eigenstate of Hy, say
[¥(to)) = | Ea),; (5.0.37)

then we see that the transition amplitude M(E, — Eb) is provided by the expression

M(E, — Ey) = e'Brt10) (Eu| (1)), (5.0.38)
t
=53—i/ s<Eb‘U§H;<T)Uo‘Ea> dr + ... (5.0.39)
to S
t " " — —
= 53 — 2/ ei(Eb_Ea)(s—tO) s <Eb ‘HS/(T)‘ Ea>s dr + ... (5040)
to

If, furthermore, we are interested in nontrivial transitions (b # a); then the probability of such
a process is — up to first order in perturbation theory — given by

2

_ . 2 too _ _
‘M (E — Eb;t%ﬂlt) A / ' FrmBe)s (Ey|H(7)| E), dr| (5.0.41)
to
Constant Perturbation & Fermi’s Golden Rule version 1 We start with a constant

perturbation V that is turned on after ¢ > 0; namely,

Hy(s <0)=0, (5.0.42)
H(s>0)=V (time-independent). (5.0.43)
To first order, we evaluate

t - - — —

M (Ea — Eb;tl(’ji‘}t> = / e!Fe=Fas (Ey|H.(s)| Eq), (5.0.44)
to
too
= Vba/ Fv=Fa)sg(s)ds (5.0.45)
to

Via = s (Bb| V | Ea), - (5.0.46)
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As long as the initial time ¢y is negative, it does not matter what its actual numerical value
is. Moreover, for tg < t < 0, the amplitude is zero since H' = 0. Hence, the amplitude is
proportional to O(t).

ei(Eb_Ea)t _ 1

M <Ea — Eb;t%ﬁt) = 0O() Vbam (5.0.47)
o i(Ey—Eq)t/2 _ efi(E‘bea)t/2
— Q) Vel BrEat/28 I 5.0.48
B mp2sin ((By — Eg)t/2
— O(t) Vit BB 250 (B = But)2) (5.0.49)
Eb - Ea

Because O(t)? = O(t), we have

2 sin ((Ey — E,)t/2

:@(t)|%a|2t2( = )> : (5.0.50)

M (Ea— By b72)

(Eb - Ea)t/Q

This (sin(AE - t/2)/(AE - t/2))* becomes more and more sharply peaked around the origin
AE-t/2~0ast— 00. Suppose we ask, what is the number of ways that the quantum system
can transition from E, to a ‘region’ within the Hilbert space denoted by {E}}:

P(E, = {E}) = / M (B By l22)| 0 (8) aB, (5.0.51)

The p(Ep) is the density of quantum states at energy Ej, assuming there is a quasi-continuum
of states. In the long time limit, we may invoke the identity (see, for e.g., eq. 5.7.31)

) .
iy S0 (AE - t)

lim Z2m 2 = 7w (AE). (5.0.52)

Hence, the total number of late time transitions is

in (B, — E,)t/2)”

P (B, — {Ey};t — o0) = tlirélo/ma'QtS((Eb_E 21 p(Ey) dEy (5.0.53)
_ / Vi 2270 (By — Ea) p (By) AE, (5.0.54)
=21 ((|Voa|*))p (B = E,) - L. (5.0.55)

The ({|V4a|?)) denotes the average of |Vj,|? over the states {F},} that lie very close to E,. The
rate of transition is simply its time derivative.

%P (Eo = {Ey = E 5t = 00) = 27({|Vsa*))p (Eb = Ey) - (5.0.56)

Harmonic Perturbation & Fermi’s Golden Rule version II Consider a perturbation
that is purely harmonic, with positive frequency (w > 0),

H'(t) = —Vye ™t — Vet (5.0.57)

21



Here, Vj is an arbitrary but time-independent perturbation, whose eigenvalues we will assume
are much smaller than those of Hj.

For simplicity, let us now consider the case where the system began at some energy eigenstate
‘E’a> an infinitely long time ago, i.e., ty — —o0; while the observation is made an infinitely long
time in the future, i.e., t — +00. Eq. reads

_ N 2
‘/\/l (B — By 222) (5.0.58)

2
Ea>sd7

~
~

/ oi(Ey—Ea)s . <Eb ‘Voeﬂ'm i ‘/OTeJrz'wq—
R

2

(B Vo (2m)3 (Ba = By + ) + Vi (2m)8 (Ba — By — w)| Bu ).
2

= [(2m)8 (Ba + 0 — By) o (B Vol Ba), | +|2m)6 (Ba —w = B) o (B |y

In the last line, there are no cross terms, which would otherwise contain §(E, — Ej, — w)§(E, —

Ej +w), because it is not possible for the arguments to be simultaneously equal to zero; namely

E,~EB=w=-w (5.0.59)

cannot be true unless w = 0. In fact, the two Dirac d-functions correspond to

e E,+w = E,: (Absorption of w—quanta) Ending up with a higher energy indicates an
external quanta of energy w was absorbed.

o £, —w = E,: (Emission of w—quanta) Ending up with a lower energy indicates an
external quanta of energy w was emitted.

Now, there is a mathematical issue with the last equality of eq. (5.0.58)). It contains terms like

((2m)é (Ey — By — w))2 = (2m)6 (B, — Ey — w) - (2m)6 (0) and (5.0.60)
(27)8 (By — By +w))* = (21)8 (Ey — By + w) - (21)6 (0). (5.0.61)

The interpretation of the 27(0) is as follows
((2m)é (B, — Ep — w))2 = (2m)0 (B, — Ep — w) / ¢!(Fa=Bo=w)s (5.0.62)

- - +T
= (2m)é (E, — B, — w) 7lim / ds (5.0.63)
—oo | _p

= (2m)d (B, — Ep — w) - (co-time duration); (5.0.64)
Dividing eq. (5.0.58)) throughout by (27)3(0) then allows us to re-interpret the result as the rate

per unit time of transitioning from £, to FEj. This result is the celebrated Fermi’s Golden Rule:

. 2
_ _ n . b#a
Number of F, — Ej, transitions, with b # a ‘M (Ea — Ep; to;it>

Total time = 2716(0) (5.0.65)
_ _ _ _ _ _ _ _ 2
= 2m)8 (Ba — By —w) | (B |Vo| Bu), | + (2m)0 (Ba — By + ) | <E,, ‘VJ‘ E>‘ (5.0.66)

E . B f _ t Vv
mission ol w—quanta Absorption of w—quanta
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Rant I consider this derivation to be rather sloppy. Why should one expect first order PT
to remain valid over an infinite time period? The original calculation for |M|? is a probability
— why are we allowed to re-interpret its infinite time limit as a transition rate (i.e., number of
transitions per unit time)? Unfortunately, most textbooks do not justify Fermi’s Golden Rule
very well; my lack of rigor may only be justified — rather unscientifically! — by blaming others:
everyone else does (roughly) the same thing!

Relation to Weinberg’s Discussion [2] Weinberg’s §6 stayed within the Schrodinger picture.

W), =D Bu), s (Bul(8), (5.0.67)
= _|Eu) 1 (Bust| (1)), (5.0.68)

Referring to equations ([5.0.24) and (5.0.25)), we see that

(1), =D e P B (B, Ur(t to)] ¥ (t) ) - (5.0.69)
Comparison with Weinberg’s eq. (6.1.4) reveals the identifications
E, <+ E,(Weinberg) (5.0.70)
giFato |Ea), ¢+ ¥, (Weinberg) (5.0.71)
s (E, |Ui(t, to)| ¢(to)) 4+ cn(Weinberg). (5.0.72)

Problem 5.1. Show that this identification is consistent with Weinberg’s equation (6.1.5); i.e.,
show that s (E, [Ui(t, )| ¥ (to)) obeys the same differential equation as Weinberg’s ¢, (¢). Hint:
Remember that U; obeys the Schrodinger equation with respect to the perturbation Hy, but in
the interaction picture. O

Classical Electromagnetic Fields: Plane Waves Let us now consider the electro-
magnetic Hamiltonian, neglecting the quadratic-in-A term:

-,

(7= eA)?

H = e + eg(7) (5.0.73)
I e@éi FAD) | oo, (5.0.74)
For an electromagnetic plane wave,
A =24, cos (/Z 7 kt) : (5.0.75)
— A, <6iE-£—ikt I 6—iE~f+ikt> 7 (5.0.76)
Ay k=0, k= |k (5.0.77)

The Ay is the polarization vector; whereas k /k is the propagation direction and k the angular
frequency.
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It is possible to show, whenever V-A= 0, we have p'- A=A p. For our case

VA= 24, V(- ©)sin (E 7—kt (5.0.78)
— (A, - F)sin (E - k;t) ~0. (5.0.79)
Therefore, we have
H=Hy+ H (5.0.80)
2 2
D Ze
Hy=2 2% 5.0.81
"7 om r ( )
H = —%A 7 (5.0.82)
= Ve M _ etk (5.0.83)
V=S(4, - pea. (5.0.84)
m
We may compute
(By|Vo E.) = = < , \(ﬁo . p)eiF X E> (5.0.85)
m
- = — T — =
— S A / &7 (—zvf (] Eb>> (7| E,) eF (5.0.86)
m
ie 2 = 5 B, LA\
= AR /d (9: (7 B))' (7 E.)e (5.0.87)

The absorptive cross section o is defined as the ratio of the rate of energy absorbed by the atom
to the energy flux of the electromagnetic field. Now, the energy flux is (E X B) k.

B = 8,4 =—2kAsin (12 7 k:t) (5.0.88)
B=vVxA=2(A x k)sin (E - kt) (5.0.89)
Ex B=—2kA, x (210 x 12) sin? (E-f— kt) (5.0.90)
— 4K2| 4| sin? (/2 - k;t) . (5.0.91)
Therefore
_ k&gp% (Ea|(Ay ™| Eb>’25 (Bo— By + k). (5.0.92)

Dipole Approximation When the wavelength ~ 27 /k of the electromagnetic field is much
longer than the size of the atom,

Ze?  Ze?
Qo / YA L A ’

ko~ (5.0.93)
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where L4 is the size of the atom; then the exponential may be replaced with unity to leading
order.

<Ea (A, -ﬁ)eiE'X’ Eb> ~ <E A, -ﬁ’ Eb>. (5.0.94)
As Sakurai [3] explains, we may see that
om[X', Hy] = [X', P]P; + Pj[X", P} (5.0.95)
= 2iP,. (5.0.96)
Therefore
(B, [Vo| By) ~ ?A}) . <E [X',HO]‘ E, (5.0.97)
~ ?(Eb _E)A, - <E X Eb>. (5.0.98)
T-e? _ - — a2l a\2., = =
o= (B~ E,)? ‘AO . <E X’ E,,> 5 (Ey— By + k). (5.0.99)
k| Ag|?
Photoelectric effect As a toy model of the photoelectric effect, let us compute the am-

plitude of the electron at ground state of the H atom to be freed from atom itself. That is,
(Z| E,) = exp (—r/ap) [/ 7a}, (5.0.100)
(T| By) = exp (iq - &) . (5.0.101)

The (7| Eb> is an approximate description of the free state of the H atom, with outgoing mo-
mentum ¢. In this limit, the kinetic energy dominates over the potential, so

= ¢
v |H|Ep) ~ . .0.102
(Z|H| Ey) e (5.0.102)
The amplitude now reads
< Vol E> S N B e e (5.0.103)
Me R3 \/71'0/?3
Putk— 7=k —q2
~ ~ e - = > exp(—r/aB)e”E*‘ﬂr—e*”E*W
VEa>:—A B 27r/ dr-r , 5.0.104
(BolVol Eu) = - —(CAo(B) - ) 2m) | N (5.0.104)
4(2 - 3 1
_ACme 1y -y 2 d (5.0.105)
e T (14 (- 02
Therefore, the total rate of transition is given by
dN d3q e? o o a’ _ q°
— = 4 Ao(k) - q)? i 2m)5 | E, — k 0.1
i = L O g o) e (Bl k)  (0100)
E, = —13.6eV. (5.0.107)
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Because we are assuming that k > |E,|, we have ¢?/(2m,.) ~ k.

IV (799 ) AR - 2 0 (4
dtdQQ@AJ/O (%)3(6’4 )mg(AO(k) q) TR (2m)8 <2me k;) (5.0.108)
_ OO(dQQ)\/? - e’ - 9 aB - 2 o
_/0 R COOR A" )6 (¢ — 2m.k)  (5.0.100)
G0 PRy N . 5.0.110
e R CR vy (5.0110)

Problem 5.2. Transition Rates of Driven SHO Consider the 3D quantum simple
harmonic oscillator (SHO) X coupled to an external classical harmonic oscillator ¢.

7?1
H=" 4 chﬁX? +eX -G (5.0.111)

2m
q(t) = qo cos(Q2t); (5.0.112)

Compute, at leading order in €, the rate of transition I' from ground state to the 1st excited
state of the SHO. O]
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6 Poisson Brackets, Commutation Relations, & Momen-
tum as the Generator of Translations

Consider an infinite D—dimensional flat space. In the Hilbert space spanned by the eigenkets
{|Z)} of the position operator X, the translation operator is unitary and may be written as

T(d) = /RD aPz |7 + d> (@ (6.0.1)

= exp (—z’ef- ﬁ) . (6.0.2)
Because T is unitary, the ‘momentum’ P is Hermitian. Strictly speaking, P is of dimensions
1/[Length] —i.e., it is not really momentum. To produce an operator that is in fact of dimension

[momentum| = [angular momentum)]/[length], we need to multiply a dimensionful quantity x to
P such that

[][P] = [momentum). (6.0.3)
Because [P] = 1/[Length], we must have
[k] = [angular momentum]. (6.0.4)
In Quantum Mechanics, this constant is nothing but A:
hP = momentum. (6.0.5)

Why we would choose to do something like that, has to do with the analogy between the Poisson
brackets of classical mechanics and the commutator of quantum mechanics.

Poisson bracket From §, we see that the generator of spatial translation in classical
mechanics is the momentum p;, in that

9
{f(@D),pi}pp = % (6.0.6)

The generator of time translation is the Hamilton H, in that

d

{f (q(t),p(1)), H}pp = 7 f (q(2), 2(2)).- (6.0.7)

Quantum Dynamics In the Heisenberg picture, and assuming the Hamiltonian H is time-
independent, an operator Oy obeys the first order in time ODE:

: 1
On = g [On, H]. (6.0.8)
Linear algebra {|7)} If we assume that, for an arbitrary ket [i),
@ £ (X.P) ) = £ (&-iV) @lv). (6.0.9)
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This amounts to assuming a certain operator ordering. For example, this would pan out if all
the position operators stand to the left and the momentum to the right; for e.g.,

(7

X*p?

V) = P(—0)200; (7] 0). (6.0.10)

Let us now consider

<f [f ()?,13) ,PJ} w> —f (:z —ﬁ) (Z|Pi|v) — (=)iV <:E f ()?,13)‘@ (6.0.11)
—_if (f —N) 0; (Z|¥) + iV (f ()Z,ﬁ (7 ¢>) (6.0.12)
—i (W ()Z',ﬁ)) (7] ) . (6.0.13)

In other words, since |¢)) was arbitrary,
EP) 1126y 6014

Notice there is a £ in eq. (6.0.8) (I've deliberately restored it); but none in eq. (6.0.14)).
Comparison Identifying eq. with eq. (6.0.8) (as well as f > Oy); and eq.

with eq. (6.0.14)) — we now see the following classical-quantum correspondence.

e The Poisson bracket {-,-}pp in classical mechanics should be identified with the commu-
tator (¢h)~1[, ] of quantum mechanics.

e The Hamiltonian in classical mechanics should be identified with the Hamiltonian in quan-
tum mechanics.

e The momentum in classical mechanics P should be identified with the —iAV in quantum
mechanics (within the position representation).

28



7 Non-Relativistic Quantum Mechanics: Schrodinger ’s
equation & Probability Current, Electromagnetism

Total Energy From the previous section, we see that the momentum operator in QM is
to be identified with the generator of translations in the following manner:

(Z| P|y) = —ihV (Z| ). (7.0.1)
That, in turn, means that the square of the momentum is the (negative) Laplacian:
(Z| P |p) = —h2V? (7| ) . (7.0.2)

Within the Hamiltonian formalism, the classical Hamiltonian H itself is usually kinetic plus
potential energy V' (i.e., total energy). In the previous section, we have also identified the QM
Hamilton with the classical one. Since kinetic energy is P2 /(2m), we may therefore identify, in
non-relativistic QM:

(@ H ) = (& (f—m+ <X'>> ) (703
_ (‘2%62 +V(f)) (7). (7.0.4)

Schrédinger s equation (3.0.3]) now takes the form:
1 =
10 (t, ) = (—%V2 + V(f)) Y(t, 7), (7.0.5)

where ¥(t, %) = (| ¢(t)) and h = 1.
Probability Current in NR QM In non-relativistic QM,

p = [(@)? (7.0.6)

is the probability density of finding the particle at Z. The associated (spatial) probability current
is

J= L {Ww* _ w%} . (7.0.7)
2m
Altogether, they obey the conservation equation
ap — —
—=-V-J 7.0.8
5 =V (7.0.8)

This is perhaps best understood by integrating over some finite spatial volume ®; applying
Gauss’ theorem on the right hand side,

d

— [ p(t,8)dPz = — / J(t, &) - dP1. (7.0.9)
dt Jo Ph)
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(The dP~'Y is the directed area element on the boundary of ®, which I denote as 99.) The
interpretation is, the rate of change of probability within ® per unit time is accounted for by
the flux of the probability current through the boundary.

Let us turn to verifying eq. using Schrodinger s equation (|7.0.5)).

p= (i) (i) + (i))" (iy)) (7.0.10)
- (—(2m)*162 + V) o - (i) — iy (—(2m)*1€2 + V) " (7.0.11)
= i(2m)™! (wﬁ% - ¢€2¢*) . (7.0.12)
On the other hand,
VT =i2m) V- (Ww* - zp*W) (7.0.13)
= i(2m)~! (1/16%* - wﬁ%) = . (7.0.14)
Electromagnetism  We turn now to the problem of including electromagnetism. As shown

in appendix , the non-relativistic Hamiltonian describing a charged point particle is

1 22

H=— (ﬁ— 6A> s (7.0.15)
2m

The Schrodinger equation in the position representation thus reads

1 . ,
10 = {_2— (0; — ieA") (9; — ieA") + e + v} V. (7.0.16)

m

Probability Current & Electromagnetism With the inclusion of electromagnetism, we

need to modify the probability current in order for it to remain conserved. The spatial current
is

Let’s compute its divergence:
0J = ﬁ (0:p(0s + ie AT — 0™ (0, — @W) + % (WO, (D))" — v &iDay)  (7.0.18)
= 5 (Ob(ie AN + 0 (1eAYW) + 5 (WO(D)" =D (7.0.19)

On the other hand, we may re-write eq. as

= —i {—% (0; — ieA”) (0; — ieA") + e + V} Y (7.0.20)
= —m(z&Di + e A (0; — ieAY))Y —i(ep + V). (7.0.21)

Multiplying both sides by *,

N S ik pi R 2

UM = S (UTIOD — i A'i0) — i RNl — ifed + VUL (7.0.22)
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Adding this to its complex conjugate,
Ol = ™ + o7 (7.0.23)

? * * * (. 7 . 7 *
= %(ﬁ’ ;D — 0y (Dy)* — ™ (ieA")0ip — Y (ie A")0ip™). (7.0.24)
We have thus proven that the time derivative of the probability density |¢|? is the negative

divergence of the current:

OJ)? = -0, J". (7.0.25)
U; Gauge Invariance Let us observe that, if we define the following covariant derivatives
D, = 0; + ieg, (7.0.26)
D; = 0; —ieA"; (7.0.27)

then we may re-write Schrodinger’s equation in ((7.0.16)) into the following form
1
1Dy = <——DiD,- + V> . (7.0.28)
2m

We shall see that eq. (|7.0.28]) will remain unchanged if we perform the following simultaneous
replacements:

W — exp(i6(t, &), b —¢p—eto0 A — A+ e 10,6. (7.0.29)
Let’s compute
Dy(e%.) = €(if + 0, + ied) (7.0.30)
= (0, +iled +0)). (7.0.31)
Likewise,
Di(e.) = €™ (i0;0 + 0; — ieA;) (7.0.32)

These results tell us, if we apply the replacement rules of eq. (7.0.29)), eq. (7.0.28) will transform

into
. ) 1
eiDpp = " (——D,-DZ- + V) Y. (7.0.34)
2m

We witness that, this invariance is primarily due to the following fact:

Under the local (i.e., space-time dependent) U; replacement rules of eq. ((7.0.29)),
the derivatives in equations ([7.0.26)) and ([7.0.27)) — when acting upon the wavefunc-

tion — transform covariantly, namely

Dy — ¢ Dy, (7.0.35)
Dy — €Dy, (7.0.36)
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Problem 7.1. Lagrangian Formulation Show that the following Lagrangian density

L= (0" Dy~ $(D)") — 5 (D) (D) — VP (7.0.37)

N | .

would yield the Schrodinger’s equation in eq. ([7.0.28]). That is, apply the Euler-Lagrange
equations either with respect to 1%,
oL oL oL

0o+ 0o = 5o (7.0.38)

or to v,

oL | 0L oL,
oo " (9021# oy’

0, (7.0.39)
and show that eq. ((7.0.28]) is recovered.

Explain why the Lagrangian in eq. ((7.0.37)) is in fact invariant under the replacements in eq.
(7.0.29)).

Suppose we consider global U, transformations, where the 6 in eq. ((7.0.29) no longer depends
on the space-time position (¢, Z). Since £ is invariant, if § < 1 so that ¢ — €4 ~ 1) + 6 and
¥ — * — iyt + ... we must have

L

(8/: . oL oL
— L+

. 2
55,5100+ 50 00 + 500 + e ) +0(6) (7.0.40)

. oL oL oL oL
:£+{z9{8t (mw> *a"<a@-w”’> +w( o0 8at¢ 8-aaiw>}+c.c.}+-~:£

where ‘c.c.” denotes the complex conjugate of the preceding terms in the brackets. Explain why,
when eq. ((7.0.28]) holds, we must have

0T’ =-0,T", (7.0.41)
where
J’ = 0L Y +ec.c., (7.0.42)
" 90,0
J'=i aai/}w—ircc (7.0.43)
Compute (J°, J%) from eq. and compare them with [¢|* and J* in eq. (7.0.17). O
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8 Hydrogen-like Atoms
8.1 Separation of Variable Solution: Energy Eigen-functions & -
Energies

The stationary-state Schrodinger equation describing an electron’s wavefunction 1 around a
Hydrogen-like atom is, in spherical coordinates (r,0, ¢),

FHIY) = B(@v), (L)
- 2 - 2
P - 20y (50, 0%00) + Ve ) - 20— . (5.2

2m,

1

2m,

The first term on the left is the non-relativistic kinetic energy p?/(2m.), where m, is the electron
mass. The —Ze?/r is the electric/Coulomb potential experienced by the electron orbiting around
a central nucleus with Z protons and e is the fundamental electric charge; and r the radius of
the orbit. Moreover, we are going to be interested in bound states for now; so —F < 0.

We first perform a separation of variables,

P(r,0,0) = R(r)Y;"(0, ). (8.1.3)

Using the fact that Y;” is the eigenfunction of the Laplacian on the unit sphere, with eigenvalue
—((L+1),

Ve V" = —(0 +1)Y,", (8.1.4)
we have
R'(r) R'(r) +1) Z-é
— — FE — = 0. 1.
2m, Mer + + 2mr? r R(r) =0 (8.1.5)

Next, we re-scale

2
p=\2m.Er, €= ,/%622; (8.1.6)

to obtain

—R"(p) — %R'(,o) + (1 — % + g(épj; 1)> R(p) = 0. (8.1.7)

Next, we apply the ansatz

R(p) = p’exp(—p)F(p) (8.1.8)
to convert the above ODE into
?+1 — 20 —2
F"(p) 42 (% - 1) Fp)+ S ; F(p) =0. (8.1.9)
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Let’s solve it via a power series

+oo
F(p) =Y a.,p" (8.1.10)
s=0
One would find that
+oo
D (s = 1)sayp®™ + agp” (& = 20 = 2) = 2sa,p"" + 2sa,p" (L + 1)) = 0. (8.1.11)
s=0
The only s = 0 term is
s=0: ag(§é — 20 —2)p~ . (8.1.12)

By replacing s — s+ 1 in the p*~2 terms, we see that, for s > 1, requiring that each independent
power of p to vanish implies

21+ s+0) —&as = (14 5)(s+ 20 + 2)as;. (8.1.13)
Following Weinberg [2] we make the following asymptotic argument. For large s, notice

21 +s+0)—¢ 2
o1 = s = “a. 1.14
ST M 201" s (8.1.14)

As Weinberg argues, since a1 and as have the same sign for large s, the infinite series is
dominated by these large s terms as p — oco. Therefore we may approximate

2 22 2°
s R g R Qg0 R — . 8.1.15
¢ (=1 s(s — 1)a 27 e ( )

Of course, once s is small enough, as,1/a, is no longer 2/s; Weinberg asserts that one should
instead write

25
. —1
(s+ B)!

Qs R

(8.1.16)

for constants B and C' m As a result, inserting this asymptotic series into equations (8.1.8) and
(8.1.10), and assuming B is integer,

S S (207

s+ B)!

= C'ptBere? o ptBetr; (8.1.17)

which blows up exponentially quickly at infinity. Since such a wave function cannot be normalized
to unity, we therefore require that the series terminate at some s = s,. If a,,.1 = 0, the recursion

relation in eq. (8.1.13) tells us
2me o
€= EeZ:2(3*+€+1)52n, n>0+1. (8.1.18)

"Weinberg does not appear to explain this step very explicitly.
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This in turn means F'(p) is a s, = n — ({4 1) degree polynomial. They are known as generalized

Laguerre polynomials F'(p) = LQH% +1)(2p). The first few polynomials are

n=1,0=0: L, ,(2p) =1 (8.1.19)
n=20=0: L2, (2p) =2 - (8.1.20)
n=20=1:L2, (2p) =1 (8.1.21)
n=3,0=0: L, (2p) =3—6p+2p° (8.1.22)
n=3, 0=1:L2, (2p) =4-2p (8.1.23)
n=3, (=2: L2, ,(2p) =1 (8.1.24)

(See here for more information about orthogonal polynomials; in particular, explicit expressions
for the generalized Laguerre and its relation to 1F; can be found here.) To sum, the wave
function is

(T n, £,m) = Y pm(r,0,9) (8.1.25)
¢
r r 2r
= - L, ym 1.2
Xn,t,m <n-aB) exp( n~aB) n—(¢+1) (n GB) (0, 0); (8.1.26)

with Xy,.e.m chosen so that the |¢|? integrates to unity; the energy levels given by

et 7?2 1 72
B =t =~ (136eV)2, 1,23, >0+1. (8127
PR Sl ) ( e )n2 n - ( )

and the Bohr radius is defined as
ag = (mee*Z)~! = 0.5292 x 107°Z em. (8.1.28)

For each /, there are 2¢ + 1 m states; so altogether, because n > ¢ + 1, there is a

—_

— —1 2n(n —1) + 2
Lo nln 2)+ . (8.1.29)

(20+1) = 20"
0

Il
=)

fold degeneracy for each nth energy state. Some nomenclature: ¢ = 0, 1,2, 3 are denoted respec-
tively as s,p,d,f. The (n,{) pair is often stated as 2p = (2,1), 1s = (1,0), etc.

Problem 8.1. Compute the normalization constants x,¢», in eq. (8.1.26) for n = 1,2 and
{<n-—1. O

Problem 8.2. Confluent Hypergeometric Function The radial ODE in eq. (8.1.9)
corresponds to the one for the confluent hypergeometric function — see here, for instance. Write
down the two linearly independent solutions and describe the relevant properties that leads one

to conclude F(p) = L%Jré +1)(2p) for the Hydrogen-like atom. O
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8.2 Electric Dipole transitions

The electric dipole transition drives the dominant radiation from an atomic system. The tran-
sition rate is [2]

. 2
[a— B) =4(E, — B)? ’<€, m; o ‘D v',m'; B> : (8.2.1)

where the dipole operator itself is
D=Y eX,. (8.2.2)

n

This dipole approximation holds whenever the emitted photon’s wavelength is much larger than
the size of the atomic system.

8.3 Hydrogen Energies: SO, symmetry and the Runge-Lenz Vector

Rotations in 4D In 4D there are (4% —4)/2 = 6 independent rotation generators. To avoid
confusion, we will now use capital letters to denote an index that runs between 1 and 3. The
Lie Algebra for SOy is defined in terms of the 3D ones

JI:%EUKJJK & AR = K (8.3.1)

plus the remaining 3 generators {J}. We have

[JA, JP] = ie*PC g (8.3.2)
[JA, JBY] = ie?BC g (8.3.3)
[JA4, JB] = ie*BC T, (8.3.4)
Furthermore, if we define
Ij: 14
ML= % (8.3.5)

we may re-write the SO, Lie Algebra in terms of 2 independent copies of the SO3 ones.
My, M’] =0  and  [ML, M]]=ie""ME. (8.3.6)

Hence, the eigenstates of the rotation generators in 4D space may be labeled by two independent
pairs of numbers (¢4, m.); with /1 non-negative integer/half-integer,

M| ) = ebe + D), M2 = MLM] (8:3.7)
ME [ ) = ma i)
and the usual azimuthal numbers my € {0y, —0L +1,... 0y — 1,01},
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Laplace-Runge-Lenz Vector: Classical In 3D, the Laplace-Runge-Lenz vector is
the conserved quantity — in addition to energy and angular momentum — within non-relativistic
systems with a 1/r potential. More specifically, suppose our Hamiltonian is

P2 Ze?
H=——-——. 8.3.8
2m r ( )
Then the equations of motion are
. L[ Ze2 Ze2
mi=p= -V (——e> - 25 (8.3.9)
r r

Mass times the Laplce-Runge-Lenz vector itself is defined in terms of the momentum p and
angular momentum L as

AE—(ﬁXL—LXﬁ) _ 2%z (8.3.10)
2m T

(We have written the p’ x L terms in this symmetrized manner so that it becomes a Hermitian

operator upon quantization.) Let us check it is in fact constant; remember L=0.

R T Ze? .
A:—(ﬁxL—Lxﬁ)+—e¢f——ef (8.3.11)
2m r? r
Je? . Ze? Ze? .
:—7%?x@xfﬂug4f—7?f (8.3.12)
VA 2 . N . 7 2 7 2,
_ _T_e ((r BT — (7 f)f) + T—ii’f— Tef (8.3.13)

(1/2)9,(1) = 0.

5 Ze? Ze? .
A= it 28 2250 =0 (8.3.14)
r2 r r2 r

Now that we see A is constant, let us understand where it is pointing. For that, we only need
to evaluate it at a convenient location, since it is constant. Suppose we do so along the orbit
where it intersects the semi major axis. Then, if we place the orbit on the zy plane such that the
former is moving in a counter-clockwise manner and the semi-major axis is along the T direction,

P x L =m&xm(ix ) (8.3.15)
— m|Z|(£7) x m(FrZ x (£)|Z|7) (8.3.16)
— |7 x (—mr|f‘|z) — Fmr| 727, (8.3.17)

(The upper sign is when the orbit intersects the positive x—axis; and the lower sign when it

intersects the negative z—axis.) But the magnitude of the angular momentum |L| = mr|Z| = ¢
1s a constant.

- 1258
Px L =F—7% (8.3.18)
T
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YZ: Incomplete!
Laplace-Runge-Lenz Vector: Quantum We now promote both to Hamiltonian and
the Laplace-Runge-Lenz vector to operators. Note that

- 3T .
{(ﬁx L)’} = ¢k (p,I})] (8.3.19)
— ek Fp, = (L x p)'. (8.3.20)
Likewise
— i T . = i
{(L X ) } — (7x L) (8.3.21)

Hence A is Hermitian. Now, because H is rotation-invariant, it commutes with J.
L', H] = 0. (8.3.22)
Problem 8.3. Demonstrate that A commutes with the Hamiltonian H.
[A", H] = 0. (8.3.23)
[

Bound State Energies We will now see why equations (8.3.23) and (8.3.22]) yields a
SO, symmetry enjoyed by the bound states (E < 0) of hydrogen-like atoms. Define

i g
N'= 4/ 2EA. (8.3.24)

o o . H /-
L'N'=0=N'L'  and N2:_E<L2+1>_

Problem 8.4. Show that
Z%e*m
2F

(8.3.25)

From the second equality: if N? may be diagonalized, H will then be diagonalized as well. [J

If we further define

. L'+ N
K = 5 (8.3.26)

then a direct calculation will show that these K obey
(K%, KY] =ie™KS  and (K¢, K"] =0. (8.3.27)

Comparing these equations to eq. (8.3.6) and recalling equations (8.3.23) and (8.3.22)), we learn

that these K not only generate rotations in a 4D space, they may be used to generate eigenstates
of the Hamiltonian Fl

[K{,H] =0 (8.3.28)

81t is important to note, these Ks are Hermitian because both J¢ and N are. The N are Hermitian because
the energies are negative — remember the square root factor of re-scaling we performed in eq. (8.3.24)).
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That is, H s invariant under 4D ‘rotations’.

Symmetry implies degeneracy By employing the spherical tensor components of N and
the Wigner-Eckart theorem, we may see why the energy eignstates are degenerate with respect
to the angular momentum ¢. (This approach can apparently be found in Shankar’s QM text.)
In particular, if

L |E;6,m) = 00 + 1) |E; 0,0) (8.3.29)
HI|E;t,m) = E|E;(,0); (8.3.30)
we know from eq. that
H (Ngrl’ B4, m>> = NI H|E; 0, m) (8.3.31)
—E (Ng?”" B3 1, m>> . (8.3.32)

But by the Wigner-Eckart theorem, we know that Ni*'|E;/, ¢) transforms under rotations like
the total angular momentum state |[¢ 4+ 1,4 1;1 /).

(E;0,m| N |E;€,0) =0 (8.3.33)

In other words, we may start from an eigenstate of L? with eigenvalue ¢ and get to the ¢ + 1
eigenstate while still remaining within the same energy subspace.

Enerqgy eigenvalues Now, let us observe that
ﬁi:}l(mmﬂ.ﬁm.f). (8.3.34)
Eq. now informs us that
R2=R*=RK*= i (EQ + 1\72> . (8.3.35)

This in turn tells us, for the system at hand, the eigensystem in eq. (8.3.7)) is constrained to
obey ¢, = ¢_. Next, let us also compute

. . . LQ N2
R? + R? =2R? = + (8.3.36)
N? =4K? — [? (8.3.37)
We may now utilize this result in eq. (8.3.25).
n H\ -, H 7%
AR? (1 - E) I ;Em. (8.3.38)

Let us act both sides on an eigenstate of energy E; namely |E, (k). But first: we have —

remember equations (§8.3.35)) and (8.3.7)) —
H|E, lx) = E|B, lx) (8.3.39)
K2|B lg) = (g 4+ 1) |E, lg) ; (8.3.40)
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and therefore we have arrived at

Z%e*m 1
~ o B t) = 4 (eKwK +1)+ Z) B, (k) (8.3.41)
= (20 +1)*|E, () ; (8.3.42)
2.4
E= _ZQ‘;;", n=2+1. (8.3.43)

Notice the angular momentum operator has canceled out; and the energy levels only depend on
the eigenvalues of K?2. This is what accounts for the high degree of degeneracy in the hydrogen
energy levels — it neither depends on the azimuthal angular momentum number m (which may
be attributed to rotation symmetry), nor on the orbital angular momentum ¢ itself. Also recall,
(i can take integer and half-integer values; therefore n =1,2,3,....

9 3D Rotation Symmetry in Quantum Systems

We define quantum dynamics to be rotationally symmetric whenever the Hamilton is a scalar
operator under rotations:
D(R)'HD(R) = H. (9.0.1)

~

Here, D(R) is the rotation operator. The equivalent but infinitesimal version is
[H,J'] =0; (9.0.2)

where .J is the total rotation generator.

In particular, if H involves two or more distinct sets of vector operators — say, orbital angular
momentum {L'} and spin operators {S°} of a single particle — then the total rotation operator
must include generators acting on all relevant spaces. For example, if H involves Land S , then
the total rotation generator is

J=L+5. (9.0.3)
The rotation operator itself, parametrized by the rotation angles {6}, is

D(R(0)) = exp (—i0°J%) = exp (—i0* {L* + S*}). (9.0.4)

If the Hamilton is a scalar operator it must itself be comprised of scalar operators

H=H (52, 2L §) . (9.0.5)
For example, we may have the following spherically symmetric Hamiltonian:
P o ~
H=— L-S+V(X]); 9.0.6
vl §+ V(X)) 906)
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which transforms as

D(R)'HD(R) = @ +a (EE) . <1§§) L V(IRX)) (9.0.7)
=2ﬁ—;+ai-§+ V(X|) = H. (9.0.8)

If instead H describes N particles, where the ith particle has angular momentum and spin
operators ( ()L, (;55), then we have

D(R()) = exp (—2'67 : f) : (9.0.9)
where the generator now reads
N
J = Z ((i)L + (@S) . (9.0.10)
i=1
Energy Eigenstates & Addition of Angular Momentum The importance of rotational

symmetry is clear from eq. (9.0.2)): the Hamiltonian is mutually compatible with J% and J3.
1, 2| =0 = [H, ] (9.0.11)

This is the primary reason why the addition of angular momentum is an important issue within
quantum mechanics. For instance, suppose the Hamiltonian describes a single particle with
angular momentum L and spin operator S namely H is glven by eq. -, then the energy
eigenstates are usually not simultaneous eigenstates of {LQ, S 2, L3,8%} —ie.,

|0, m1) ® |s, ma) (9.0.12)
— where
L2 |0,my) = (04 1) |6, my) (9.0.13)
LP|0,my) = my [€,my) . (9.0.14)
and
5% |s,ma) = s(s+ 1) |s,my) (9.0.15)
S |s,mg) = ma|s, my) . (9.0.16)

The reason is, L3 and S® generate, respectively, rotations about the 3—axis but only in the
angular momentum and spin spaces; and not on the entire physical Hilbert space. As such, the
Hamiltonian may not remain invariant under such rotations, even if it is a scalar operator. But
instead, we may certainly use the eigenstates of {J2,J3, L2, 52},

J2j il sy = j(j+1)[j mil s) (9.0.17)
i mils) =mljm;l s) (9.0.18)
L*|j m;l s) =L+ 1) |j m;l s) (9.0.19)
S|j mil s) =s(s+1)]j m; € s) (9.0.20)

—j <m < j. (9.0.21)

41



The j lie between |[¢ — s| and £ + s.
je{l—sl,|t—s|+1,|0—s|+2,.... 0+s—20+s—1,{+s}. (9.0.22)
Also observe that, by expanding out the right hand side of J2 = (L + S)2,
I.5- % (P-12-5). (9.0.23)
Hence, the Hamiltonian in eq. obeys
H (EQ,§Q,E-§> |7 m; 0 s)
=H (€(€+ 1),s(s+1), %(j(j +1)—L(l+1)—s(s+1)),.. ) |7 m; s). (9.0.24)

Notation For an electron orbiting around a nucleus, its energy levels are labeled by a
positive integer n > 1. To describe its state, the notation

" (9.0.25)

is used; except instead of using £ =0,1,2,3,--- < n — 1, we identify

sipld|flg
1011121314
Table (|9]).

For example, when n =1, £ = 0 and j = 1/2, we have 's;/5. The n = 2 states allow for £ =0, 1.
In turn, when ¢ = 0, once again j = 1/2; which means we have 231/2. Whereas when ¢ = 1,
J =1/2,3/2; this translates to *p;/> and *pss.

Splitting of energy levels due to spin-orbit interaction If H only depends on
L? and §2, then the energy levels of an electron would be degenerate with respect to the total
angular momentum j. Hence, the J-§ = (1/2)(J2 — L2 — §2) in eq. actually acts to
‘split’ these otherwise degenerate energy levels. (For the hydrogen atom, the energies with the
same n and ¢ but different 5 are known as the fine structure. The smaller splits due to the same
n and j but different ¢ are known as the Lamb shift.)

Problem 9.1. Suppose it is possible to simultaneously measure L? and S of an electron in the
state %p; /2. Explain what are the possible outcomes; and compute their respective probabilities.
Hint: Weinberg [2] Table 4.1 contains the relevant Clebsch-Gordan coefficients. Also note:
Weinberg’s Cj#(j m;m'm”) is equal to our (3" m/, 5" m”|j m;j'5"). ]
9.1 ‘Adding’ angular momentum

Let J? be the generator of rotations, i.e., acting on the entire quantum system at hand. Suppose
it is composed of two rotation generators acting on different sectors of the quantum system:

J=J+ J" (9.1.1)
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That is, the J' and J” have eigenstates

J? |J1 M, J2 ma2) = j1(j1 + 1) [51 ma, ja ma) (9.1.2)
" |J1 M, J2 ma2) = ja(J2 + 1) [J1 ma, jo ma) ; (9.1.3)

and
J? |1 ma, ja ma) = my |j1 ma, 2 ma) (9.1.4)

T g1 m, ja ma) = ma |1 My, 2 Ma) .
Suppose we wish to construct from these states the eigenstates of J? and J 3 which in turn obey
T mi g ) =30+ 1)1 mig 3", (9.1.6)
Timig" ") =mljm;j j"). (9.1.7)
We may do so once we know how to compute the Clebsch-Gordan coefficients

{ U1 ma, g2 mal j m; g jo) }, (9.1.8)
because these angular momentum operators are Hermitian and therefore their eigenstates must

span the Hilbert space.

lJ m; g1 J2) = Z |71 M1, J2 ma) (J1 ma, Jo malJ m; g J2) - (9.1.9)
it
—Jj2<ma<+j2

The rules for adding angular momentum (j1,m;) and (js, my) goes as follows.

e The total angular momentum j runs from |j; — jo| to j; + j2 in integer steps.
J €Al = dels ljn = dol + 1, 1 + 2} (9.1.10)
e The azimuthal number m must simply be the sum of the individual ones.

m=my + mo (9.1.11)

As a quick check, one may see that {|j; mq, j2 ma)} spans a (2j; +1)(2j2 + 1) dimensional space,
since the ‘left’ sector is (2j; + 1)-dimensional and the ‘right’ is (2j, + 1)-dimensional. On the
other hand, for a fixed j, the |j m;j; jo) has m running from —j to +j in integer steps; hence
according to the rules above, there are altogether (for j; > ja, say)

]52 (25 +1) = (21 + 1)(2j2 + 1) (9.1.12)

J=j1—j2

orthogonal states in total. (The same result would hold if j5 > 7;.)
A direct consequence of these angular momentum addition rules is that half-integer spin (i.e.,
fermionic) systems can only arise from “adding” odd number of fermionic subsystems. Whereas
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integer spin (i.e., bosonic) systems may arise from “adding” even number of fermionic subsystems
or arbitrary number of bosonic ones.

Example: Atomic States We will have more to say about atomic states of electrons
bound to some central nuclei, but because the electron has intrinsic spin—1/2, its total angular
momentum in such a system is half-integer j + 1/2 if j denotes its orbital angular momentum.
Namely, here

- -

J=L+S5, (9.1.13)

where the orbital angular momentum is the cross product between the position and linear mo-
mentum operators, namely L = X x P; and S is the intrinsic-spin operator.

Example: Cooper pairs In superconductivity, electrons may pair up (aka Cooper or
BCS pairs) and form bosons.
Example: Neutrons and Protons Neutrons are made up of one u and two d quarks,

whereas the proton is made of two u and one d quark. Both n and p have spin—1/2, consistent
with the spin—1/2 character of the individual quarks. (Gluons are involved in the binding of
the quarks to form the neutron and proton, but they have intrinsic spin—1.) Of course, they are
only 2 out of a plethora of QCD bound states that exist in Nature; see PDG for a comprehensive
listing.

Example: ‘Orbital’ angular momentum and spin-half Let us now consider taking
the tensor product

1 1
l —E=); 9.1.14
omy o |45 ) (9.1.14)
for integer £ = 0,1,2,... and —¢ < m < /. This can be viewed as simultaneously describing the

orbital and intrinsic spin of a single electron bound to a central nucleus.
(=0 For ¢ = 0, the only possible total j is 1/2. Hence,

o N pee|t il (9.1.15)
J=y M= Eyt g )= 5 T3/ -

>1 For non-zero ¢, eq. (??7) says we must have j running from ¢ — 1/2 to £+ 1/2:

1
j:€i§. (9.1.16)
We start from the highest possible m value.
1 1 11
=l —m=dl=N=1{ " 1.1
‘] 5 m= 2> |,>®‘2,2> (9.1.17)

Applying the lowering operator s times, we have on the left hand side

(J7)°

. 1 . 1 (+1
=/(4 = =70 =)=A, ?
i +2m 7; 2>

1
j:€+§m:j—s>, (9.1.18)
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1
where the constant A§+2 follows from repeated application of eq. (77)

Al —81:[\/(2€+1—2')(i+1). (9.1.19)

Whereas on the right hand side, (J7)* = (J'~ 4+ J”7)° may be expanded using the binomial
theorem since [J'~, J”~] = 0. Altogether,
11
>. (9.1.20)

1 1 /s . ,
:6 - :-_ 'E— — ,_S_ZKE //—’L__
jEltgm=j-s 2> > <.)(J) 6,6 @ (J7) |53

]
=0

1
Vis:

S

But (J”7)"|4 ) = 0 whenever ¢ > 2. This means there are only two terms in the sum, which
can of course be inferred from the fact that — since the azimuthal number for the spin-half sector
can only take 2 values (£1/2) — for a fixed total azimuthal number m, there can only be two
possible solutions for the /—sector azimuthal number.

1 1 1
Ai+% j=€+§m:j—s;€ §> (9.1.21)
11 s! 1 1 1 1 1 1
— IV |= =V — =) (=41 ) () e |= —=
(1) \,>®'2,2>+(8_1)!\/(2+2) (5-5+1) 00 e|5-3)
11 1 1
f— e _— —_— —_— . K _— —_— —_——
= A |0, 0 s>®‘2,2>+3 A |60 s+1>®‘2, 2>.
Here, the constants are
s—1
AL=T[ V@-i+1), (9.1.22)
=0
5—2
AL =T VEr=ii+1). (9.1.23)
i=0
Writing them out more explicitly,
1 1
\/2£+1\/I\/ﬁ\/§\/2€—1\/§...\/2€—(3—2)\/5j:€+§ m=j—s{ 5> (9.1.24)

:\/2_3\/1\/%—1\/5\/26—2\/3...\/25—(3—1)\/§|€,€—5>®‘1 1>

22

+ (V3 V2VIV2U —1V2V20 —2V3 .. 2l — (s = 2)Vs — L[l L — s + 1) ® ’%_%>

The factors V20 ... /20 — (s — 2) and v/1.../s are common throughout.
1 1
V2041 j:€+§m:j—s;€ §>

11 1 1
:\/26—(8—1)|f,€—8>®‘§,§>+\/§|E,f—8+1>®’§,—§>
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We use the definition j — s = ¢ 4 (1/2) — s = m to re-express s in terms of m.

1 1
‘j =0+ - ml —> (9.1.25)
1

2 2
(verrEmsjam-1) e tm+3)e)5-3))
= = m ,m— = ,m+ = ——= .
V2V20+1 2 2 2" 2
(Remember ¢ 4+ 1/2 is half-integer, since ¢ is integer; so the azimuthal number m £ 1/2 itself is
an integer.) For the states |j = ¢ — (1/2) m), we will again see that there are only two terms

in the superposition over the tensor product states. For a fixed m, |j = ¢ — (1/2) m) must be
perpendicular to |7 = £+ (1/2) m). This allows us to write down its solution (up to an arbitrary

phase) by inspecting eq. ((9.1.25)):

11
22

>+\/2€—2m+1

1
’j:£—§ m; { %> (9.1.26)

7,5[7 1

e 2
V220 1 2 2 2" 2

(\/26—2m+1

E,m—1>®’%,%>—\/2€+2m+1‘f,m—l—l>®’1 —1>>

9.2 Isospin symmetry

The idea of rotation symmetry can be carried over to ‘internal symmetries,” where nuclei of
similar masses/energies are considered to be the ‘same’.

Neutrons and protons: Isospin One-Half The proton has a mass of 938.272 MeV
and the neutron 939.565 MeV. Even though the former is electrically charged while the latter is
not, this new isospin symmetry would apply primarily to systems governed by the strong force.
More specifically, we postulate that the strong interactions are approximately invariant under

[H%U{ﬂ, (9.2.1)

where U is a 2 X 2 unitary matrix. The U is simply the spin-1/2 representation of the rotation
group. We have

U = exp (—i0T"), T =0%/2 (9.2.2)
[T, T"] = ie®T". (9.2.3)

We will regard the proton as the ‘spin-up’ state
3 1
Tlp) = 5 Ip); (9.2.4)
and the neutron to be the ‘spin-down’ state

T3 |n) = —% In). (9.2.5)
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Other nuclei Just as the rotation group allow for different spins, we may assign an isospin
t to strong interaction states. For a given t and atomic weight A, the total electric charge obeys

A
Q=c¢ (5 + T3) . (9.2.6)
As a check: the proton yields (A/2 + T3)[p) = (1/2 + 1/2) |p) = +1|p); while the neutron
(Af2+T%) n) = (12— 1/2) |n) = 0 .

Isospint =1 The ground states of 2B and 2N, together with an excited state of 2C
have the same spin and energies. They form an isospin 1 multiplet.

Pions (7%, 7%) — where 7% are positvely /negatively charged while 7° is neutral — also form
an isospin 1 multiplet. They have nucleon number A = 0, so we have

T |n*) = £1|x*), T =0[r"). (9.2.7)

This is consistent with their electric charges.

Isospin t = 3/2 The AT, AT A% and A~ have isospin 3/2, spin 3/2 and masses
~ 1240 MeV. They decay very rapidly, due to the strong interactions; and because they decay

into particles with nucleon number 1, these As themselves are assigned A = 1. We may also
identify

T?|ATY) = g |ATF), TP AT = % |AT), (9.2.8)
3| A0 __1 0 3| A— __§ -
TPA) = =5 ]A%),  TP[AT) = —Z[A7). (9.2.9)

Again, this identification is consistent with their respective charges (+2,+1,0, —1). The ampli-
tude of their decay, which must conserve isospin, according to the Wigner-Eckart theorem:

M (AT = 7t +p) = <1 1,% %;ﬁ p ; 2;1 %;A++> (9.2.10)
= <1 1,% %‘g g;l %> <1,%;7TJr p‘ g;l %;A++> (9.2.11)

= <1, %;7‘(‘+ p‘ %; 1 %;A++>; (9.2.12)

M(AT =7t +n) = <1 1,% — %;7# n 2 %;1 %;A+> (9.2.13)
:<1 17% _%’;%,1%> <1,%;77+n ;;1%;A+> (9.2.14)

= % 1, %;ﬂ'+ n g; 1 %;A+>; (9.2.15)

M(AY =57+ p) = <1 o,% %;7?0 p‘; %;1 %;A+> (9.2.16)
ol (e fde) oo

- \/g <1, %;71’0 p‘ ; 1 %;A+> (9.2.18)



By the Wigner-Eckart theorem, the

1 3 1 1 3 1 1 3 1
1,7t pl=:1 = ATT ) I,—7mtnl=:1=:AT), 1,—;7T0]9—;1—;A+
2 2 2 2 2 2 2 2 2

no longer depends on the T°—eigenvalues of the isospin states. But that means these reduced
matrix elements no longer distinguishes between AT vs AT nor between 7+ vs 7; nor between
p and n. Hence, we may denote

1 3 .1 1
<1, —.t p’ — 1 §;A++> = <17§;7r+ n

2’ 2 2 2

3 .1 1 3 .1
1 _.A+ — 1. = 0 21 _.A-i- =
) 27 > < 7277T p‘ ’ 2) > MO

and deduce the ratio of the decay rates — which is proportional to the square of the amplitudes,
namely ' oc |M]? — is given by

(AT — 7t 1
AT om+n) 1 (9.2.19)
LA+ 7t +p) 3
I'(AT — 70 2
At omtp) 2 (9.2.20)
['(ATF =7t +p) 3
Problem 9.2. Verify
LA™ -7 +n)=TA" -5 7t +p) (9.2.21)
DAY =77 +p) =T(AT = 77 +n) (9.2.22)
DAY = 7% +n) =T(AT = 7+ p). (9.2.23)
O
10 Symmetry, Degeneracy & Conservation Laws
Symmetry & Degeneracy Since unitary operators may be associated with symmetry

transformations, we may now understand the connection between symmetry and degeneracy. In
particular, if A is some Hermitian operator, and it forms mutually compatible observables with
the Hermitian generators {7} of some unitary symmetry operator U (E) = exp(—ig T ), then
A must commute with U as well.

4.0 =o. (10.0.1)
But that implies, if |a) is an eigenket of A with eigenvalue a, namely
Ala) = ala), (10.0.2)
so must U |a) be. For, [A, U] = 0 leads us to consider
[A, U] |a) =0, (10.0.3)

AU o)) =UAla) = a(U |a)). (10.0.4)
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IfU |a) is not the same ket as |«) (up to an overall phase), then this corresponds to a degeneracy:
the physically distinct states U(€) |or) and |o) both correspond to eigenkets of A with the same
eigenvalue a.

Symmetry & Conservation Laws Moreover, if the Hermitian operators {7} gener-
ate a symmetry transformation, and if they also commute with the Hamiltonian H, then these

observables are conserved — at least whenever H is time independent. Specifically, if
[T, H] = 0; (10.0.5)
then in the Heisenberg picture, if H is time independent, then eq. (4.0.16|) says

78
= 0. 10.0.
=0 (10.0.6)

If |a) is an eigenket of 7 ie., T"|a) = «a|a), then it will remain an eigenket under time
evolution. If U(t,ty) = exp(—iH (t — ty)) is the time evolution operator, we may check

T (U(t, to) |a)) = Ut t)T%|a) = a (U(t, o) |a)) . (10.0.7)

Of course, |a) may belong to a degenerate subspace; so U |a) may not be equal to |a) (up to
a phase). Instead, this is linked to the above discussion regarding degeneracy and symmetry,
which we may surmise as:

Under time evolution governed by a time independent Hamiltonian H, the eigen-
ket of an observable T* would remain within its degenerate subspace if [T*, H] = 0.

11 Spin and Statistics

All electrons in Nature are the same; there is nothing to distinguish one electron from another
— unlike macroscopic objects, you cannot for instance put a mark on one electron and put a
different one on another, and use these marks to track their trajectories through spacetime. The
same can be said about photons. In (perturbative) relativistic quantum field theory (QFT), this
is because all indistinguishable particles are vibrations of the same quantum field.

Furthermore, relativistic QFT informs us the N particle quantum state 1115 . .. ¢y) is fully
symmetric

if these N particles are indistinguishable integer spin s > 0 ones — photons, gluons, W* and Z
have spin—1 while the Higgs boson has spin 0.
Whereas, the N particle quantum state 115 . .. ¢y) is fully anti-symmetric

1. N = — |y ) (Vi # 7) (Fermions) (11.0.2)

if these N particles are indistinguishable half-integer spin ones (i.e., spin s = n + 1/2, for n > 0
integer). Electrons, muons, taus, quarks, neutrinos all have spin—1/2.

Weinberg [2] explains, equations (11.0.1)) and (11.0.2) holds for spatial dimensions greater
than 2. In 2D space, when one swaps two particles in a N-indistinguishable-particle state, the
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quantum state picks up a phase factor that is path dependent (as opposed to the £ here). Such
particles are known as anyons.

Bosonic Statistics The fully symmetric condition of eq. tells us, it is entirely
possible to have all the N particles to lie within the same physical state: [¢;1;...;) (with N
repeated 1;8).

Fermionic Statistics, Pauli Exclusion The situation is entirely different for half-integer
indistinguishable-particles.

For the N-indistinguishable-particle fermionic state, which obeys eq. (11.0.2), no
2 indistinguishable fermions can occupy the same state.

This is because

W1 i i ON) = — 1ty by =0 (11.0.3)

This fundamental fact, usually called the Pauli Exclusion Principle, forms the basis for under-
standing atomic and nuclear structure and more generally, the stability of matter itself.

Bosonic Wavefunctions In terms of wavefunctions, we may write the N-indistinguishable
bosonic state in terms of its one particle ones {1, } as the sum of its product, but symmetrized
over all the coordinates (spin, momentum/position, etc.) of each of the N particles:

U= \/% Z Uy <€n(il)> ® 1 (gn(¢2)> ® - QY (&(m)) : (11.0.4)

" permutations {i,}

For example, the 2 particle state is

1 — — — —
U= 7 (2,01(51) ® 2(&2) + 11 (&) @ ¢2(§1)> ' (11.0.5)
Fermionic Wavefunctions In terms of wavefunctions, we may write the N-indistinguishable
fermionic state in terms of its one particle ones {#,} as the sum of its product, but anti-
symmetrized over all the coordinates (spin, momentum/position, etc.) of each of the IV particles:

U= \/% Z (sgn of perm.)y (511(@)) ® Py <€H(z’2)) ®- - QY <gﬂ(i1\r)> . (11.0.6)

permutations {i,}

For example, the 2 particle state is

V= = ((6) @ (&) — 1 (E) @ (). (1.0.7
This fermionic case may be written as a determinant.
U neing, (€ AN =Y.
\Ij - ﬁe 2/}1 (511) ® 1/’1 (522) & & 77b1 <51N> ) (1108)

where the fully anti-symmetric Levi-Civita symbol is defined such that 2V = 1.
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11.1 Spin Precession and Rotating Fermions

ﬂConsider a spin-1/2 fermion with mass m. Let us consider its interaction with a magnetic field.
Its Hamiltonian is given by, in units where h =1 = ¢,

H=-9°3. 11.1.1
o ( )
where S is the spin operator. The ¢ is a particle-dependent constant; for e.g., Sakurai says
g =~ 1.91 for the neutron.
If |£) are the eigenstates of S - B, namely

S-Bl+) = ig ESF (11.1.2)
we have the stationary states
B (1)) = exp(—iHt) |£) = exp <z—(§ B) ) |+) (11.1.3)
¢ B
= +i 9% 24 ) |1+ 11.1.4
o (412551 ) 1), (11.14)

The factor of 1/2 occurring within the eigenvalue of S . B is due to the fermionic spin-1/2
character of the particle. This same 1/2 is also responsible for multiplying the wavefunction by
— upon a 27 rotation. For instance, if we rotate the spin eigenstates:

1+) — D(R(27)) |£) = exp(—i(27)2 - §) |£) (11.1.5)
|£) — exp(Fim) |£) = — | ). (11.1.6)

Suppose we allow a fermion to propagate along two different paths, before recombining them to
observe the resulting interference pattern. Along one path we turn on a magnetic field over a
finite region; and along the other we do not. If the initial state is prepared as a spin eigenstate
(parallel to the B field); then, upon recombination, we must have

|4) — exp (ﬂ%?T) e |£) + €% |£) (11.1.7)
— "2 exp <:I:i%§T + %(51 - 52)>
X (exp <i12—§T + (01 — 52)> + exp (ZFZZg—gT - —(51 ))) |£)
— 2¢i% exp (ii%?T) cos (%gT (6 — 52)) |+). (11.1.8)

The T here is the time duration the particle spent inside the magnetic field. The spin—1/2
character of the particle can be tested by testing the whether the change in magnetic field AB
would cause a 27 phase shift in the interference pattern consistent with this result.

ge AB

Ap =2 o 9289 11.1.9
©=2m — . ( )

9This section is based on Sakurai.
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11.2 Atomic Structure/Periodic Table & Nuclear Structure

Electrons, neutrons and protons are fermions, obeying the Pauli exclusion principle. This plays
a key role in the structure of atoms and nuclei.

For generic atomic number Z > 1, to a decent approximation, the electrons move in a
spherically symmetric central potential V(r). Near the nucleus, V(r) — —Ze*/r; whereas
outside the atom, V(r) — —e?/r (i.e., screened by the other Z — 1 electrons). We may label the
states as follows

e Principal energy label n =1,2,3,--- > 1.
e Orbital angular momentum ¢ > 0; and ¢ < n — 1.

e There are 2(2¢ + 1) states for a fixed (n,¢) pair, where 2 comes from the +1/2 spin states
of the electron; and 2¢ + 1 coming from the range of L3 values. (This neglects spin-orbit
interactions.)

Unlike the hydrogen atom different ¢ but same n may not yield the same energy. As Weinberg
explains, oftentimes larger ¢ yields larger energies (for the same n), because the electron wave
function goes as r and hence spends less time near the origin. In order of increasing energy,
ie, B1 < By <--- < Eg < E7,

Shell/E Level (n, ), Increasing in energy slightly — No. of states > 2(20 + 1)
Ey 1s = (1,0) 2
Es 2s =(2,0), 2p = (2,1) 2(1)+2(3)=8
Es 3s=1(3,0),3p=(3,1) 2(1)+2(3)=8
E, 4s = (4,0), 3d = (3,2), 4p = (4,1) 2(1)+2(5)+2(3)=18
E; 5s = (5,0), 4d = (4,2), 5p = (5,1) 2(1)+2(5)+2(3)=18
Eg 6s = (6,0), 4f = (4,3), 5d = (5,2), 6p = (6,1) | 2(1)+2(7)+2(5)+2(3)=32
Ex 7s =(7,0), 5f = (5,3), T7p = (7,1), ...

Noble gases The chemically inert elements are those with their ’shells’ filled. These are

helium (Z = 2), neon (Z = 248 = 10), argon (Z = 2+8+8 = 18), krypton (Z = 2+8+8+18 =
36, xenon (Z =2+8+ 8+ 18+ 18 = 54), and radon (Z =2+ 8+ 8+ 18 + 18 4 32 = 86).
Alkaline metals Alkaline metals are those with one extra electron relative to the noble
gases. This extra electron may be readily lost/roam easily throughout the metallic solid; thus
making alkaline metals chemically reactive. These are lithium (Z = 2+ 1 = 3), sodium (Z =
248+ 1=11), and potassium (Z =2+ 8+ 8+ 1=19).
Alkai Earths Alkali earths have two electrons more than noble gases: beryllium (Z =
2+ 2 =4), magnesium (Z =2+ 8+ 2 = 12), and calcium (Z = 18 + 2 = 20).
Halogens Halogens are elements with one fewer electron than the noble gases: fluorine
(Z=2+8—-1=09), chlorine (Z =2+8+8—1=17), bromine (Z =2+8+8+ 18 — 1 = 35).
Oxygen & Sulfur Oxygen (Z = 10—2 =9) and sulfur (Z = 18 — 2 = 16) have 2 electrons
fewer than noble gases.

Nuclear Structure Inside the nucleus, we don’t have a central/core point-like charge.
Instead it’s a bunch of protons and neutrons. If we do continue to approximate the potential as

o2



a central one, i.e., V(r), and if we assume the origin is a stable point — we may Taylor expand
it about the origin as follows:

V(r)=Vo+ (W*/2)r* + ..., w? = V"(0). (11.2.1)

In other words, the nucleus near the origin should behave like a simple harmonic oscillator.
Recall, for a fixed orbital angular momentum ¢, the 3D SHO oscillator energies go as

3
En,g—w<2n+€+§>, n=0,1,2,.... (11.2.2)

Every adjacent energy level alternates between odd and even parity; so the ground state is even
parity, the first excited state is odd, and so on. This means odd ¢ shows up only for odd 2n + ¢
and even ¢ only for even 2n + /.

Energy (relative to zero-point) 14 No. of states > 2(20 + 1)
0 s=0 2
w p=1 2(3)=6
% s=0,d=2 2(1)+2(5)=12
3w p=1,f=3 2(3)+2(7)=20

The shell structure for nuclei is
Z = 2,8,20,28,50,82,126 (11.2.3)

where Z can refer to either protons or neutrons. For example, as Weinberg points out, “He is
‘doubly magic’ because it has Z, = 2 protons and Z,, = 2 neutrons. This is why it is particularly
stable; and is in turn why during the early universe nuclei heavier than *He were not produced
very much. Other doubly magic nuclei are °O and %°Ca; they are produced in stars more
copiously than their neighbors.

Note that our crude simple harmonic oscillator model can only explain the first 3 shells.
According to Weinberg, as we move to the higher energy levels, not only does the potential
needs to be modified, the spin-orbit S-L coupling becomes increasingly important. Remember,
the total angular momentum j = ¢ £ 1/2. For ¢ = 3, that gives us j =6/2+1/2=15/2,7/2.

12 Simple Harmonic Oscillator

12.1 One Dimension

The SHO system in 1D is defined by the Hamiltonian

H=_-p"+ -wa”. (12.1.1)
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Energy Lower Bound To diagonalize this Hamiltonian, we first seek to “complete the
square” in the following sense. Consider, for real «,

1 R , 1 . .
(E (p— zaw)) (E (p— zowc)) =3 (p+iax) (p— Z'CM) (12.1.2)
= % (p* + az%) + % (zp — px) (12.1.3)

L, 2.2 o
:5( + o’2?) -5 (12.1.4)

Comparing the last line with eq. ([12.1.1)), we see that, by choosing o = w,

1 f 1 w
H=w|—(p—iwx — (p—wx) | + = 12.1.5
(A to—iwn)) (= iwn) ) + 5 (12.15)
. (aTa N %) ; (12.1.6)
where we have defined
1
a=—(p—iwx). 12.1.7
= (i) (12.0.7)
We may immediately deduce
1
al = — (p+iwz). 12.1.8
V2w (p ) ( )

We may readily invert this relation to find

X = _\/;_w (a' — a) and P = \/g (a +a). (12.1.9)

At this point, we may infer from eq. (12.1.6) that there is a lower bound on the energy levels
of the SHO. If | Ep) is the (unit norm) lowest energy eigenstate, and if we denote |¥) = a|Ey),
then

(Eo |H| Eo) = Eo (Eo| Eo) = Fo = w <E0 ata + %‘ E0> (12.1.10)
— o ((alB)' e 1E0) + 5 (£l Eo) (12.1.11)
—w ((\1/0| W) + %) > g (12.1.12)

Raising & Lowering (aka “Ladder”) Operators The next step is to recognize the roles
of a and a' in equations (12.1.7) and (12.1.§)), respectively, “lowering” and “raising” operators.

1

[a, aq =55 [p — iwz, p + iwx] (12.1.13)
= —= (7]~ [p.2)) (12.1.14)
[a,al] = +1. (12.1.15)
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Whereas

[H,a) =w [d'a,a] =w (a' [a,a] + [a', ] a) (12.1.16)
=w|d,a] a = —wa. (12.1.17)

Now [A, B]l = —[AT, BY], hence

— [H,d"] = —wd' (12.1.18)
[H,a'] = wal. (12.1.19)

Now, if |E,,) is some energy eigenstate, a' | E,) is an energy eigenstate with energy E, +w because

of eq. (|12.1.19):

H (a"|E,)) = (Ha' — a'H + a'H) |E,) (12.1.20)
— ([H,a'] + E,al) |E,) = (wal + Enal) |E,) (12.1.21)
= (En+w) (d'|E.)) . (12.1.22)

Since a' |E,) o |E, + w), we must have (a")'|E,) = a'(a' |E,)) x al |E, + w) o |E, + 2w); i.e.,
in words: because each application of a' on an energy eigenstate yields an energy eigenstate with
energy +w larger than the previous, ¢ > 1 applications must yield

(" |E,) o |E, 4 (w) . (12.1.23)

Likewise, if |E,) is some energy eigenstate, a |E,) is an energy eigenstate with energy E, — w

because of eq. (12.1.17)):

H(a|E,)) =(Ha—aH +aH) |E,) (12.1.24)
= ([H,a] + Eya) |E,) = (—wa + E,a) |E,) (12.1.25)
=(E, —w)(a|E,)). (12.1.26)

[terating this reasoning ¢ times therefore hands us
a'|E,) o |E, — (w) . (12.1.27)

Since there is a lower bound on energy, however, this process cannot continue indefinitely. Sup-
pose |Ep) is the lowest energy eigenstate, because a | Ey) cannot return a lower energy eigenstate,
the only consistent answer is zero:

a|Ey) = 0. (12.1.28)
Energies Recalling eq. ([12.1.6)), this means the lowest energy eigenstate must obey
t 1 w
ie.,

By = g (12.1.30)
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Every application of the raising operator adds w to the energy level, we must have

Note that this discussion tells us there cannot be a separate infinite set of energy levels with a
lowest energy Ey+ ¢, where ¢ < E; — Ey, where Ej is the lowest of all energies (by assumption).
For, the lowering operator acting on it would again be zero, since Fy+¢ —w < Ey. But then its
energy is uniquely determined by w(a'a + (1/2)) |Ey +¢) = (w/2) |Ey + €).

Ground State Moreover, eq. tells us

(x|p —iwz| Ey) =0, (12.1.32)
—i0, (x| Ey) = iwx <1:\ Ey), (12.1.33)

0. In (z| Ey) = (12.1.34)

In (x| Ey) = ——x + constant, (12.1.35)

(x| Ey) = Cexp <—gx2> : (12.1.36)

for some constant C'. This constant may be fixed by demanding the wavefunction to have unit
norm. Taking C' to be real,

+o0o
(Eo| Eo) = 02/ e dr =1, (12.1.37)

[e.e]

+00 2
04(/ e—de> =1, (12.1.38)

=1, (12.1.39)

+oo
ct (27r / e_w"dep> =1, (12.1.40)
0

4 27T /eroo @ fo.;pQ
. —1 12.1.4
C (—Zw i ape dp : (12.1.41)
ot (g) -1 = (= <f)z. (12.1.42)
T

To sum, up to an overall multiplicative phase, the non-degenerate ground state wavefunction is

(] Bo) = (%) exp (—gﬁ) . B=2. (12.1.43)
Excited States We already know from equations ([12.1.8)) and m that
(x| E,) o (—i0y + iwz)" (x| Ep) . (12.1.44)
To normalize this state,
((a") |E0)" ((a")! | Eo)) = (af(ah) " [Eo)) ((a))" | ) (12.1.45)
— (""" |E) " (a(a)) | Ey)) . (12.1.46)
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Let us now prove the following statement:
[a, (a")"] = ¢- (") (12.1.47)

The ¢ = 1 case is simply the commutation relation [a,a'] = 1 in eq. (12.1.14). Assuming the
(k > 1)th case is true, namely [a, (a")*] = k- (af)*7,

[a, (a")"*'] = a' [a, (a")*] + [a,a'] (a')* (12.1.48)
=a' k()" + (@) = (k+ 1) - (") (12.1.49)
Returning to eq. (12.1.46), and keeping in mind eq. (12.1.28), we may now compute
a(a")’ |Ey) = (a(a")’ — (a')a + (a')a) |Ep) (12.1.50)
= [a, (V)] [Eo) = €+ (a")" | Eo); (12.1.51)
and hence deduce that
(@ 1B () |Eo)) = £+ (@) [E))T ((ah) | Ey)) (12.1.52)
—W—l) (a2 B >) ((a") 72 |Eo)) = ... (12.1.53)
= 0! (Ey| Eq) = £\. (12.1.54)
To sum: all unit norm excited states may be written as, for £ =1,2,3,...,
|Ep>1) = (a_\/%f |Eo) , Ey=w <€ + %) . (12.1.55)
In the position representation,
¢
(x| B)) = (wc;_)!l/‘l (—z‘a‘”%x) exp (—%:ﬁ). (12.1.56)
Problem 12.1. Parity Explain why (—z| E,) = (=) (z| Ey). O

Problem 12.2. Differential Equation for Excited States Guided by the result in eq.
(12.1.56)), we may infer that the excited state eigenfunction must take the following factorized
form:

(x| Bg) = Qu(§) (x| Ep), (12.1.57)
where £ = /wx. Show that Q,(£) obeys
(&) — 2£Qy(€) + 20Qq(€) = 0. (12.1.58)

By demanding that the £ — oo limit yields a polynomial; and by comparing its highest power
with that obtained with eq. ((12.1.56)), show that (up to a phase factor)

H(§)
= 12.1.59
QZ(&) 24/2\/57 ( )
where H,(¢) is the Hermite polynomial. Hint: The highest power of the Hermite polynomial can
be extracted from its power series in eq. 18.5.13 of NIST’s DLMF'. ]
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12.2 Schrodinger vs Heisenberg

Schrodinger Picture So far, we have been working within the Schrodinger picture where,
if [1)(t)), describes a physical system, it obeys the time dependent Schrodinger equation
i0; (1)) = H [¢(t)) (12.2.1)
whose solution can be written in terms of the evolution operator
[(t > o)), = U(L, to) [¥(to))s , (12.2.2)
where
Ult,ty) = exp(—iH (t —tp)); (12.2.3)

Most observables, such as the position and momentum operators, on the other hand, are time-
independent. This means their eigenvectors are also time-independent.

Heisenberg Picture On the other hand, in the Heisenberg picture, we switch to a
“rotating basis” of sorts, such that the state |¢)) describing the physical system no longer depends
on time; but the operators such as position or momentum now do.

We will need to choose a time ¢, where the two pictures coincide. The underlying motivation
behind the switching from Schrodinger to Heisenberg pictures is an alternate description of the
expectation value of some operator O. Starting in the Schrédinger picture,

(W) |0 (1)) s = s (U(to) [¢HTVOLT W w(te)) s = 1 (W [Onl¥) w; (12.24)
where the Heisenberg picture operator is
Og(t) = etH:=D ) miHs(t=1), (12.2.5)

We may obtain a first order differential equation for such a Heisenberg picture operator. As-
suming its Schrodinger picture counterpart does not depend on time,

0,0n(t) = i [Hy, On(t)] . (12.2.6)

Note that, for time independent Hamiltonians, their form is picture independent since they
commute at all times:

Hy = eiHs(t—to)HSe—iHs(t—to) _ 6iHs(t—to)e—iHs(t—to)Hs = H.. (12'2'7)

Also note that, the computation of commutators can be carried out in either picture; for operators
A and B and denoting U(t,ty) = exp(—iHs(t — o)),

[An, Bu] = U(t, to)T AU (t, to)U (L, to) T BU (8, to) — U(t, to) ' BU(t, to)U(t, 1) AU (£, 9) (12.2.8)
= U(t, to)' [As, Bs] U(t, to). (12.2.9)

Spectra Since the Heisenberg operators depend on time, the observables now depend on time
too. For example, the position operator is

Xu(t) = efiHl(t=to) X o=iH:(t=to) (12.2.10)
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and therefore its eigenvectors must “anti-evolve” in time in that

|$ t) e HiHs(t—to) |a7>s (12.2.11)
We may check:
XH(t) ‘l’,t)H — €+sz(t to)X e —iHs(t— tO)eJFZHS (t—to) ’x> (12212)
= i) X | (12.2.13)
pe ) |1y = g3 ) (12.2.14)

More generally, for any observable Oy,

Ou(t) Mty = A|A By, (12.2.15)
I\, )y = et )\ (12.2.16)

SHO EoM, Initial Value Problem We may apply these considerations to the SHO
situation. Firstly, note that its Hamiltonian in the Heisenberg pictures is

Hy = efs(t—t0) (%PSPS + %wQXSXS> e~tHs(t—t0) (12.2.17)
_ %eiHs(tto)PseiHs(tto)eiHs(tto)PseiHs(ttO) (12.2.18)

n ;w ¢iHs(1=t0) X_o—iHa(t=t0) ifls(t—to) y_o—iHs(i~1o) (12.2.19)

_ %plg N %2)(51- (12.2.20)

Let us compute the equations-of-motion (EoM) of the position operator in the Heisenberg
picture.

1 2 .
Xy = i [Hy, Xy = i’ 1) {Epf + %Xf, XS} e~ (t=to) (12.2.21)
- %eiH<t—to> (P [Py, X4] + [P, X,] P) e~ 10) (12.2.22)
= je!H=10) (—jp,) e~ H=0) = Py, (12.2.23)

: » . iH(t—to) 1y, W —iH(t—to)

PH =1 [_['[H7 PH] = 1€ 0 §PS -+ 7Xs 5 PS € 0 (12224)

W ip—t iH (t—t
= (t=t) (X, [ Xy, P] + [Xs, Ps] X;) e~ t=t0) (12.2.25)
— jw?et=t) (X)) e HI—0) — (2 Xy (12.2.26)
This means Xy = Py = —w?Xjy; we see that the Heisenberg position operator obeys its classical

EoM (see also the discussion around eq. (4.0.19))):

X + w? Xy = 0. (12.2.27)
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Like its classical counterpart the solution may be written in terms of sine and cosine:
Xu(t) = Acos (w(t — o)) + Bsin (w(t — ty)); (12.2.28)

except A and B are now operators. When ¢ = # the sine vanishes and we must recover the
Schrodinger picture position operator. This implies A = X,. Whereas, since Xy = Pg =
Awsin(w(t — to)) + Bw cos(w(t — t)), we must have when ¢t = ¢y, B - w = P,. Altogether,

Xut) = X, cos (w(t — o)) + %Sin (Wt —t0)). (12.2.20)

This leads us to the following insight. Remember that the expectation value of some operator

O in the Heisenberg picture with respect to some physical state |¢)y = [¢(t)), is given by
(o |On(t)| o).
u (U Xu(t) [9) 1 = (¥ (to)| Xs [¢(to)) cos (w(t — to))
+ 21D 1)) P i) (12230)

At the level of expectation values, the Heisenberg picture position operator written in terms of
the Schrodinger picture operators is simply the initial value formulation: (Xp(t)) is the initial
(X) and (P) (i.e., in the Schrédinger picture) evolved forward in time.

Problem 12.3. Show that eq. (12.2.29) may be expressed as

Xu(t) = % (ae™ 0] 4 qfeie(t=to)) (12.2.31)

where a = ia; with a being the lowering operator of equations (12.1.7), (12.1.8) and (12.1.9).
In quantum field theory, each momentum mode of a given (linear) field operator obeys
something analogous to eq. ; which in turn implies every momentum mode of the
quantum field may be identified with eq. — where, the raising/lowering operators
become creation/destruction operators that create/destroy particles of the particular momentum
at hand. [

12.3 Higher Dimensions
The SHO in higher dimensions D > 1 is described by

1= 2
H=-P+% x? (12.3.1)
2 2
Spectrum Because this Hamiltonian is the sum of 1D ones, namely
1 w2
H = §P¢Pi + 7X X, (12.3.2)
we may immediately take the tensor product of 1D SHO to diagonalize it:
Ini,...,np) =|En) @ @ |E,,), (12.3.3)
H|7’L1,...,7’LD> :Enl 77777 np |n1,...,nD> :(En1+...EnD)|n1,...,nD> (1234)

D
:w<n1+---+nD+5) |ni,...,np), (12.3.5)
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where the {nj,...,np} are a collection of non-negative integers. This is because, for a fixed i,

1 w2
§PLR+ TXZXI |TI,1,...,TI,D> (1236)
1 w? i i
= §PZ-Pi + 7X X)) |EBn) @ @ |Enp) (12.3.7)

Ni,...,Np) . (12.3.8)

7

1 w?

In the position representation, the corresponding unit norm energy wavefunction is

(@|n, ... ,mp) = w/ﬂ i ﬁ {( O — wx) " exp (—%zm) } . (12.3.9)

Raising and Lowering Operators There are now D pairs of raising/lowering operators
a; = \/% (P —iwX"), (12.3.10)
al = J% (P + iwX") . (12.3.11)
They obey
[ai,aﬂ = dij, la;,a;] =0 = [ai,aﬂ ; (12.3.12)
as well as
[H,a;] = —wa; and [H, alq = 4wal. (12.3.13)
Parity and Rotational Symmetry Under parity ¥ — —&, we have
(=Z|ny,...,np) = (=) 40 (Flny ... np). (12.3.14)

Note too that the Hamiltonian is rotationally symmetric. Hence in 3D, the energy eigenstates
must be simultaneous eigenstates of

H,J?, J3 P. (12.3.15)
Three Dimensions We note that, because J; and J? commutes with the Hamiltonian, we
expect that the energy eigenstates (Z|ni,...,np) can be built out of the former’s eigenstates.

In 3D, this means we should be able to write

T ny,na, ns3) X Ry (r)Y(0, 9). 12.3.16
¢

Examining eq. (12.3.9)), we see that, for a fixed {nj,ns,n3}, the raising operators acting on
the Gaussian exp(—(w/2)7?) produces at most a degree n; + ny + ng polynomial. Hence, the
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maximum ¢ in the above sum must be /.« = ni + ny + n3. For each ¢ remember m runs over
the 2¢ + 1 values, from —¢ to +¢. Whereas {y,;, = 0; for example, (a')? exp(—(w/2)z?) would
produce a constant term multiplying the gaussian. However, we have to remember eq. ;
which in turn implies there must only even parity Y, it N = n; + ny + ng were even and odd
parity Y, it N were odd.

(%] 1, n9, 13) Z Z XL RIS (1YY (0, ¢),  Even N =mny +ng+ny (12.3.17)

=0 m=—¢
£ even

_ Z Z Xn1 2, nanl M2, n3( )Y'Zm(e7 ¢)’ Odd N = Ny, + no + ngs. (12318)

=1 m=—/¢
£ odd

For even N this means there is 1 term for ¢ = 0; 2(2) + 1 for £ = 2; 2(4) + 1 for ¢ = 4; and
altogether

L N+2N N+2 (N+1)(N+2)
> (4k+1)=4 Tt o~ 5

(12.3.19)
k=0

terms in the superposition of spherical harmonics to form eq. (12.3.9) of a fixed N.
Rotational and parity invariance tells us, for some fixed N = n; + ny + ng, the simultaneous
eigenstate of energy, parity and rotational operators is

(Z| N, 6,;m) = RY (r)Y;"(6, ) (12:3.20)
which transforms under parity as
(=Z| N, £,m) = (=) (Z| N, £, m) . (12.3.21)

On the other hand, the energy eigenstate N is a polynomial of at most degree N, which trans-
forms as

(=Z| N, £,m) = (—)N (Z| N,{,m). (12.3.22)
Altogether
ny+mng+mn3 =N =/{+2s, (12.3.23)

where s is an arbitrary integer. Hence, the energy levels are

3
EN:g+28 = W (E + 28 —I— 5) . (12324)

For even N, ¢ can therefore run from 0 to N; whereas for odd N, ¢ can run from 1 to V.

Problem 12.4. Prove that, for odd N = ny + ny + ng, there are also (N + 1)(N + 2)/2 terms

in eq. (12.3.18). [
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Problem 12.5. N = 2 in 3D Write down all the wave functions (| N = 2,¢,m), where
((£+1) is the eigenvalue of J? and —¢ < m < +/ is that of J3, for a given energy w(N+3/2). O

Problem 12.6. Radial Wavefunction Let the energy eigenfunctions of the 3D SHO with
eigenvalue E, namely (r,0,¢| E), be

(r,0,¢| E) = R(x/wr)Y;™(0, ) exp (—gﬁ) . (12.3.25)
Show that the radial wavefunction R obeys

ey 201 eyprey _ (o 2B D)
RIE) + (1= R () (3 o e

where £ = y/wr. Can you show the appropriate solutions are

) R(¢) = 0; (12.3.26)

R(&) = Xne- &1 R [—n, g +¢, 52} ; (12.3.27)

where n is a non-negative integer and Y, ¢ is a normalization constant. Explain why the energy
levels are described by

E:w<2n+€+;), n=0,1,2,.... (12.3.28)

Using this energy eigenvalue result, and upon re-scaling R(£) = £°p(£?), show that p(¢ = £2)
satisfies the generalized Laguerre polynomial ODE

Q)+ (5 +¢- ) #1Q + nplc) =0, (12.3.29)
Hints: The ¢ = 0 case is already solved. Focus on ¢ > 0; and examine the r — 0 and r — o0
limits. You will find that one of the two linearly independent solutions, as » — 0, is not
normalizable. The other solution is not normalizable as r — oo unless it becomes a polynomial.
For this last step, you might need the fact that the Gamma function becomes singular at 0 and
the negative integers. ]

13 2-body Problem

Problem 13.1. In 2 body problems, where )21,2 refers to the positions and 13172 to their corre-
sponding momentum operators; show that the definitions

R=X, - X, (13.0.1)
. X X
Ry = T+ Moty (13.0.2)
mi + mo
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and

. P, P
ey = <_1 . _2> o mma (13.0.0
my meo my + Mo

lead to the position representations

<ﬁ, Ko ‘13‘ ¢> — —idg_ <ﬁ, XCM‘ ¢>, (13.0.5)
<1§, Ko |0 w> — —i0; <1%, X'CM( ¢>. (13.0.6)
0

14 Rigid Body Dynamics in 3D Space

14.1 Classical

Setup By rigid body motion, I mean here a collection of point particles that are fixed
in their positions relative to one another but may rotate as a whole around an arbitrary and
possibly time-dependent axis. Or a continuous material object that remains fixed in shape
and solid throughout its interior, but may rotate/change its orientation as a function of time.
Quantitatively, if Z(t) refers to a point within this rigid body, we say

2%(t) = R(t)z?, (14.1.1)

where R are components of a time-dependent rotation matrix; and z° are a set of time-
independent coordinates that may be associated with that of the particle/location in question
but relative to some frame co-rotating with the body itself[]

Dynamics In reality, there must be some effective inter-particle potential that holds
the body together; but within this rigid body assumption we may ignore it since all positions are
fixed relative to the body-frame and whatever potential energy must become a constant in this
limit. Hence the dynamics must be entirely attributed to the kinetic energy, which we now seek.
Focusing on the point particles case, we let the time-dependent coordinate of the nth particle
be denoted as Z,), such that

2l (t) = R®()zf,). (14.1.2)

(Remember, the same rotation matrix R applies to all particles {Zm)} because they form a
rigid body.) Hence, if m,, is the mass of the nth particle, its velocity is

iy (8) = vy = R™(8)2fny; (14.1.3)

n)

10More specifically, say at t = 0, we may view 2%(t = 0) = R*®(t = 0)z® as the change-of-coordinates from the
co-moving body frame coordinate system {z®} to the ‘ambient frame’ one {z*}.
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and total kinetic energy

Zmnv(n (14.1.4)

1
:—ZmnR“p Rl xl, :§N”‘IR‘”’R“‘1 (14.1.5)

We should be able to express this kinetic energy solely in terms of angular momentum variables,
since the only motion under consideration is rotational. As a first step, we note that viewed as
a matrix, the { R} obeys

R'R=1 (14.1.7)
Since this is true for all time, differentiating it once yields RT R+ RTR = 0, which in turn implies
R'R=-R"R. (14.1.8)
On the other hand, since
. AT
RR=(R'R) (14.1.9)

we see that RTR is an anti-symmetric matrix. In the 3D space we are in, this anti-symmetry
means we may compute its dual:

Q= %eabC(RT)befC; (14.1.10)
RICRIY = etbeqye, (14.1.11)
We may multiply both sides with R,
R = RbetbeQye, (14.1.12)
Problem 14.1. Relation to vector calculus In vector calculus, we learn that the velocity

F(t) = Z(t) of some particle at Z(¢) due to rotation about some axis & (where & is a unit vector)
with angular speed w is given by

Z(t) = T(t) = @(t) x (1), @

Wi, (14.1.13)

Remember that 2%(t) = R%(¢)z® and the cross product may be written in terms of the Levi-
Civita tensor (in 3D flat space). Show that eq. ([14.1.13) implies eq. ((14.1.12]) provided we
identify

0Q=-a. (14.1.14)
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Let us now express the kinetic energy in eq. (14.1.5)) in terms of 2¢. Employing eq. (14.1.12)),
1. ... . .
K = 5N”R“pezquqR“meJm"Q". (14.1.15)

Because of the orthogonality of the rotation matrices, R R*™ = jP™.

K = %Nijei”quejp"Q”. (14.1.16)
Next we exploit the identity
ePIEN" = 5164 — 61,07, (14.1.17)
to infer
K = % (N”éq" — N"q) QIO" = %quq”Q”, (14.1.18)
I =) m (26 2(nd™ = zfnzlu) - (14.1.19)

The 1% here is dubbed the moment-of-inertia tensor.

Problem 14.2. Compute the moment-of-intertia tensor (about the center-of-mass) for a tri-
atomic system which we shall approximate as composed of 1 point mass m; at

z(y = £(0,0,1); (14.1.20)
and 2 equal masses my at
mi 14
oy = —= (Etan(d),0,—1). 14.1.21
Q(Z:I:) My 2 ( an( )7 ) ) ( )

Verify that (0,0,0) is indeed the center-of-mass; and draw a figure to explain where these atoms
are located. O

Orbital angular momentum is

TUE) = €Y mpaf, (£)if,) (1) (14.1.22)

_ cabe Z m,, R (t)g?n) R (t)ﬁ?n) (14.1.23)
= m R ()Rl al (14.1.24)

From the co-factor expansion definition of the determinant, as well as the property of rotation
matrices that det R =1,

EabCRaprqRCl _ qul (14.1.25)
ccab par pba — pel ral. (14.1.26)
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This in turn tells us

JUt) = Z mnR“cepmceqlelgfn)ggn). (14.1.27)

Using eq. (|14.1.17)),

J(t) = ma(680} — 0755 Rl 2l (14.1.28)
= R* Z mn(f(’n)g?n)éd - gfn)gl(n))Ql (14.1.29)
= R™“I“O' = R*“J°. (14.1.30)
In matrix notation
J=RJ & R'J=7. (14.1.31)
KE for invertible moment-of-inertia tensor We now notice that, if the moment-of-
inertia tensor has an inverse, then
TN Tl = (IQ)TT7H(IQ) = QIO (14.1.32)
= QIQP. (14.1.33)
Recalling the expression for the kinetic energy in eq. , we see that
K= %ja(l‘l)“bjb. (14.1.34)
KE for non-invertible moment-of-inertia tensor Now, in a basis where N is diagonal,
such that
N® = diag (N', N*, N?); (14.1.35)
we have
I = diag (N? + N*, N' + N* N' + N?). (14.1.36)
Problem 14.3. Starting from eq. (14.1.37)), verify eq. (14.1.36). ]

We see that TrN = )" mnf%n) > 0. This in turn says the sum of the eigenvalues of N are
always non-negative; in fact, all the eigenvalues are non-negative, i.e., N® > 0. This in turn
means, if 1% is non-invertible, since 2 out of the 3 N’s appear in every diagonal entry of %
above, that means at least 2 out of 3 of them must be zero. This leaves only one non-zero
component, which we shall simply denote at the 3rd:

[ = diag (N*, N?,0), N' = N?=0. (14.1.37)
In such a situation, we have
1 1
K= 591[1191 + 5{22[2292 (14.1.38)
1 1)2 2\2 1 22 3 2}
_ - _ , 14.1.
= {T) + (0} = 5 {7 - () (14.1.39)
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14.2 Quantum

To quantize the rigid body dynamics, we shall treat the R% as a 3 x 3 matrix of Hermitian
operators. We will assume they commute among themselves [R%, RPY] = 0; but not with the
time derivatives [R®, RP] # 0. Moreover, the Z(,s — and, hence, the moment-of-inertia tensor
—remain as numbers. This scheme will ensure the positions Z,)(t) commute among themselves;
but not with their momentum.

We will in fact quantize the rigid body dynamics by appealing to the angular momentum
algebra:

[T, J°] = ie*Je. (14.2.1)
Because position must transform as a 3-vector under rotation, we must also have

[, 2,y = e af (14.2.2)

n)»
[J¢, R"] afy = ie®™ Rz, (14.2.3)

But since these {g?n)} are arbitrary, we deduce that the rotation operators are actually 3-vectors,
for a fixed d:

[J*, R™] = ie®™ R, (14.2.4)

In particular, when a = b, they commute with the angular momentum operators because the
Levi-Civita is fully anti-symmetric.

[J% R*] =0 (14.2.5)
This means when defining the J's as operators (cf. eq. (14.1.31])), namely
J* = J'R™, (14.2.6)

there is no operator-ordering ambiguity since the repeated index b means J*R*® = R®*J°. This
allows us to write down the Hamiltonian of the rotator system immediately.

Hamiltonian for invertible moment-of-inertia tensor Because energy is entirely
kinetic,
H= %ja(l‘l)“bjb. (14.2.7)
Hamiltonian for non-invertible moment-of-inertia tensor In a basis where
N® = diag (N', N*, N*); (14.2.8)
we have
[? = diag (N*+ N®, N' + N*, N' + N?). (14.2.9)

Setting N' = N? = 0,

1" = diag (N?, N?,0). (14.2.10)
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In turn,

1 2 2 1 > 2

H:W{(\Tl) +(7?%) }zm{ﬁ—(ﬁ) } (14.2.11)

Commutation Relations We now proceed to compute
[J“,Jb} = [Ja, JCRCb} = [J*, J]R® + J° [J“,Rd’] (14.2.12)
= i JIR? + e J R (14.2.13)
= ie®(JIR® — JIR®). (14.2.14)

In other words

[J, T"] = 0. (14.2.15)

In particular, J? and J? are compatible observables. Next,

(7, T%] = [T, J°R®] = [T, J) R + J¢ [T°, R] (14.2.16)
= [T J°R?| = J°[J°R**,R?] = J°[J°, R*] R** (14.2.17)
— i JC RP R = —j Je R4, (14.2.18)

We have arrived at the commutation relations for the [Js; they obey an angular-momentum-like
Lie algebra:

[-T% =J"] =ie™(-T°). (14.2.19)
Note, however, they are scalars under rotation because of eq. (14.2.15). On the other hand,
because rotations are orthogonal transformations,

JP=Jr=g°9 = J° (14.2.20)

To sum: The {72 = J2, 7%, J3} form a set of mutually compatible observables; with the Lie
algebras of J's and —J°s both obeying that of the 3D angular momenta. Their simultaneous
eigenstates are

JlIME)=TJ*JMK)=JJ+1)|J M K), (14.2.21)
JJMK)=M|J] MK), and TN MK)=K|J]MK); (14.2.22)
—J <MK <+/J, M, K independent. (14.2.23)

Choosing a basis where % = diag(I®, I, I?) is diagonal,
Jey2  (Jv?  (T7)

H = 14.2.24
oI+ T amv ol ( )
= ATJ*+ B(J*)* +C ((T*)? - (7Y)%) (14.2.25)
11 11 1 1 1
-+ B=——m— —— - - 14.2.2
i A o ar i ST ar T an ( 6)



Additionally,
(T = (J¥) = % (7)° + % (77)° (14.2.27)
TJE=TJ +iJ>% (14.2.28)

Energy estimates From eq. (14.2.24)) and the definition that I* ~ (mass) x (inter-atom
separation distance)?, we may estimate the rotation energy levels of a molecule to go as

E ~ (mya*) ™, (14.2.29)

where my is the typical mass of the nucleus (since that’s what dominates the mass of individual
atoms) and a is the typical size of the molecule itself.

Problem 14.4. Explain why

f2=§: ST U+ ME)(J M K], (14.2.30)
(73)2=§: Y EKNJMK)(JMK]|, (14.2.31)

J=1 —J<M,K<J

(ji)in Y VI +1) = (K+£1)(K£2)y/J(J+1) - K(K £1)

J=1 —J<M,K<J

X|JMK=+2)(JMK]|. (14.2.32)

Then use these results to diagonalize the Hamiltonian in eq. (14.2.24]) for J = 1. O

Problem 14.5. Toy model for triatomic molecule Find the Eotational energy levels of

the tri-atomic molecular system in Problem (14.2)) for a state where J?|J = 1) = J?|J =1) =

21J =1). ]
Wavefunctions See Weinberg for now.

15 Entanglement & Bell’s Inequalities: Spin-Half Sys-
tems; EPR Paradox

One of the key features of quantum mechanics that distinguishes it from its classical counterpart,
is the probabilistic character of its predictions. As we will now explore, the probabilistic character
of quantum mechanics is not mere randomness nor simply correlation — but entanglement. We
shall do so, following Sakurai and Napolitano [3], within the context of spin-half systems, which
involves the angular momentum generators

oi
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In the representation where o® is diagonal, the Pauli operators have the matrix representation

L_fo1 [0 —i s_[1 0
a_{lo], 0_[1' 0}, =y |- (15.0.2)

Suppose we begin with a spin-0 system, which then decays into two distinguishable spin-1/2
particles. This means we may write our state as |0 0; % %> and decompose it into the eigenstates
of the spin operators 7 - S and 7 - §” associated with the two decay products along the unit
radial direction n.

n(0, ¢) = (sin(f) cos(¢), sin(#) sin(¢), cos(h)) (15.0.3)
From the rules of addition of angular momentum, we may express the decay through the equation
005 5 = —= (I74) ® ) — [i-) ® [74)) (15.04)
= =) =—(|n n—) — |n— n 0.
) 2 2 \/5 Y

where the first and second slots refers respectively to the first and second decay product. We
will further suppose particle 1 and 2 flies off in opposite directions, so that we may measure
their spins along some chosen directions, once they have become well separated in space. The
possible outcomes of such a thought experiment would illustrate what quantum entanglement
is, and why it is a distinct concept from mere correlations.

Problem 15.1. If |2, 1) = |z+) and |z, 2) = |Z—) denotes the spin ‘up’ and ‘down’ states along
the zZ = (0,0, 1) direction, verify that the eigenstates of - S = n'S? are

&ty (M) = (5, A|A4) = (e cos (0/2),sin (0/2))" (15.0.5)
and
¢4 (@) = (3,A|7—) = (—e ?sin (6/2),cos (6/2)) " ; (15.0.6)
and that they obey the eigen-equation
(ﬁ : §) et = i%gi. (15.0.7)

According to equations ((15.0.5) and (|15.0.6)),

~i% cos —e " sin A - .
> [ A) { ¢ S?n (9;g§2> COZ (9/(29)/2) ] ) => [ZA) U =n,B). (15.0.8)

Verify that the inverse relationship is

12, +) = e®cos (0/2) |7, +) — € sin (0/2) |0, —), (15.0.9)
1Z,—) =sin(0/2) |n,+) + cos (6/2) |n, —) . (15.0.10)
We will employ these results in the discussion on entanglement below. O
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Measurements Suppose the S - % of the first particle is measured, and it is found to
be +1/2. Then we know that the state of the system must be |z, +). If, now, the 2nd particle’s

S -7 is measured. According to eq. m
1Z,+) ® |z, —) =sin(0/2) |2,+) ® |n,+) + cos (6/2) |2, +) ® |n, —) . (15.0.11)
That means the probability of obtaining +1/2 for the 2nd particle’s S - 7 is sin?(6/2) and the
probability of —1/2 is cos?(0/2).
On the other hand, if the first particle’s S - 2 were measured, and it were instead found to
be —1/2. Then according to eq. (15.0.9)), the state becomes
2,-) @[5, +) = @ cos (0/2) [2,-) @[, +) — ¥sin (6/2) |5, —) @ 7, ). (15.012)

If the S - i of the 2nd particle is then measured, the probability of obtaining +1/2 is cos2(6/2)
and —1/2 is sin?(0/2).

Problem 15.2. Suppose we now have

n = (sin @ cos ¢, sin 0 sin ¢, cos ) , (15.0.13)
n' = (sin# cos ¢, sinf sin g’ cost’). (15.0.14)
Use equations ((15.0.9)) and (15.0.10|) to verify, the singlet state in eq. (15.0.4)) can be expressed

as

11

(9= cos (/2) sin (6" /2) — cos (0’ /2) sin (0/2)
'@~ cos (6/2) cos (8 /2) + sin (#'/2) sin 0/2)

1 _ y
+E|n ) ® |[n'—) e (
- % n—) @ |n'+) e“z’( 1¢'=9) cos (A/2) cos (#'/2) + sin (8’ /2) sin (/2) )
1 o 7 7 /
+ 7 n—) ) el? ( (#'=9) cos (0/2) sin (6 /2) — cos (6'/2) sin (0/2)) . (15.0.15)

Write down the probabilities P(n+,7n'+), P(n+,n'—), P(n—,n'+), and P(n—,n'—). Since the
coordinate system is arbitrary, and since there are only two vectors in this problem, you may
assume they both lie on the (1, 3) plane; use this observation to show that all these probabilities
depend only on the angle § between 7 and 7'; namely, 6 = arccos(n - n'). O

Bell’s Inequality How does particle 2 ‘know’ what was being measured at particle 17
Once particle 1’s Z- S is measured to be +1/2, for instance, then the z- S of particle 2 must turn
out to be —1/2 — even if the time difference in the measurements of particles 1 and 2 were shorter
than the light crossing time between them. More generally, equations and
indicate the probability of measuring ‘up’ or ’down’ for particle 2’s spin component along some
direction n’ depends (instaneously) on how it is oriented relative to the spin direction measured
for particle 1. This apparent instant 'action-at-a-distance’ makes many physicists — including
Einstein himself — very uncomfortable, because it does not sit well with relativity.
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Is it possible for a ’local’ theory to reproduce the predictions of quantum mechanics? Suppose
such a theory is able to produce seemingly probabilistic outcomes of spin, consistent with the
predictions of quantum mechanics. We will remain agnostic about the underlying mechanism
of how it produces outcomes that appears random; but we will assume the outcome is already
fixed once the initial spin—0 particle decays. This is to ensure the theory is a ’local’ one:
for, if the outcome were not already predetermined, it would mean the measurement process
somehow allows for a instantaneous influence-at-a-distance (for e.g., observing z+ for particle
1 immediately causes Z— for particle 2). As we shall see, this ‘Einstein locality principle’ leads
us to inequalities (named after its discoverer John Bell) involving the probabilities of obtaining
various results that are in fact violated by quantum mechanics itself. In other words, there are
observable differences between such ‘local’ theories and quantum mechanics.

To see this, we need to consider three distinct detector orientations, which we shall denote
a, b, and ¢. Such local theories, in order to be consistent with quantum mechanics, do not
allow simultaneous measurements of spin along different directions. However, we shall assume
that particle 1 (and 2), when produced, will lead to definite outcomes for the spins measured
along @, 3, and ¢. Let’s say out of a total N events, N; produce particle 1 with the definite
outcome G+, b+,c+ and particle 2 with definition outcome a—,b—,c—; Ny with @+, b+,c— and
a—,b—,c+; etc —so that N =), N;. (Note that the sum of particle 1 and 2’s spin components
must be zero; so we actually really only need to specify particle 1’s outcome.)

No. of events | Decay Particle 1 | Decay Particle 2
N a+, b+, c+ a—,b—,c—
N, G+, b+, o— a—,b—, 0
Ny at,b—, e+ a—, b+, o
N, at,b—, - a—, b+, ¢t
Ns a—, b+, o+ G+, b—,0—
N a—, b+, 0— G+, b—, CF
N, a—,b—, ot G+, b+, o—
Ny a—b—, 0 G+, b+, ot

‘We may see that the probability of obtaining spin up along a for particle 1; and spin up along
b for particle 2 is

N3+N4_ N3+N4‘

P@+b+) = = : 15.0.16
( ) SN, N ( )
while the probability for spin up along @ for 1 and spin up along ¢ for 2 is
SO Ny + N.
P(a+o4) = 20 (15.0.17)
N
and probability for spin up along ¢ for 1 and b for 2 is
N3 + N
P@+7c+) = % (15.0.18)
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Since the {JV;} are non-negative, and hence N3 + Ny < Ny + N3 + Ny + N7, this hands us an
example of Bell’s inequalities:

P(a+,b+) < P(a+,7+) + P(c+, b+). (15.0.19)
See Sakurai [3] eq. (3.10.9), and the more detailed discussion that led up to it.

Problem 15.3. For simplicity, assume a, b and @ all lie on the (1,3) plane; and let 6; denote the
angle between @ and b and 6 denote the angle between @ and ¢. (Note: 6, € [0, 7] and 6, € [0, 7].)
Compute P(a+, b+) P(a+,c+), and P(c+, b+) in accordance to quantum mechanics, and figure
out what region on the (6;,6s) Bell’s inequality is violated. Hint: See Problem ([15.2)).

Bonus: Can you find a Bell’s inequality different from that in eq. (15.0.19)7 That is, find
probabilities for different set of observables (e.g., (a+, b—), (a— b+) (¢+,b—), etc.) that satisfy
their own inequalities. Does it get violated by quantum mechanics? ]

Correlation vs Quantum Entanglement Why did we have to examine the case where
there are three distinct detector orientations? Suppose we had only examined the probability
of obtaining P(@ + b+), P(d@ + b—), P(@ — b+), and P(@ — b—). Let us again assume we had a
theory that appears probabilistic but is local in the sense that, once the decay particles 1 and
2 have been produced, their states are fixed. We may then draw a table of outcomes as we did
before; where Njc1.234y is the number of events that yield the spin results of particles 1 and 2
displayed in the corresponding 2nd and 3rd columns.

No. of events | Decay Particle 1 | Decay Particle 2 | Probability | Probability
N, a+, b+ a—,b— P(a+,b—) | P(b+,a—)
Ny a+, b— a—, b+ P(a+,b+) | P(b—,a-)
N; a—, b+ a+, b— P(a—,b-) | P(b+,a+)
N, -, a+, b+ P(a—,b+) | P(b—,a+)

Table (15).

Because there are only 2 spin orientations considered here, we see that each possible outcome
is associated with a distinct probability. Contrast this with the 3 orientation case above, where
P(a + b+) P(a +c+), and P(c+ b+) involved more than one N; each. Therefore, in this 2
detector orientations case, if the underlying theory is able to produce the same probabilities
you’ve computed in Problem ([15.2)), then it would be indistinguishable from quantum mechanics
— as far as this simple system is concerned.

Problem 15.4. Identify the N;c(; 234y in Table ([15)) with the probabilities computed in Problem
(115.2]). ]

Einstein—Podolsky—Rosen(-Bohm) Paradox & Causality What we have just wit-
nessed is the entanglement between the spin properties of particle 1 and 2, produced upon the
decay of the original spin 0 object.
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16 Path Integrals

Path integrals, sometimes also known as functional integrals, provide an alternate (but equiv-
alent) formulation of quantum mechanics. This was pioneered by Richard Feynman as part of
his PhD thesisE-] Path integration is usually not the most practical way to solve quantum me-
chanical problems, but the perspective it offers is quite distinct from the Schrodinger-Heisenberg
one — one no longer deals with operators and the recovery of classical mechanics follows almost
immediately from the stationary phase approximation. Also, in Quantum Field Theory (QFT),
path integrals become an essential tool when dealing with the quantization of gauge theories[?]

As we will demonstrate, the key object is the quantum mechanical amplitude for a particle
to propagate from (¢, ") to (t, Z):

w12y = [ o7 [presi [ (5 d - mao.m) @] asow
where U is the unitary time-evolution operator which obeys Schrodinger’s equation
iU (t,t") = HU(t,t) (16.0.2)
with the initial condition
Ult=t)=1L (16.0.3)

The right hand side of eq. (16.0.1)) is an integration over all possible trajectories {q(s)} — hence,
path integration — that begins at (¢, 2”) and ends at (¢, Z). The integration over 'is unconstrained.
The ¢'is the position coordinate; p is its momentum; and H is the Hamiltonian of the dynamics.
That the quantum mechanical amplitude is phrased as the sum over all possible paths, i.e.,
Feynman’s formulation of quantum mechanics, is to be contrasted against the perspective of the
usual Schrodinger’s wave function.

Problem 16.1. If K(t,#;t,7") is the quantum mechanical amplitude (aka path integral) from
(t',2) to (t,2),

Kt z,t', 7)) = (Z|Ut, )| 2); (16.0.4)
explain why
(10, — H)GH(t, &, 7)) = id(t — t")oP)(z — &), (16.0.5)
if
G, o0, @) =0t —t)K(t,z;t, 7). (16.0.6)
Here, ©(z) =1 for z > 0 and = 0 for z < 0. O

UNorbert Wiener came up with the Euclidean version of the path integral before Feynman.
12Some books dedicated to path integrals are: Feynman and Hibbs [4]; Schulman [5]; and Kleinert [6].
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Lagrangian mechanics As is often the case, the H is quadratic in momentum; for e.g.,

H(G.p) = ’; + V(@) (16.0.7)

e may ‘complete-the-square’ within the exponent p - (j — H,

NG 4

_ (% _ ﬁ%) 4 %;2 —V(@. (16.0.9)

The integration over p can be recognized as an overall multiplicative factor.

Fi-L v - (i - ﬂ%) L v (16.0.5)

F|UE )| 7 = /:ch/ Dpexp [z /t/t (ﬁ(s) Gls) — 1; - V@) ds] (16.0.10)

t — ‘_,2
. p q 1oy
—| —=—-vVv2: —q — d 16.0.11
X exp z/t/ (\/5 \/_2> +2q V(q) | ds (16.0.11)

=N chfeXp {z /t,t (%cj?(s) — V(cj(s))) ds] ; (16.0.12)
where

N = /D{ﬁp*} exp [—i/t/tﬁads] . (16.0.13)

In other words, in many cases of interest, the path integral reduces to one governed by the
Lagrangian of the dynamics of the particle.

(E U T) =N / " Diexplis]. (16.0.14)

S = /t/t L (cj, cj) ds. (16.0.15)

In this sense, we have re-discovered Lagrangian mechanics from the Hamiltonian formulation of
quantum mechanics.

13We have deliberately set m = 1, because the same form of the Hamiltonian appears in relativistic QF T where
m does not appear like in the non-relativistic p2/(2m).
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16.1 Example: Free Particle in Flat Euclidean Space

We will shortly begin to discuss in more detail what path integration really means. But let us
first tackle the simplest such example: the free particle.

- P’ - m -
H(q,p) = o & L(q,q) = 54 (16.1.1)

It is possible to evaluate the quantum mechanical amplitude directly. Since H is time-independent
here,

<a? exp [—i%(t —t’)} a?’> = /% <97: exp [—i%(t —t’)} ‘ E> (k| (16.1.2)
:/%exp [—iEth_mt/ +ik- (-1 (16.1.3)

We can then complete the square

2
t—t' -, - t—t'- 1 [ 2m m
2ok (f—7) =\ ——k— =/ F-7) s - (F-&)?  (16.14
om (7=7) { om "= @ $>} - T) (1614
2

t—t' (- 1 2m m
= k— = T—1)p — (T — 7). 16.1.5
om { 2t @ x)} i@ %) (16.1.5)
And use analytic continuation of
/ APz exp[—pz?) = (x/p)P/? (16.1.6)
RD

to deduce, for t — ¢ > 0 and m > 0,

<a‘:’ :f’> = exp {ﬁ(f— f’)2] e~i5P (ﬁ) D/2; (16.1.7)

where the square root is the positive one.

o[ L]

Problem 16.2. Explain why, if £ > 0,

/ dz exp(Fi€2?) = i \/E (16.1.8)
R §

where the square root is the positive one. (Hint: this requires complex analysis and Jordan’s
lemma.) Why does this explain the phase factor e "?/% in eq. (16.1.9])?
Now explain why, for arbitrary ¢ — ¢/,

. D/2
<f f’> = exp {%(f— f’)2] e~tiDsenlt=t] (LO . (16.1.9)

t 27|t — ¢/
The sgn[zr] = +1 whenever z > 0; and sgn[z] = —1 whenever z < 0. O

exp [—i%(t - t’)}
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We may also start from the path integral itself.

@ to .
N [ Dexp [z/ E_st} (16.1.10)
j‘/ t/
We will perform a change-of-variables

d(s) = @.(s) +&(s) (16.1.11)

such that ¢.(s) obeys the ‘classical trajectory’

G(s) =0, @(t) =7, G(t) = &. (16.1.12)
In fact, the solution is
S L, s—=t
Ge(s) ="+ — (Z—). (16.1.13)

Since the ¢{s) in the path integral is defined to go from (¢, &) to (¢, Z), that means the remainder
¢ has to be subject to the (Dirichlet) boundary conditions

— — —

§ty=0 and  £(t)=0. (16.1.14)

Let us focus on the action occurring within the path integral.

S = Mg tT@Jrf?)?ds (16.1.15)
v 2 v 2
Using eq. (16.1.12),
5 t@‘ads:/tﬂ((f_f/)gmcjc-&?)ds (16.1.16)
v 2 p 2 \\t—v
G b g [ (e d)a oo

We have integrated-by-parts the second term Wlthln the integral because, according to the bound-
ary conditions in eq. ((16.1.14) obeyed by the 5 , the surface terms actually vanish. Moreover,
the classical ODE obeyed by . (cf. eq. m ) also eliminates the ¢ - f term.

m((Z—2) m [P
= —— 4 — ds. 16.1.1
S 5 +2/t/§ s (16.1.18)

To sum: the action occurring within the free particle path integral receives two contributions,
one ‘classical’ portion (the first term on the RHS) due to a particle obeying constant acceleration
moving from (¢, 2") to (¢, Z); and another ‘quantum’ portion that propagates from (¢, 6) to (¢, 6)
Note that since ¢, is a fixed (i.e., classical) trajectory, it is a constant as far as the integration
over paths is concerned:

D§ = DE, (16.1.19)



At this point, inserting eq. (16.1.18]) into the right hand side of eq. (16.0.14)), our path integral

1S

-2 (2 )2
<a_c’ exp [—ip—m(t — t')] a_c'/> = N'exp [%%} (16.1.20)
o m [t
N/;/\/[ DE exp [25/ Ezds] : (16.1.21)
0 t!

We may in fact determine N/ — without directly evaluating the <6 U] 6> — up to an overall

multiplicative phase by recalling the transition amplitude may be regarded as the matrix element
of the unitary time evolution operator. In particular,

51 (f—gj):/ de’<£ f> <gj
RD

exp [—i%(t - t’)]

N

f’> (16.1.22)

(w2 (o 2
- / A7 N )P exp |1 E =T (,y 7) (16.1.23)
RD 2 t — t
= N[t ] exp | (2 — ) / AP e DT (16.1.24)
2t — t) RD
Recalling the integral representation of the Dirac delta-function, we arrive at
m D/2

"N"==——= ) 16.1.25
V1= (5ra) (16.1.25

At this point, we gather from eq. ((16.1.20)),
9 D/2 . =2 7\2
<:z:’ exp [—z’QP—m(t - t’)} 5;'> _ () (%) exp [%M] (16.1.26)

t—t t—t
Comparison between equations (16.1.9) and ((16.1.26]) allows us to see that the exponent exp(im(f —

7')?) in the former comes entirely from the classical trajectory; and also lets us identify the phase
to be

exp(id(t, 1)) = e 1P, (16.1.27)
Recall from eq. that, up to an overall multiplicative factor,
o ‘m [t 5 . =
| Déexy [zg/ﬂ £ ds} x <0|U(t,t)|0> (16.1.28)
~ p° N | &
= <0 exp (—z%(t —t )) 0 > . (16.1.29)

This is of course what we did earlier, but now with # = @ = 0. In fact, we may re-write eq.

(116.1.9) as

<f exp {—i%(t—t’)} f> = e |5 (ZZI) (f-f’)?} <6 exp {—i%(t—t’) ’6>

—

P N —i™D m b 0. m [t
exp {—z%(t —t )} ‘ 0> =e "4 (W) x [ DEexp {23/1«/ 13 ds} . (16.1.30)
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16.2 Path Integrals From Time-Independent Hamiltonians

We now turn to a more systematic derivation of the path integral

<f :z”> - /;Dcf/DﬁeXp [z /t,t ds (ﬁ.cj— H[ﬁ(s),j’(s)])} . (16.2.1)

For technical simplicity we will assume H is time independent; we will also set the mass of the
particle to unity for technical convenience. The time independence of H means we may write

the quantum transition amplitude in eq. (16.2.1)) as

—iH(t—t")

e

<:,17 }e_iH(t_t/) 35"> = lim <:E’ |e_iH(‘StNMtN‘l+'“+5t2+5t1)‘ f’> , i+ +oty=t -t
N—oo
— ]\}I_I};O » qu—»N o dD(TQ <f‘e*iH5tN‘ (TN> <q—»N ‘efiHétN,l ‘ (TN71>
X (Gn_y [e7 =2 Gy o) (G5 e o) (g e ) (16.2.2)

(All the time intervals are equal dt; = §t, but we put a label on them to help us distinguish
between the exponential factors arising from the different time slices.) Now, we will assume that
the position and momentum operators (X and P) within H has been arranged such that

<Jf{C§Jﬂ‘E>:J¥<@E>(ﬂE>. (16.2.3)

This is not always true, but is certainly so for the common form of the Hamiltonian

1= S
H:§W+Vuy (16.2.4)
With this assumption, and up to order dt,

<Cfi+1 |6 ‘Ti>
— (G |1 iH (X, P) ot + O(38%)

- dDEz <_,'
- (27T)D ql+l

—iHt;

@> (16.2.5)

B (5

1-¢£{<§,ﬁ)5@4—0@%%

@> (16.2.6)

- [ Ok (i (g E) 060 @l B3y a627)
= / % exp (z/; (i1 — @) —iH (@H, Ez) 5ti) ~ (16.2.8)

This in turn implies eq. ((16.2.2)) turns into

dPk dPk
7Y = i Do D*/n N ! 16.2.

% eiEN'(f*(TN)*iH(fJ;N)(;tN eiEN—1-(JN*JN—l)*iH(KTN,EN—l)&Nq

<f )e—iH(t—t’)

X eiEN—z'(q_'N—l—(TN—z)—iH(fTN—LEN—z)tstN—z eiE1'(172_5?,)_7;}1((72,];1)5751
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his is what we mean by the path integration measures f; Dq [ Dp in eq. (16.2.1). Notice
there is one more momentum than position integration, because there are no constraints on the

momentum on the final /initial time slices.

Provided the operator ordering assumption in eq. holds, the quantum
mechanical transition amplitude for a particle to propagate from &’ to Z can be viewed
as the limit of the continuous product over all times the exponential exp(i{p’- ¢ —
H(q,p)}6t), integrated over all momentum and positions at each time slice — except
the end ¢s are held fixed at 7 and 7.

Stationary Phase Approximation & Semi-Classical Limit For an ordinary integral,
the Riemann—Lebesgue lemma tells us, if

f(:c)z/ exp(izp(t))dt, (16.2.10)

where a and b are arbitrary real numbers and ¢(t) is continuously differentiable and is not
constant over a finite region within the interval ¢ € [a, b]. Then

flz — +00) = 0. (16.2.11)

We may understand this heuristically. As x — 0o, the exponential oscillates wildly; and we may
in fact break the interval ¢ € [a, b] into small enough segments t € [t;, t;11] so that (¢) is roughly
a linear function of ¢ in each of them and such that [t;, ;1] corresponds exactly to one period
of exp(ixp(t)) ~ exp(iz(a + bt)). Then,

tit1
/ exp(iz(a + bt))dt =0 (16.2.12)
t;

as © — +00. (This is also why there is a requirement that ¢ be non-constant everywhere within
t € [a,b]; otherwise the exponential will not oscillate there, and there is no period to integrate
over to produce a zero result.)

General Formula In this limit as * — 400, we may seek the leading behavior of this
integral by searching for the point ¢y such that

¢ (to) = 0. (16.2.13)
For, in that region the ¢ is varies slower than first power in ¢, and
b b 1
/ explizo(t))dt — / exp <zx {go(to) 3@t — o)+ . }) dt (16.2.14)

~ eize(to) / exp (i(x/Q)gp”(to)TQ) dr. (16.2.15)
R

4 There are subtleties related to this ‘time-slicing’ discretization approach to the path integral — see Kleinert [6]
for more details. For example, the singular 1/r potential occurring within the Coulomb/Hydrogen-like problem
yields more and more singular behavior at higher orders in dt.
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Using the result in eq. (16.1.6)) we see that this stationary phase approximation tells us

lim bex (izp(t))dt ~ ex [zx (t )—HES n[p” (¢ )]] o
pltre p |txeto 4g ¥ (lo 20" (to)]

T—+00 a

(16.2.16)

EOne of the conceptual advantages of using the path integral in eq. to discuss the
quantum mechanical transition amplitude is the ease in which we may define the classical limit.
A physical process is (semi-)classical when we may associate with it position ¢ and momentum
p, such that the exponent in eq. has magnitude much greater than unity, in units where
h=1:

t
/ (ﬁ- q— H(cf,ﬁ)) ds > 1. (16.2.17)
tl

When this criteria is filled, we may employ the stationary phase approximation to assert that
the path integral is dominated by the stationary point, in the following sense. Let us consider

P=7+0Z, (16.2.18)
P =T+ ol (16.2.19)

where §Z and 01l are to be considered small perturbations relative to Z and II respectively.
Then,

[ (ﬁ' 7- Hﬁ@) ds = /t,t { <ﬁ Z-H(Z. ﬁ)) (16.2.20)

4 o1 - (Z“- Z—Ié) _ 67 (ﬁ+ g—g) ) (522,5ﬁ2,525ﬁ) }ds+ [5Zﬁ}

We should view this step as the infinite dimensional version of the 1D one in eq. .
Note that the last term is actually zero because of the boundary condition implied by the path
integral in eq. (16.0.1), that Z(s=t)==Tand Z(s=t) =1 —ie., Z is fixed at the end points,
and thus 67 vanishes there. At this point, we make the key observation: the stationary point
occurs when the first order terms proportional to SII and 6Z vanish. These yield the classical
Hamilton’s equations:

7 = 6_[37 and = _8_]{.

oIl 0Z

Just as the dominant contribution to the integral in eq. arises from the neighborhood

where ¢'(tp) = 0, we see that the quantum mechanical amplitude for a particle to propagate

from 2’ to Z is dominated by the classical solution — i.e., obeying Hamilton’s equations — subject
to the boundary conditions Z(t) = # and Z(t') = Z'.

(16.2.21)

151f there is no such tq € [a, b] such that ¢'(tg) = 0, then f(z — +0o0) ~ 1/x; i.e., the integral will decay more
quickly than the case where a stationary point exists.
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Quadratic-in-momentum & Lagrangian formulation The situation where H takes
the form in eq. (16.2.4)) occurs frequently. If it holds, we may in fact ‘complete-the-square’ and
obtain the Lagrangian formulation of the path integral

<a? e > :./\f/;DgfeXp {z /; dsL ((f, cj)] , (16.2.22)

L (q-; ;) — 5§ G- H <qj cj’) . (16.2.23)

—iH (t—t") f’

The first step is to recognize, if the Hamilton H does take the form in eq. (16.2.4) (this may
involve setting the mass to unity), then the exponential involving k; in eq. (16.2.9) can be

written as
s G — @ R
exp (z {k : % -5 - V(qj-ﬂ)} 5ti> (16.2.24)

R O e AN TSy ) S
= exp (’L {—5 (kZ - T) + Tt? - V(QiJrl) (5251 . (16225)

Integrating over k; using eq. (16.1.6), and recognizing (gi+1 — ¢i)/dt; as the finite difference
approximation of the velocity ¢(t;), we see that eq. ((16.2.9)) now reads

N _;mD
= | —iH (t—t") *’> = i ba Dz _c Sl g ).
<x ‘e T Aim - d¥gn...d7 ¢ H ((2%5@-)13/2 exp (l {Q%(tz) Vi(Giy1) poti ) |5

Gt)="5—" G=¢  ad  Gya =7 (16.2.26)

(The square root is the positive one.) The shorthand for this expression is eq. (16.2.22]).

Problem 16.3. Free Particle Path Integral Employ the result in eq. (16.2.26) to
evaluate the path integral for the free particle, where V' = 0. In other words, recover the result
in eq. ((16.1.9). Hint: You may need to re-arrange the exponents; start integrating from g5, then
q3, etc. Also remember all the dt; = 6t are the same. ]

Schrodinger’s Equation We may shift the final time ¢ by an infinitesimal d¢, and
employ the result in eq. (16.2.26]) by treating the final time interval as 6ty = dt.

— 45D (% — gnr1)? R - —iH (t—t")
=g /RD v (1 {E555 - v} ) (v

—12
o —z"D D~ . 2 —
- ”27rd /]RDd exp(2d>(1 iV(Z )dt—i—(’)(dt))< +Z e

—eiZD\/g /RDqufexp( ) (1 - V(@) + 0(ar)) (Vi + e

— —1 —t
<$ ‘e iH (t+dt—t")

)
")
)

—iH(t—t')

—iH(t—t)
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- ﬂD\[ /RD d7q exp (—(=i)g”) (1 - iV(@)dt + O(dr?))

(1 +V2dt§ Vi + = (2dt) g0, 0, + O(dt3/2)) <

e—zH(t t )

= —”D\/7 / a” _"exp )6'2) <1 +V2dtq - Vi + (dt)g" ™01, 01, — iV (F)dt + O(dt3/2)>
RD

x (7

e—zH(t t')

7 > . (16.2.27)

We have
/D dPF exp (i7?) = /7"t T. (16.2.28)
R
Additionally, because €”¢ is odd in ¢,
/D d”¢ exp (iq?) ¢ = 0; (16.2.29)
R
whereas
/ i 4 exp (iq?) ¢*¢" = As™; (16.2.30)
R

where A can be obtained by contracting both sides with respect to d,p.

/ d”q exp (iq?) §> = A- D (16.2.31)
RD
D
—i0) / d”q exp (iAg"?) — oy | =D-A (16.2.32)
RD A=l A A=1
Therefore
/ dPq exp (iq?) i — < ) \/_ 6% = \/_ 5. (16.2.33)
RD D
Altogether, we now have
(7| 7y = (7|em #1007 + at, (7|e 0| 7 ) + O(dr?)
1= - /
= (1 + idt {§v§ — V(f)} + 0(dt3/2)) <:73 et =) f> (16.2.34)

Equating the order d¢ terms on both sides, we obtain Schrédinger’s equation:
f> - <——v2 + V(f)> <
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i6y (7 |e10-0)

e > . (16.2.35)



In the other words, the time-sliced definition of the path integral obeys the Schrodinger’s equa-
tion.

Heisenberg Picture Within the Heisenberg picture, recall that the position operator
Xpu(t) is time-dependent (unless it commutes with the Hamiltonian). Therefore, so are its

eigenkets. According to eq. (4.0.23)),
7, t)y = Ul(t, t0)"|7) . (16.2.36)
We see that the path integral in eq. (|16.0.1)) can be expressed as

T t
H(f,t|f’,t’>H:/ D@/Dﬁexp {z/ (ﬁ-q— H(cj,@) ds] (16.2.37)
i t/

because
n (&) g = (Z|U o) U o)t &) (16.2.38)
= (Z|U(t,to)U(to, t)| 7y = (Z|U(t, )| 7). (16.2.39)
We have used the facts (cf. equations and (3.0.12)) that
Ulty, o) = Ulta, ty) (16.2.40)
and
Ulty, to)U(t, t3) = Ulty, ts). (16.2.41)

Problem 16.4. What is

T t 1. z s 1.
/dDZ/ Dqexp {z/ (ﬁcfz - V(d)) ds] / Dq exp {z/ (2 7
zZ s ' t’

16.2.1 General Properties

|
L)
|
=
Y
~—
N——
1
)
—~
—_
D
[N}
H~
[\
~—

Energy Eigenstates If we can perform the path integral exactly, this amounts to solving for
the energy eigenfunctions, as can be seen by inserting the completeness relation ) |E,)(E,| = I:

u (Tt 2 )y = (*|exp[—iH(t — ]| &) (16.2.43)

= Z Z| E,) (E,| &) e Enlt=t) (16.2.44)

H|E,) = En |Ey) (16.2.45)

Partition Function If we require that the particle start and end at the same point ¥ =

7' = Z, and then integrate over all space, we obtain the one-particle partition function:

/dDz (74| 2,1, Z/dD*E@ (7] B,) e—iEn(t—t)
—Z Bt (16.2.46)
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Green’s function and Determinants Assume for the moment that p > 0, then consider

0 e—iEnT—,u,T T=00
/ dre ™ (Z|exp[—iH7]|Z) = Y (| E,) (Eo| ¥) (—) (16.2.47)
0 n _ZE” —H =0
(7] En) (En| 7')
= 16.2.48
; uw+ ik, ( )

We should be able to analytic continue the p from real to “almost” purely imaginary p —
i(pn+407), the 0T ensuring convergence of the integral. Then we have

GrlZ, 25 ] = z/ drel+io” )T( lexp[—iHT]| Z) (16.2.49)
*\E /= 1 -
= = _ . 16.2.
Z - —z0+ e (16.2.50)

Notice, when viewed as a complex function of u, this object has simple poles at the energy
eigenvalues p = E, — i0". Furthermore, if H is the Hamiltonian in the position rep, we then
have the Green’s function of the operator H — p:

(H_p) GelZ, g, ] = Z<f|En) (En| Z') (16.2.51)

= 5D[x - 7. (16.2.52)

Note that (E, —w)/(E, —w —i0") = (E, —w)/(E, —w) +ind[E, — w|(E, —w) = 1, because
20(z) = 0. In addition, if we trace over the positions and recall that the states |E,) are of unit
norm,

1 1
AP xGrlZ, T 1] = ) . 16.2.53

Operator Insertions If we ‘insert’” an operator Oy(s) inside the transition amplitude
u (T, t| 2, t')y, where t > s > t/, let us show that — provided O is diagonal in the position
representation, namely

H<Z,S

where the O on the right hand side takes the same form as that on the left except the position
operator X has been replaced with Z' (or 2’) — we have:

i (@, |On(s)| 7, ) /Dq/DpO )exp( /t/t{ﬁ-é—H[ﬁ,(ﬂ}dr), (16.2.55)

t>s>t. (16.2.56)

On(X; 3)‘ 7, S>H —0(z5)0P) (7 - 7, (16.2.54)

The analog of this object in Quantum Field Theory occurs frequently. Let us insert the
Heisenberg-picture version of the completeness relation, i.e., eq. (4.0.25)), on the left and right
of OH

1 (7,1 |On(s)| 7, 1)y
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/dD / APZ 4 (Z, 4 2, 8)y 1 (7,5 |Ou(s)| 2, 8)y 1 (2, | &)y (16.2.57)
R

RD D
:/ dDz/ 0P 4 (7,1 2, 8),; Ou(: )6 (Z = ) (2, 8| &, 1), (16.2.58)
RD RD
/ H < 2, S>H OH(g, S)H <§,S f/,t/>H . (16259)
If we now exploit eq. ((16.2.9),

i (Z,t|Ou(s)]| 2ty (16.2.60)

d k

IERT D N 1

D D7
X lim APy, ... dP / d kD.. d !

N’'—o0 RD 277')
X APz O(z;s)
RD
> ei’;N'(fﬂTN)*iH(fvEN)&N61'EN71'(@N*(TNfl)*iH(ffN,ENfl)tsthl

% eiIZN—T((fN—l*CTN—Q)*iH(fTN—l,]ZN—2)§tN—2 eik‘l'(é’sz)*iH(tié,El)tsh

X eiggv/'(gl_ffN/)_iH( )6t§\;/€ kN/ (‘7]\7/_Tlel)_iH(‘?N/7k5;\[/,1)5t3\7171
X eik;\ﬂ_z'((fl\ﬂ_l*(TIN/_Q)fiH(qN/_I7k§V1_2)5t§\11_2 o 6iEi~(%—f’)—iH((f2,Ei)(5ti

t—s=0ty+ -+ 0ty s—t' =0ty + -+ 0t).

If O were simply the identity, we’d recover eq. . But with O present this merely means

we’d have to, at the s-time-slice, also integrate over it. That is, eq. is the continuum
limit of eq. .

Energy Eigenstates Expectation Values in Heisenberg Picture We may express
the expectation value of some operator O with respect to an energy eigenket state in terms of
path integrals. We will continue to assume eq. holds; i.e., O is diagonal in the position
representation. Specifically, keeping in mind eq. ((16.2.55)),

[0 dPZ [ dPF (E| 2) 1 (2, 61 |0n()| ¥, ta)ys (7| E)
<E t1| E> t2>H 7

u (Bt B )y /dD / AdPF (B| %) g (T, 11| 7, ta)y (@) E); (16.2.62)
RD RD

(E|O| E) = (16.2.61)

where ?; 5 are arbitrary (as long as they are not equal to t) and the energy eigen-functions (7| E)
are written in the Schrodinger picture. The situation in eq. occurs frequently within
QFT, particularly when |E) refers to the vacuum state.

Using eq. m we begin with the numerator on the right hand side of eq. m

/dD / A7 (B Z) u (T, t, |Ou(t)| ¥, ta)y (& E) (16.2.63)
RD RD

:/ dD:i:‘/ APF y (B 11| 7, t1) wu (T, 61 |Oa(t)| ¥, ta)y 1 (T ta| By to) u (16.2.64)
RD RD
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Next we employ the Heisenberg-picture completeness relation in eq. (4.0.25)).

/de/ APF (B|2) w (%t |On(D)| @, ta)y (@ E) = 1 (B, 1 [Ou(t)| Eota) w (16.2.65)
RD RD

Now, let us recall equations (4.0.9)) and (4.0.23) to return to the Schrodinger picture.

/ dPz / AP (B| %) u (T, |Ou(t)| 7, to)y (7| E) (16.2.66)
RD RD

<E| —iE(t1—to) e’LEt to)O —iE(t—to) ZE(tQ to) ‘E> (16267)
= PRI O |E) = (B| e Phim0)eiPl200) | E) (B| O |E) (16.2.68)
= w (B, t| E.ty) u- (E|O|E). (16.2.69)

Dividing both sides by y (F,t1| E,ts) g, we arrive at eq. ((16.2.61). Moreover, when we set
O =T on both sides, we have also recover the representation in eq. (|16.2.62)).

For time-independent H, the energy eigenstate expectation value of some operator
O in the Schrodinger picture can be expressed as a ratio of path integrals integrated
against the energy-eigenfunctions at the initial and final times — with O inserted in
the numerator path integral.

Problem 16.5. Time-Ordered Products from Path Integrals Show that operator
insertions within the path integral, namely

/;Dq“/ bpexp (Z /t,t {ﬁ' q- H[‘f’ﬂ} ds) A(s)B(s")C(s") ... (16.2.70)
= w (%t T {Au(s)Bu(s)Culs") ...} & )y (16.2.71)

where on the right hand side Ay, By, Cy, ... are arbitrary Heisenberg-picture operators diag-
onal in the position representation; and A, B, C, ... on the left-hand-side correspond to their
complex-number counterparts; and ¢ > (s,s,s”,...) > t’. Whereas, T means the operators
within the curly brackets are arranged such that the ones with later times stand on the right.
For instance, if sy > s1, then

T {Au(s1)Bu(s2)} = Bu(s2)Au(s1); (16.2.72)
or, if s > s > s, then
T {AH(S)BH<5/)CH(S”)} = CH<S”)AH(S)BH(SI). (16273)

Hint: Insert completeness relations using the position eigenkets in the Heisenberg-picture. Such
“correlation functions” are central objects in QFT; for instance, through the Lehmann-Symanzik-
Zimmermann reduction, one may obtain the quantum scattering amplitude of n particles. [
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16.2.2 Free Particle

We have already worked out the free particle path integral, so let us simply summarize the

various representations here. From equations ((16.1.3) and (|16.1.9):

z t . ]52
<f f’> = / qu/ Dp'exp [z/ (ﬁ q— 5) ds} (16.2.74)
7 %

T t
:N/ Dexp [2/ %&ds} (16.2.75)
ik t/

exp l—z‘%(t - t’)]

_/ dPk m (7 — —»/)_ 'E(t—t/) (16.2.76)
~ Jro (2m)P Xp ) -
. D
_ m = on2| —imlsenft—¢] (T ’ 16.2
exp |:—2<t — t’) (ZL’ X ) :| e 4 (27T|t — t/|) . ( 6. 77)

16.2.3 Simple Harmonic Oscillator

In this section we are going to compute the path integral of the simple harmonic oscillator.
Because the SHO Hamiltonian takes the form in eq. (16.2.4)), with the potential being V(§) =
(w?/2)@%, we may thus start with the Lagrangian formulation in eq. (16.2.22)):

K[t t'; 2,7 = / Dq'exp [i5]; (16.2.78)
where
¢
S = / Lds; (16.2.79)
t/
1/
L=s (cf[s]Q - w2ﬂ3]2> . (16.2.80)

The strategy is as follows. Like the free particle case, we split the ¢ into a classical ¢. and
fluctuating piece &, so that

7= q+¢, (16.2.81)
D§ = DE; (16.2.82)
with the boundary conditions
gt =17, ol =17, ] =€) =0. (16.2.83)
The Lagrangian now transforms into
L=L0+§’C-§—w2@-5+%(§2—w2€2>, (16.2.84)
Lo = % <q'f - w2(j§) . (16.2.85)
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The action now reads

1 [ty.
So = 5/ (qf - w2q§> ds (16.2.86)
tl
We may demand that
d? S
(@ + w2) g. = 0. (16.2.87)

Problem 16.6. With the boundary conditions in eq. ((16.2.83)), verify that the solution to the
classical trajectory is

T'sin[w(s —t')] + 2 sin [w(t — 5)]

Tc|s| = ; 16.2.88
Gels] sin [w(t — )] ( )
whenever the time elapsed is not a half-period, namely
w(t —t') #4n (for integer /). (16.2.89)
Next, show that the action now reads
t 1 . 2
S =25, +/ ds (—52 - “—52) ; (16.2.90)
v 2 2
where the classical contribution to the action is
w
S.]q.] = 7+ 77 t—t)] —2%- 7). 16.2.91
]

Now, as long as t — t' is not a half-period, eq. (16.2.89) is valid, our path integral now reads

K[t,¢; %, #] = exp {%in [:f(‘; 5 (2 + &) cos [w(t — t')] — 2& - &)
6 . t 1 . wQ
X / DE exp [z/ ds (—52 - —?) . (16.2.92)
6 t/ 2 2
Mode Sums & Functional Determinants We may now decompose 5 into a superposition

of the complete set of eigen-functions of (d/ds)?* + w?, subject to the boundary condition in eq.
(16.2.83)). Specifically, we may define the inner product of & »(s) to be

(6&)= [ & &as (16.2.98)
Eia(s=1)=0="CEa(s =1). (16.2.94)
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In particular, the differential operator (d/ds)? + w? is Hermitian

t 2 t 2
/, <% + w2> & (s) - Eads = / &(s) - (% +w2> Eods (16.2.95)

because the boundary terms vanishes by eq. (16.2.93)).
Moreover, the orthonormal eigenfunctions are

ugls] = sin [ (s — t’)] : (16.2.96)

t
/ Up * UpdS = Opn, (16.2.97)
tl

d? ’
(@ + w2) Uy = _)\Eufv AN = w2 {52 (ﬁ) - 1} . (16'2'98)

Since the eigen-functions of (d/ds)? 4+ w? must be complete,

£="Zuls). (16.2.99)
=1
Note that u,[t] = u,[t'] = 0; and
(16.2.100)
Therefore,
l/tds(?—w2§>:—1§:2 7.6 (—A):li?x (16.2.101)
2 y 2 S~ m nymn n 2 pwrt n’'\ny b
and

Copt .
exp [3/ (? — w2§2> ds
2 t/
We may now interpret, using eq. (16.2.98)),
6 . t 1 . CU2 +00 . 7/ .
/ DE exp z/ ds [ &2 — =& :NH/ AP Zyexp | =\ Z?
g P 2 2 w1 JrD 2

i i D [)\ } Eﬂ- 2
— A/ =T sgn(Ag 2 _
AT 5 L (t - t,)
=1
Upon comparison with eq. ((16.2.98)), notice this 0 — 0 transition amplitude is proportional to
the —(D/2)th power of the product of the eigenvalues of the SHO operator (d/ds)? +w? subject

to Dirichlet boundary conditions; this in turn is why the <6 U] 6> is often dubbed a functional

+oo .
=T ex» BAJE] . (16.2.102)
/=1

N[e)

(16.2.103)
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determinant, since it is directly related to the determinant of the differential operator associated

with the dynamics at hand.
dQ )\ o) ) I 2

o ot 1: 2 d2 -
/6 DE exp {z/ﬂ ds (552 — %?)} x {det (@ + w2>} ) (16.2.105)

At this point, note that the pre-factors N and N’ should not depend on w, since it arises from
the ambiguity of the integration measure D§ — [], dPZ,. We proceed as follows.

S]]

D
g ¢ . 2 00 , -D 400 / 2|72
- . ]'_2_ = o U U'r iD’ngn[)\ /] . w(t_t)
ﬂDgexp{z/ds(§§ ?§>}_NH(‘t—t’ e 1 ¢ Hl —
0 t =1 /=1
D
wt—t) |2
= Noft — 1] |—— "L
et = 7] sinfw(t — )]
= U'r -b iDm
Noft =] = N ] ‘t — e el ) (16.2.106)
=1

We have utilized

sil:z _ ﬁ (1 B (5—7:)2) _ (16.2.107)

(=1

Let us observe that the sign of the eigenvalues in eq. (|16.2.98)),

Ao = w? (ﬁy {52 - (@)2} , (16.2.108)

is controlled by the difference between the integer ¢ and w(t — t')/7 (for ¢ — ' > 0). (Note
that, within classical dynamics, a full period ¢t — ' = T of motion is determined by the equation
W' = 2m; so t —t' = m/w is a half period.) When 0 < w(t —t')/7m < 1, i.e., within the first
half-period, all the eigenvalues labeled by {\,|¢ = 1,2,3,...} are positive and

Noft =t =N ﬁ (‘ fr

t—t
=1

—D -
eT> : (16.2.109)

It is important to note that N, depends on time but not on w. This means we may determine
its form by taking the w — 0 limitB since it needs to recover the free particle case

(7

Y6This is also why it is important to assume 0 < w(t —t') < 7 because, as we shall see, the other time intervals
Ir<w(t—t)< (+1x (for £=1,2,3,...) are not continuously connected to the free particle w = 0 case.

Dy .
e—i(t—t’)ﬁz/2‘f’> _ / Ak k(o) -ite-t)R22 (16.2.110)
o (27)P
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Denoting ¥ — &' = Randt—t = T, we first complete the square.

-\ 2
T({(- R R T (= 2- 5
3 (k_f) ~ 72 ——5(‘“—?‘“'3) (16.2.111)

For T' > 0,

D
i R? —i% 2
e (e i ) . (16.2.112)

e—i(t—t’)ﬁz/Q

<6 6> - (ﬁ) . (16.2.113)

and therefore, for 0 < w(t —t') < m, we have the result

0 t . 2 L / L
— . 1—2 W™ —iDT 1 ? W(t—t) :
D ds | =¢°— — =e ! 16.2.114
|, peew [/ 5(25 >¢ > S P [ P o) B
D
—iDT w ’
= 16.2.115
“ T 2rsinfw( — )] ( )

When the elapsed time ¢ —t' lies within the second half-period, 1 < w(t—t")/m < 2, then the first
eigenvalue A1 in eq. (|16.2.108]) becomes negative whereas the rest of the A\, remain positive.
The overall amplitude A5 multiplying the SHO path integral in eq. (16.2.106]) then reads

/ ’ m -P iDx ad 6/77- -p iDm
MNaoft =t] =N"- | |-— 11 | e (16.2.116)
=2
d 6/71' -P iDm s
:N’H 't_t, et |e 2P, (16.2.117)
=1

The phase in the first factor has become e {™)/4 = +imD)/4=i(mD)/2. an( since Ny multiplies
the path integral, we see the quantum mechanical transition amplitude would therefore jump
by a phase e “™P/2) when the time elapsed t — ¢’ proceeds from the first to second half-period.
In the third half-period, 2 < w(t —t')/7m < 3, eq. indicates both A\; and Ay are now
negative and

=1

el ! -b . D1 ‘o T
Nolt =] =N"T] (’ fm e%> e 2h, (16.2.118)



More generally, as ¢t — t' transitions from the ¢th half-period to the (¢ + 1)th one, the A\
eigenvalue will flip sign from + to —, which in turn will cause a jump in the phase multiplying
the path integral by e~“™?/2) To sum, when

w(t—1t)

™

0< (< <l+1, (16.2.119)

the 0 to 0 path integral is

0 t . 2 D
- : Ly wim —it2 _ip® w :
D ds (Le2 @] = miemR i : 16.2.120
freew | oo (38 -5€) | =ttty dsaaw
and eq. (|16.2.92)) becomes
K[t,¢; 7, #] = exp [ T [ch(é —y (@ + &) coslut - ¥)] - 28 f’)}
D
_i¢zD _;p= w 2
2 4 16.2.121
e e st — )] ( )

Problem 16.7. SHO Path Integral & Classical Dynamics Recalling eq. (16.2.91)), we
may write eq. (16.2.121)) as

f Z t : ks . ™
/ Dq'exp —/ <cjg —wQCIQ) ds| = e 7 e~iP%
f/ 2 t/
w(t—1)
0

ol

2 sin[w(t — t')]

eiSeldel (16.2.122)

! < <l+1. (16.2.123)

Show that, up to overall multiplicative phase factors, this result may be re-expressed as

T . t 8250 % o
H (f,t!f’,t’)H:/ DJexp [%/ (f—wQQQ) ds] = (det a—> el (16.2.124)
f/ t/

xeox't

In other words — keeping in mind eq. ((16.2.120)) — the functional determinant <6 |U]| 6> is also

directly related to the classical action differentiated with respect to the starting and ending
points of motion. Eq. is not a special feature of SHO dynamics, but a rather generic
feature of (the JWKB limit of) path integrals. The jump in the phase factors is also generic: it
occurs whenever one of the eigenvalues of the differential operator encoded in S flips sign. [

Problem 16.8. One-particle Partition Function of SHO Recall that the energy levels
of the SHO are given by

1
E, = <n + 5) w (16.2.125)
in D = 1 dimension. First show that
“+o0
> e T = (2isin (w(t —1)/2)) . (16.2.126)
(=0

Then demonstrate that this is consistent with eq. (16.2.46)), that the ‘trace’ of the path integral
yields the one-particle partition function. Assume ¢ — ¢’ is not a multiple of a half-period. [
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Half-Periods & Parity When w(t —t') = ¢m, we see the solution to path integral faces
apparent infinities from all the occurrences of 1/sin[w(t — )] in eq. (16.2.121]). This difficultly
can in turn be traced to the fact that the classical solution to the SHO — with boundary conditions
fixed — is no longer well defined. To see this, suppose Zy and 7y denote respectively the initial
velocity and position of the SHO at s = t/; then

q.[s] = %o sin [w(s — )] + T cos [w(s — t')], (d— +w ) =[s] = 0. (16.2.127)

w ds2
At half-periods w(s — t') = ¢, the dependence on the initial velocity drops out and
Gnlw(s —t) = tx] = Zy(—)". (16.2.128)

In other words, it is not possible to demand that, over the time duration t — ¢ = ¢r/w, a SHO
particle moves from %, to some other ¥ # (—) 7.

Let us see this from the path integral perspective. As we shall see, this result is intimately
related to parity invariance of the SHO Hamiltonian. To begin, let us define in the Schrédinger
picture

P|7) = |-7). (16.2.129)
Note that, if X is the position operator, this is equivalent to
PXP=-X. (16.2.130)
Also observe that
P?|%) = P|-7) = |7) = Pt=P (16.2.131)
We may readily construct the symmetric and antisymmetric eigenstates of P as
|7) —|-1)

and |7 —) = ——F—— N (16.2.132)

|7) + |=7)

T +) = 7

How does the parity operator acts on the momentum eigenstates { }? We consider

<1_5|P| i"> = <E‘ - f> = xe HFED = T URT - <—E) a?> : (16.2.133)
Since this is true for any |Z), we must have

P

By = ’—E>; (16.2.134)
and for momentum operator p’

PP = —f (16.2.135)
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Since the position and momentum operators transform in the same manner, and since the rais-
ing /lowering operators are formed from their linear combinations, this implies the @ and @' in

equations ((12.3.10) and (|12.3.11)) also transform as
PaP = —a, Pd'P = —ad'. (16.2.136)

We may use the fact that the ground state |Ey) is even under paritym to see that each higher
state would alternate between odd and even under parity. For instance, if (a*)? is the raising
operator in the /th spatial direction,

P(a)t.. (@) |Ey) = P(a")'P- P(a™®)'P... P(a™ )P P(a™) P?|E)
= (=)"(@)". . (@)'P|Ey) = (=)"(@™)" ... (") [E) . (16.2.137)

For w(t — t') = ¢r, we may now analyze our path integral as follows

=

Klolt - ) = tm @, 7] = (7] exp [—%H} 7).,

[e.9]

— Z (Z| Ex) (En| ') exp {_MW <”1 Tt np g)]

=pr 0 () (Bl @) ()t

=05 Y. (T Ez) (Esl(—)7). (16.2.138)

1
Klw(t —t') = tm; &, 8] = o760 [# — ()7, (16.2.139)
i
where D is the number of space dimensions.
Summary The transition amplitude for the SHO system

T . t
(# exp [—i(t — ') Hspo)| #') = / Dexp B / (qQ - w%f) ds} (16.2.140)
i t/
is given by, for the first half-period,
(7 exp [—i(t — ') Hsuo]| &) (16.2.141)
D .
—iDT W ? w =2 2 / i
= ¢7iD% t— )] — 27 -
¢ orsmpi =y P {QSin oy (& T coslw(t )] =277 >}
= Kolt, ¥ 7, 7], 0<t—t' <”. (16.2.142)
w

17Up to overall numerical /normalization constants, (| Ep) o< exp[—wi?/2].
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and for subsequent half-periods,

1 2
(& lexp [=i(t — ') Hsuol | &) = =5 Kolt, 32,2, g <t—t < f (16.2.143)
1 R 27 / 37
:F—DKo[t,t7Z’,£L’], ; <t—1t < U, (162144)
1 I ot 3T ’ 4
:iz)’—DKo[t,t,JI,ZE], U <t—1 < U, (162145)

...... (16.2.146)

EWhen the time elapsed is exactly a multiple of a half-period, t — ¢ = ¢r/w and integer
(=1,2,3,...,

(Z |lexp [—i(t — t')Hsno)| &) = ZD%&“” [ — (—)2]. (16.2.147)

16.3 SHO with Time Dependent Frequency

In this section we will determine the path integral, up to overall phase factors, of the SHO but
now allowing w to depend on time.

Retarded Green’s Function In this section, we wish to study the properties of the
retarded Green’s function of the simple harmonic oscillator with a time dependent frequency,
namely:

<j_; . ww) Glt. v = (%1 + w[t’]2) Gt ] = ot — ¢']; (16.3.1)

with the constraint

Gt <t]=0. (16.3.2)
With eq. , we may write
Gt, '] = Ot — ¢'|G[t, t']. (16.3.3)
ODEs, Initial Value Problem We shall now argue that G is the homogeneous solution
d? d?
(@ + w[t]2> Glt,t'] = (dt/? + w[t’]2> Glt,t']1=0 (16.3.4)
with the initial values
0Gt, ') = —ouGlt, '] =1, glt=t=0. (16.3.5)
Inserting eq. into eq. (16.3.1]), the ODE with respect to ¢ reads:
't — t1G[t, '] + 20[t — t']0,G[t, '] + Oft — '] (97 + w?) G[t, '] = 0. (16.3.6)

18These phase jumps are related to the Maslov-Morse indices; see [7] for a pedagogical discussion.
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Assuming G is smooth enough so that we may Taylor expand
8t —t1G[t, ¢ =8t — ] (Gt =t]+ (t —t)9Glt =]+ O [(t —')*]) ; (16.3.7)
followed by using the distributional identity 2zd'[z] = —d[z], we gather
St =Gt =t]+ 6t — )0 Glt =]+ Ot — '] (9] + w?) G[t, '] = 0. (16.3.8)

Therefore, to ensure the vanishing of the ' and © terms, we require G[t = t'| = (07 + w?)G = 0;
while to ensure that we are left with the desired §[t—t'] on the RHS, we must have 0,G[t = '] = 1.
A similar calculation, but now with respect to t’, reveals
8t — Gt t) — 20[t — )0 Gt,t'] + Ot — '] (9} + w?) G[t, 1]
8t — NGt =t'] — 6[t — t')0pGt, ') + Ot — '] (07 +w?) G[t, 1]
This leads us to conclude that 9y G[t = ¢'] = —1 and (97 + w?)G = 0.
Wronski & Solution The unique solution to equations ((16.3.4)) and (16.3.5) is

Z7[t] Za[t'] — Zo[t] Z4[V']

(16.3.9)

0
0 (16.3.10)

g[t,t'1 = - WilZ,. 2] : (16.3.11)
Wr|Zy, Zs| = Z1 7y — Zs 2y (16.3.12)
where Z; and Zs are homogeneous solutions to the ODE, namely
(d_2 + w2> Z1 9 =0. (16.3.13)
dt? ’
Note that, under any invertible transformation
Zi[t] = M Yi[t], (16.3.14)
det M,” # 0; (16.3.15)
where {Y7, Y5} are homogeneous solutions; the solution to G remains invariant
gi.¢)= AU~ B __ VG0 .
From the Wronskian-based solution, we may see immediately that G is antisymmetric:
glt,t'] = —gl[t', 1] (16.3.17)
and therefore
glt=+t1=0, 00y Gt =1t = 0. (16.3.18)

That G satisfies the homogeneous solution follows from the fact that Z;, are homogeneous
solutions. Note that the Wronskian Wr[Z;, Z5] is time independent because there are no single
derivative terms in the ODE; and thus, one may evaluate the Wronskian at any time.

&Wr[Zl, ZQ] = leg — ZQZl + 21Z2 - Z1Z2 (16319)

= Z1(—w?)Zy — (—w?) 2125 = 0, (16.3.20)
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We may further check that

d Zh[t) 2|t — Zo[t) Z4 [t
— Gt t] = — 1 2:[t] = [ 20 [ (16.3.21)
dt Zi [t Zs[t] — Zo[t] 21 [t]
2. (16.3.22)
and likewise
d [t Zo[t'] — Zo[t) 24 [t
— Gt ] = — 11 2:[t') = 5|1 21 [F] (16.3.23)
dt Z7[t] Za[t] — Zot] Z1[t]
=2 (16.3.24)
Kirchhoff Representation With the Green’s function at hand, we may use it to solve the
initial value problem
Zt=t] =2, Zlt=t] =i (16.3.25)
through the formula
Z[t] = Gt t')i" — 0y Glt, '] (16.3.26)

This carries over to the relationship between the Heisenberg picture position operator X [t] and
its ‘initial’ value (i.e., its Schrodinger picture counterparts) X [t'] and plt] = X [t']:
X[t] = G[t, t)plt'] — 9,Glt, ') X[t (16.3.27)

Note that, since G[t,t'] is a homogeneous solution with respect to t, so is 9y Glt, t']. Therefore,
that Z[t] is a homogeneous solution is manifest; what remains is to show it satisfies the initial
conditions. But since G[t = t'| = 0 and 0y G[t = t'] = —1, we have

Zt=1t]=0—(—)a'; (16.3.28)
while using eq. ((16.3.18]),
Z[t =t] = 0,G[t = t']i' — 9,0uG[t = ']z’ = i’ (16.3.29)
Next, we may use eq. to deduce the solution to the boundary value problem
Zty] = x, Z[t)) = ' (16.3.30)

It is given by

— 0, Gls, t1]2. (16.3.31)

That this is a solution follows from the fact that G[s, ;] and 0y, G[s, t1] are both homogeneous
solutions with respect to s, so all we have to check are

xr + 3t1g[t2, tl]x’

Z[S = tl] = Q[s = tl,tl] — atlg[s = tl,tl]l’/ = Qf/ (16332)
Glts, t1]
Zls = to] = Glto, 1) - F 00T 0T oy v (16.3.33)
Glta, t1]
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This boundary value problem has no solution for times (¢1,¢2) such that Glts,t;] = 0.
With the time derivative

x + 8tlg[t2, tl]l‘,
Glta, 1]

85Z[t1 S S S tz] = 339[8,251] — 358,519[3,151]3:’. (16334)

We may construct

Z)2lt) - 2101 Zin] = 0,61t 0 =T 2N 9,0, Gl ) )

(z - 2') + O, Glta, t1]2"

- 8$g[8 = tl] g[tg, tl] + asahg[s = tl]x,2
(16.3.35)
_ a? +at1g[t27t1](m/ ZL’) / (CL’ -ZL'/) +8t1g[t2’t1]x/2
=08l gy Gl bl =
(16.3.36)

Re-arranging,

: : 0y, Glt2, 112 — 0y, Glto, 1] 2" + (2 - x) {atQQ[t27t1]atlg[t2?t1] —

Zlta) Z[ta] — Z[t] Z[t] = L 9,0.Glh, tl]} |

Glt2, 1] Glta, 1]

(16.3.37)

A direct calculation using the Wronskian-based solution shows that

01, Glt2, t1]0y, Glta, t1] — 1 2
— 04,0 Gt t1] = — : 16.3.38
Glta, 1] 120Gtz Glta, 1] ( )
We arrive at

. . 6t g[tg tl]ZEQ - 8,5 g[tg tl]l’/Q 2
Zto] Zts] — Z[t1] Z[t] = —=——= = — 2 x). 16.3.39
(L12[t:) - Z16)2ft it i@ D (16339

JWKB Solutions We record here the JWKB solutions for Z; 5. Whenever w is a slowly
varying function of time, we may attempt to use JWKB. The leading order solutions are

exp [iz’ ftt/w[s]ds}

Zi[t] = ; (16.3.40)
wli]
and whose Wronskian is

Z N Z_[t] — Z_[t] Z[t] = —2i. (16.3.41)

Therefore, a direct calculation reveals

sin [f: w[s]ds}
Glt, 7| = : (16.3.42)
wltlwlr]



Commutators Let us compute the commutator of the Heisenberg picture position operator
at different times using eq. ((16.3.27)).

[(X'[t1], X7 [t2]] = [Gltr, VP[] — OuGltr, 1 X [t'], Glto, ' [t'] — OuGlta, ') X7 [¢]] (16.3.43)
= —G[t1, )0y Gt2, V'] [P'[t'], X7 [t']] — OuG[tr, G [ta, '] [X'[t'], P’ [t']] (16.3.44)
= 069G [t,, 110y G[ts, t'] — 1070y G[t1, V]G ta, t']. (16.3.45)

A direct calculation using eq. reveals
(X [t1], X7 [ta]] = —i69G[t1, ta). (16.3.46)

A quick check using the equal-time commutation relation and the boundary conditions G[t, ¢’ =
t] = 0 and 9pG[t,t' = t] = —1: taking the time derivative with respect to t and then setting
ty =ty = ty, we gather [X1, Xo|ty—t,=t, = [Xo,po] = —i69 (=) = i6%.

Time-Ordered Products

Heisenberg Picture Position Operator Let us denote the Schrodinger picture posi-
tion and momentum operators as X, and p, respectively. If the Heisenberg picture coincides with
the Schrodinger picture at ¢/, then let us argue that the Heisenberg picture position operator
Xn[t] is related to the Schrédinger position and momentum operators via

Xult] = pGlt. '] — X,0:G[t, ). (16.3.47)

Because of eq. (|16.3.4) we see that Xy + w[t]*Xy = 0; moreover, because of eq. (16.3.5)), we
may check the Schrodinger picture is recovered at ¢ = t':

Xult =t =pGlt =t'] — X;0pG[t =t'] = X,. (16.3.48)

Path Integral The path integral is

(Z|U| & / D exp { / [s]zcjgds] (16.3.49)

_ Sl / Dfesp |5 [~ wlsiates] (16.3.50)
0 4

where S is the action evaluated on the classical trajectory that begins at ¢.[t'] = 2" and ends at
¢.[t] = Z. Now,

?—1/t”2 Hd—l[* *]t 1/t* € 2 gd (16.3.51)
_Qt,QC quS_2 gc qct’ 2t/qc dS2 w qcas +J.
1 At
— - [g’g’] , (16.3.52)
2 t/
since by assumption ¢, is the classical trajectory: (9% + w?)q. = 0. Therefore,
(Z|U| &) = et (FEl-7"lt]) <O\U!O> (16.3.53)
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Using eq. (16.3.39), we may express the following object:

K[t 7, K[, U, 7, 7] = ‘<6|U\ 6>‘2 (16.3.54)
X exp % (3tg[tat’] - 5]t'9[t S g[Zt'] (- 37))1
<on [ (g - o)
=| <5IU| 5> k (16.3.55)
<o |3 (2250 - ) - g2 - )]

We may compute the functional determinant | <6 |U| 6> |2 — which depends on time but not on

space — as follows. Notice
/ dPZK([t, ¢ 2, K[t ', 7] =/ APz (' |UY| &) (& |U| ) = P[5 — 4]
RD RD

~1(@00) P [ asexn |- i )
= | (010) (611 @m)P6 P [ -] (16356)

l

We therefore have

) AT T T ni-D P0Gt e o
Kt,t 2, q)K[t,t';Z,]] = [2nG[t, ]| exp [2 Glt. 1 V" =)

17 Variational Method: Examples

Theorem The basic premise behind the variational method is:

The expectation value of the Hamiltonian H with respect to any physical state
1) is always greater or equal to the lowest, i.e., ground state, energy Fj.

(WIH]Y)
(W)
It’s possible to obtain such bounds on excited states, if you know how to construct trial states

that are orthogonal to all the lower lying ones. For instance, if |Ey) is the ground state, Ej is
the first excited state energy level, and (| Ey) = 0; then

W H|)
s Ty

Eo

IN

V) . (17.0.1)

V). (17.0.2)
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More generally, if (¢| Ey) = ... (¢| E,—1) = 0, where {E;|i =0,...,n— 1} are the first n energy
levels, then

(Y |H|Y)
E, <YV gy (17.0.3)
(Y| ¥)
Variational Method This means, to estimate Ey, we may cook up some trial state |¢; {a1})

with parameters {a;}; and compute (¢; {aq} |[H| ¥;{a1}) / (¢;{a1}|¥;{c1}). Then we may min-
imize this quantity — this is why it is dubbed the ‘variational method’ — with respect to the {ay}
and use the ensuing minimum (¢; {ar} |H|¢¥;{aa}) / (¢¥; {aa}| ¥; {a1}) as an estimate Ey. Of
course, there is some art involved here, since the form of the trial state is only constrained by
the practitioner’s creativity.

1D SHO Let us use a gaussian with an arbitrary width, namely

(x| 1; a) = exp(—(a/2)z?), (17.0.4)

as the trial ground state in the 1D simple harmonic oscillator. Via a direct calculation,

P’ L 59
m
‘ . o—(az ——3+lw2x2 e—(@2%)/2
WialH ey Je€ @ (—am 43
’ Ll A 17.0.6
(¥;al9;a) Jpee*da ( )
2 2
_ I“’ (17.0.7)
a
Minimizing this means
0 a? + w?
Fr— =0; (17.0.8)

whose solutions are a = +w. Since we want the positive root — otherwise the gaussian will blow
up at infinity — we then recover the exact ground state energy

a® + w? W

Eylest.] = = —. 17.0.9
ofest.] da |,_, 2 ( )

Hydrogen Atom Let us use a decaying exponential with an arbitrary width, namely
(| ¢; a) = exp(—(a/2)r), (17.0.10)

as the trial ground state in the hydrogen-like atom. Via a direct calculation,

p2 Ze?

H= o= (17.0.11)

m r

too —ar V2 e? —ar
alHlpza) LT (- ) e (17012
(Vya|v;a) Jo emardr -
— 4e*mZ

_ ala—4e'mZ) S em?) (17.0.13)

m
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Minimizing this means

0 ala —4e*mZ)

=0: 17.0.14
da 8m ’ ( )

whose solution is @ = 2me?Z. We then recover the exact ground state energy

—4e2mZ 762)2
Eylest.] = W __{ ;) m. (17.0.15)
a=2me?Z

Problem 17.1. Consider the quartic oscillator, defined by

PP A

=+ X" (17.0.16)

Assume the ground state is even under parity transformations. Estimate the ground state and
the first excited state energy levels. ]

18 Rayleigh-Schrodinger Perturbation Theory

18.1 1D SHO perturbed with a 2* potential

Let us consider

1
H ="+ -wr? + \z*. (18.1.1)

H=Hy,+ Hy, (18.1.2)
2
1
Hy = % + §w2x2, (18.1.3)
H, = ™. (18.1.4)

First Order Shift of Ground State Energy We may compute the first order shift in

the ground state energy
w w
(x| Ep) = 4 /; exp (—§x2> (18.1.5)

§1Ey = A (Ey | X*| Eo) = )\/ x4; exp (—wz?) dx (18.1.6)
R
- Afag\/f: A (18.1.7)
™ W 4y/Tw:

Why does this answer blow up with w — 07 Can you estimate, when does perturbation theory
break down?
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18.2 Hydrogen-like Atoms
18.2.1 Stark Effect

Quadratic Stark Effect of Ground State Let us consider immersing a hydrogen-like
atom in a constant electric field, which we shall denote as

E = EZ = —V(—Ex2). (18.2.1)
The Hamiltonian is

H = H,+ Hy, (18.2.2)

9 2

D Ze
Hy=-— — — 18.2.3
0 2m - ) ( )
H) = —eEz. (18.2.4)

Ignoring spin, the ground state of hydrogen is non-degenerate. The first order correction is
6By =—eE (Ey|z| Ey) = 0. (18.2.5)

because of parity. There is no linear Stark effect for the ground state.
Let’s do quadratic order. We need to compute

0aEg = —(eE)*) K

s>1

B,17| By)

18.2.6
5 _F (18.2.6)

The sum must include all excited bound states as well as the integral over the continuum states.
Following Sakurai, we may estimate this sum as follows

(eE)*

OBy < —=——"= E\|Z|Es)(Es|Z| E 18.2.7
o<~ = 3 (B2 B (B ) ) (18.2.)
(eE)* - _
=5 F (Ey |Z?| Ey). (18.2.8)
By spherical symmetry of the ground state
_ _ _ _ _ _ 1, - _ 2
(Ey|2°| Er) = (Bx[Y?) Br) = (B0 |X?| By) = 5 (Bq || Ey) = 2. (18.2.9)
whereas Ey — By = (3¢2/(8ag)). Hence
8a3, 9
0> 9 FEy > —T(eE) . (18.2.10)

Linear Stark Effect for Excited States As long as the electric field is large enough so
that the Stark effect overwhelms the spin-orbit interactions, the excited states are degenerate —
remember 0 < ¢ <n —1and —¢ < m < m — we need to apply degenerate perturbation theory.
In particular, we need to diagonalize

<n;€1,m1 |X3| n; fg,m2> = <n;€1,m1 ‘X?’ n;€2,m2> ) (18.2.11)
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We recognize the third component of a vector to be the m = 0 component of its £ = 1 spherical
tensor counterpart. Hence

Moreover, by the Wigner-Eckart theorem, we know that such a matrix element is proportional
to the Clebsch-Gordon coefficient arising from adding angular momentum 1 and /5 to obtain /¢;.

(n; 01, my |X3} n;la,ma) = (01 my2;1 lo| 10,05 my o)

x (n; 01| X9 |n; £5). (18.2.13)
which in turn informs us, for ¢, = 0,
(G =1; (18.2.14)
and for /5 > 1,
by =0y —1,05,0o+1<mn—1. (18.2.15)
Finally, under parity transformations["|
<n;£1,m1 ‘PX?’P‘ n;fg,m2> =— <n; 0y, my ‘X3| n;€2,m2> (18.2.16)

= (=) (s by

X3 nyla,my) . (18.2.17)

That means we require ¢; + {2 + 1 to be even — for e.g., {; # {5. Since ¢, 5 can differ by at most
one,

Let us examine the n = 2 states. Here, /5 = 0,1. But because ¢ cannot be greater than unity,
we have

0 =0,1. (18.2.19)

Since (1 # {5, we can only have (¢; = 1,0, = 0) or (¢; = 1,¢, = 0). Moreover, this also teaches
us my = mgy = 0. The relevant un-perturbed eigenstates are

o, o 2— r/ap r 0
(r,0,0|n=2,0=0m=0) = an)?72 exp ( 2aB> Y, (18.2.20)
1 T T
=2¢=1 =0) = | Y? 18.2.21

= Vi Y0, ¢) = %\/gcos 6. (18.2.22)

Via a direct calculation, we may deduce

<n:2;f:0m:0|X3|n:2;£:lm:0>:<n:2;£:lm:0‘X3|n:2;€:Om:O>
= —3ag. (18.2.23)

19Very similar considerations apply for dipole radiative transitions.
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The corresponding eignenstates and eigenvalues of H; = —eEX? is therefore

H, |£3eFag) = +£3eFag |+3eEag) (18.2.24)

1
|£3eFap) = 7 (In=2l=1m=0)xn=2=0m=0)). (18.2.25)

Remember the shift in energy is precisely these eigenvalues
01E,—o = +3eFag. (18.2.26)

Symmetry vs degeneracy The degeneracy is lifted for the states involving |[¢ = 0, m = 0) and
|0 =1,m =0). Physically speaking, we may attribute this to the electric field breaking the
original rotational symmetry of the Hy. On the other hand, notice the |[¢ = 1,m = £1) states
still yield un-perturbed energies up to first order; i.e., their degeneracy is not lifted. Physically,
we may attribute this remaining degeneracy to the residual axial symmetry under rotation about
the direction parallel to E.

Caution We are ignoring spin here. Actually, the spin-orbit interaction involving the
operator L - S can be more important that the —eEX -E dipole interaction here, for very weak
electric fields. So the results here are really only valid for strong enough electric fields — but not
too strong that perturbation theory itself breaks down!

Problem 18.1. Linear Stark Effect for n = 3 Still ignoring spin, work out the first

order shift in the n = 3 energy levels due to the Stark effect. ]
Relativistic Corrections In relativity, the kinetic energy is
_ /2 2 PP () 6/ 5
K=+p?+m?—-—m —%—W—i—(')(p/m). (18.2.27)

If we consider hydrogen-like atoms,

H = Hy+ H, (18.2.28)
D) 2
P Ze
H=—-— 18.2.29
"7 om r ( )
(7*)?
H =— ; 18.2.30
! 8m3’ ( )

we may compute the first order corrections to the energy levels due to the relativistic correction
in Hy. Let’s begin with the ground state, which is non-degenerate if we ignore spin. The ground
state is

o exp(—r/ap) _ 27\ —1
I E) = —————, ag = (me“Z 18.2.31
(7| Ey) N B = (me*Z) ( )
= m . a9,,\2 1 ~ z
B =2 ) = ey T30V (18.232)
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We find that
nhky = <E1 |H| E1>

p |7 |5 (18.2.33)
2m(2m)?
1, - ZeA\ 7| -
=——(F || Ho+— | |E 18.2.34
s (Bl (Ho+ 22) |8) (18231
1 (= _ - Ze* _ _(Ze?)? | -
:—§E<Eb+2&&Eﬂjr¢&>+<&\ 3 |E1) ) . (18.2.35)
A direct calculation would tell us
_ ., Ze?  _ _
<E1\ ~— |Ey) = —2E) (18.2.36)
Z
<El}( ) |B) = sE2. (18.2.37)
Therefore
5 5 -
OB, = —§(622)4m = Z(eQZ)?El. (18.2.38)

Note that H; is rotationally symmetric. So it is already diagonal in the |n; ¢, m) basis. Following
Sakurai, we first write

N Enpm = (n;0,m|Hy|n;l,m)

=—(n;l,m —(132)2 n;l,m (18.2.39)
o 12m(2m)? | T
1 A
=5 (n; 0, m| (Ho + _e) |n; €, m) (18.2.40)
1 _ _ A 2 A 2)\2
=5 (Eg + 2Eq (n; €, m| 2c |n; €,m) + (n; £, m| ( 62> In; ¢, m)) . (18.2.41)
m r r
Ze? _
(n; €, m| 2c |n; ¢,m) = —2F, (18.2.42)
r
Ze?)? dn
s 6m) Z 0 my = i (18.2.43)
m 1 3
=——(zZe*)* — 18.2.44

18.2.2 Spin-Orbit & Fine Structure

Spin-Orbit & Fine Structure@ Consider a multi-electron atom, such that the zeroth
order Hamiltonian of one of its electrons is

i
Hy=—+V.(r). 18.2.45
o= L 1vir) (18.2.45
20This discussion is modeled after that in Sakurai [3].
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Suppose the eigenstates are
(r, 0,8 n: €, m) = RL(r)Y;"(0, 9). (18.2.46)

The spin-orbit interaction, which goes as the magnetic moment dotted into the B—field (i.e.,
_ﬁ -B )7 18

1 1dV, - =
. 18.2.4
H = 2m2rerS (18.2.47)
1 1AVl [ o =y
— L 18.2.4
2m2rdr2<J S)’ (18.2.48)

where the dV/dr is related to the electric field experienced by the moving charge as it orbits the
nucleus.

The eigenstates that render H; diagonal therefore involve the total angular momentum eigen-
states {|n; j = £ £ 1/2 m; ¢ 1/2)}. They can be constructed using {n; ¢, m} above, tensor-ed with
the spin degrees of freedom:

1 1

1 1
> nstime) @ ‘57m3> <€ Mg, 5 M

m=myg+ms

1 1
=0 -l =Y.
j=14 2m,€2>
(18.2.49)

The energy shift is therefore

. 1 1
(51En,],g:<n,j:€i§m,€ §'H1 2

1 1
n;jzﬁi—m;€§>

I 1/1 1dV,
:4m2 <j(j+l)—€(€—|—1)—§(§—|—l>> <n€ . n€>
1 C1dve] 14 forj=0+1
() Ly o Zef] 02
<nf1dv n£> /Rﬂ()ldv()Rf()%r. (18.2.51)
r 0 r d

According to Sakurai, this is known as Lande’s interval rule. If V. is simply the Coulomb
potential; setting ¢ = 0 actually yields the result obtained from the Darwin term. See Sakurai
for a specific discussion on sodium.

18.2.3 Zeeman Effect

Zeeman effect The vector potential associated with a constant magnetic field Bis
) 1 " 1 ik ik
Check:
(V x A) = 9, (e A°%) (18.2.53)
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1

= 5% (e*e* BIzF) (18.2.54)
1 . 1 .

— 5(5;5,’; — R0t BIoy = 5(35; —69)B’ (18.2.55)

_ o (18.2.56)

If we include spin-orbit interactions, the Hamiltonian in the presence of a vector potential is

1 V'(r)

N2 - =
H = (2m) " (7—ed) + LS4V (18.2.57)
= (2m,)"" (;52 F A e(f At ,I-m) LV (18.2.58)
It turns out, in this case, that /Tﬁz I A
<f 5 A ¢> — iV (/Y (] ¢>> (18.2.59)
= (6 A+ A ﬁ) (@]9 (18.2.60)
<:z A7 z/)> — AV (7| ) (18.2.61)
- —%e“bCBbxcaa (@] ) = —%emebe@a (@] ) (18.2.62)
R R e
~ . (:p X v) () =3 <x ‘B : L’ ¢> . (18.2.63)
We may compute
L1 1
V-A= 5aa(em”CBb:cC) = 5e“chb(Slg = 0. (18.2.64)
Moreover, note that
1 o 1
A2 = 2V BB = (6,8 — 6.6)) B'B"wa¢ (18.2.65)
Lo 3. )2
=3 (B 2~ (B 7) ) . (18.2.66)

Weak B ﬁeLd . We need to include the interaction between B and spin; i.e., —fi - B =
—(ge/(2m.))B - S with g ~ 2. The Hamiltonian at this point reads

Hl = H0+H1+H2, (18267)
o) /
_ D 1L V'(r)» &
Hy=g -4 Voo L8 (18.2.68)
e - . o
H =- B (L S 18.2.69
1 S (L +gS) ( )
e? _—
Hy= — (B~ (B- x)2> . (18.2.70)



The eigenstates of Hy may be labeled by (n, 7, m, ), where n is the Bohr-like energy label, j is
the total angular momentum, m is its azimuthal number, and ( is the orbital angular momentum.
Let us use the fact that L + gS is a vector operator to assert

(n,g.ma €| BUL 4 9')| m,oma, €) = xge (Gom | Ti] j.m) B, (18.2.71)
<n7]am17 ‘J L+gS> n7j7m27€>

njl = — , 18.2.72

Xt 3G S

where X, ;¢ is a constant independent of the ms.

<n,j,m1,€‘f2+f-§+g§2+gf-gln,j,m2,€>

Xnjb = GG+ (18.2.73)
1 ]_ -, —,
=G+ +1 g—§+ +g n,j,my, 0| J* — L% — S?|n, j,mo, 18.2.74
22 2
iy _ 13 1+g/(.,. 3
=G+t {£(€ +1) + 955 + — (](j +1)—L(l+1)— Z)} (18.2.75)
Jjg+1)—4(l+1)+3/4
=1+(g—-1) ( )2j(j(+ 1) 3 Xt (18.2.76)
We see that x,, ¢ in fact does not depend on n.
Problem 18.2. Verify that
1 1
Xjti1joe =1+ 29£—+1 R TERT (18.2.77)
Remember: for a single electron j = ¢+ 1/2. O
The expectation value of H; may now be expressed as
(n,j,m,l|Hy|n,j,m,0) = ;gﬂ <n j,m, ‘B ﬂn j,m, €> (18.2.78)
m

Choosing B to be parallel to the z—axis, B= BZ, we must have

61En,j:€:|:1/2,m,£ = <TL,] =(+ 1/2, m,€ ‘Hl‘ n,j =/(+ 1/2, m, f) (18279)
el g—1 eB 1
= — 1+ ~— 1+ —— . 18.2.
2m€( 2£+1)m 2me( 2£+1)m (18.2.80)
For sodium, when B= 0, Weinberg tells us the D, lines are due to
prja = 512 (18.2.81)
n=3/l=1,j=1/2=0-1/2) 5 (n=3,=0,7=1/2=10+1/2). (18.2.82)
This means when a B field is turned on, the D; line is split into
eB 1
AE N=— 1—= —(14+1)m 18.2.
(m —m') 2me(< 3>m (1+ )m) (18.2.83)
eB (2
=— —m —2m’ | . 18.2.84
2me (Bm m) ( )
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Here, m = £1/2 = m/. Therefore there are 4 possible transitions.

eB (1 eB 2
E(+1/2 — +1/2) = - _9) = z 18.2.
(£1/2 — £1/2) ¢2me(3 ) Fame 3 (18.2.85)
B /1 eB 4
E(+1/2 1/2) = Z49) = - 18.2.
(£1/2 5 F1/2) ¢2m€(3+) oo (18.2.86)

Weinberg tells us that these results allowed Lorentz (who set g = 1) to conclude from Zeeman’s
data to recognize that the particles responsible for these radiative transitions must have a e/m
roughly 3 orders of magnitude larger than those in electrolysis.

Problem 18.3. Verify Weinberg eq. 5.2.11. Then, recall from Wigner-Eckart that (j,my |J*| 7, ms)
is non-zero only when |m; — my| < 1. Use this to explain/verify Weinberg equations 5.2.14
through 5.2.16. [

Strong B field Thus far, we have assumed that B is small enough that H; may be
treated as a perturbation. If B is much stronger, the spin-orbit term becomes a perturbation
relative to this Zeemann term.

H = Hy+ H,, (18.2.87)
P
Hy = V 18.2.88
= o + ( )
€ — — .
H, = - B-(L S). 18.2.89
1 om. (L +g5) ( )

1 m3> and compute

In this situation, we may use the basis

1 1
nE = <n;€ me, 5 M |Hy|n; 0 my, 5 ms> (18.2.90)
B
_ _2€me (- g, (18.2.91)

18.2.4 van der Waals Forces between atoms

@Consider two neutral atoms, which we shall label as atom 1 and atom 2. In this section, we will
use perturbation theory to compute the expectation value of the energy due to their interactions.

The Coulomb potential between all the charges involved, can be split into 3 terms: the
potential between the charges within atom 1, which we will dub Vj; the potential between the
charges within atom 2, V5; as well as the inter-atom potential,

Vi = 5 Z P 7 (18.2.92)

eaeAl Ta €A1 |ZL’a
6b€A2 ybGAQ

Here, 7, points from the center-of-mass of atom 1 to its ath charge; whereas g, points from the
center-of-mass of atom 2 to its bth charge; and, finally, R points from the center-of-mass of atom

21The discussion here follows Weinberg. It is rather heavy-going; so look at the discussion in Sakurai first, if
you desire a more friendly warm-up first.
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1 to that of atom 2. Hence, R+ yp points from the COM of A1l to the b charge; and therefore
Zq — UJp — R is the vector from a to b.
The total Hamiltonian, ignoring spin effects, is then

H=HM + HM + Hy, (18.2.93)
A1 P A2 152
) = =D 5= R g =S Loy, (18.2.94)
2mb
eaeAl ep€A2
eaeb
= Vi = Z >t — (18.2.95)
eaEAlx €Al |$a |

erEA2 i eA2

We will assume that |7,|,|y,| < R, i.e., the characteristic size of the atoms is much smaller
than their separation; and there is negligible overlap between the wavefunctions of the charges
in atom 1 with those in atom 2. These assumptions allow us to expand the H; as follows.

(%) 553’
Yp - R’) u
DIDY > Z TN —— (18.2.96)
eaeAl To€AL £y=0 L= b: |R|

epEA2 ybEAQ

Now, the 1/|, — 7, — R| satisfies

. 1 S
Vi A 5@ (f G R) (18.2.97)
T, —
— ]_ —
2 — ¥ (2 —i7 —R):
-y (7~ 7~ B); (18.2.98)

whose right hand sides become zero for the limits |Z,], || < R. ThlS means H1 satisfies the

homogeneous Laplace equation with respect to Z,, v, and R. In eq. since I, now
occurs only within the power (-2, - V)f’l and ¢, only within the (g}, - V)éb, it must be that each
term within the summation is proportional to

| Zal Y @) |G| Y5, (B) = Y (£a) Y5 (8), (18.2.99)

because both Y, (Z,) and Y;™ () are homogeneous solutions of the Laplace equation with

respect to Z, and 7,. By dimensional analysis, the remaining factor must scale as 1/| B[ttt
Moreover, the product of the spin—{, and spin—{, from the Y;"*(%,) and Y, (g) must be

compensated by a YL_M (fi) such that the result has zero spin, since H; itself is a scalar. That
is: by — | < L <ty + ¥, and M = —(m, + myp). Altogether,

€q€ +L
o > (MR
L —)"Y, R
S S 3 R SR
eaeAl FL€A1La=0 6, 0a—by| <L<Ca+0y M—L

e, €A2 A2

XY YT () (e sy | LMl ). (18.2.100)

Mma+mp=M
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The second line amounts to ‘adding’ spin—/, to spin—/, to get a total spin L; i.e., it is propor-
tional to Y. Then, we see that >, (—)MY; MY yields a spin 0 object. We may check this
expression by recalling the spherical harmonic expansion, for |R| > |7],

1 +o0 1 1 +£ R
= =47 —— —)"Y," (MY, "(R). 18.2.101
A ;yRVH%Jrlm;( )Y ()Y, (R) ( )

(Recall: Y;” = (=)™Y,”™.) For instance, setting g = 0, we may identity 7, <> 7. Then only the
l, = 0 = m,, terms survive in eq. (18.2.100)).

Lq

S 3N o, Y ()Y R (18.2.102)

ea €A1 Z,€A1 £,=0 |R|£a+1

mae=—4Aq4
Let us define the electric multipole moments

EP(l= ) > eV (&) (18.2.103)

eq €A1 Fo€AL

> ey (). (18.2.104)

ep€A2 g eA2

Ep[2]

Note that, when either ¢, = 0 or ¢, = 0,

Bl =) > e/Vir=0 (18.2.105)
eq €A1 ZoeAl

oo EJ2l=)Y Y e/Vir=0. (18.2.106)

ep€A2 g EA2

This is a consequence of the assumption that these atoms are neutral. Moreover, the L = 0 term
must be zero because its coefficient must be gotten from multiplying H; by Y (R) = 1/v/4m and
integrating with respect to R over the 2—sphere.

1 d’R
L=0: €a€b o = (182107)
2vam eaezm fanAl 82 [T — gy — R

ey EA2 7, A2

Now,
- / a2R ’7“2 + R~ rRR- r‘ (18.2.108)
s2 |7 — R s2

i 2 2 —-1/2

:27r/ de|r® + R* — rRc| (18.2.109)
-1

2 -4

- —R—Z(\r—m —r+R)S %. (18.2.110)
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Hence,

2R viamr €46
L=0: €a€h - = 2 =0; (18.2.111)
2\/47r 2 2 To— g — Rl 2 2 Zl Rl

2
ca€Al ToeAL 52 |Zq ca €Al Tu€A
ebGAQ gjbEAZ ebEAQ ngAQ

again by neutrality. B
Finally, consider the simultanegus parity operations ¥, — —T,, ¥, — — and R — —R;
which leaves H, « 1/|Z, — ¢, — R| invariant. But Y;"(—n) = (—)V/"(n). Examining eq.
(118.2.100]), we see that
Y M (= R)Y M (—20)Yy " (—5) = (=) T Y M (R)Y ()Y, () (18.2.112)

But since such a parity operation must leave the H; invariant, and since the spherical harmonics
are linearly independent basis functions, ¢, + ¢, + L must be even.
Taking all these considerations into account, we may surmise eq. (|18.2.100)) reads

+L
R D) P SRR TRV SIS L)
|R| ’ M—1

lo=1lp= ‘Ea*£b|§L§€a+‘eb
LF#0
lo+Lp+L even
x> BB [2] (La ma, b my| L Ml 6). (18.2.113)
Ma+mp=M

To zeroth order, H; = 0 and the eigenstates of Hy are the tensor product of the eigenstate of
atom 1 with those of atom 2 — namely |E}) ® |Es) — which obeys

AE) = By |E) and  HM |Ey) = By |By) . (18.2.114)

At first order in perturbation theory, the corrections to the energies are

+L
0(Er|E2) = Z Z |R|ga+gb+1 S Xewr Y, (DMYTM(R) (18.2.115)
M=—-L

Ea—l lp=1 |€ *eb|§L§€a+eb
L#0
Lo+Lp+L even
x> (BB Ey) (B |E[(2)] Ea) (Ca ma, by mu| L M Ly 0)
Mma+mp=M
This 01 (F1|Es) may be interpreted as the potential energy due to the interactions between atoms
1 and 2.

Under parity, we have just noted that the electric multipole operators transform as E;" —
(=)*Ey. Hence, if the dynamics of the individual atomic systems is parity invariant — their

Hamiltonians commute with the parity operator [H(()Al), Pl =0= [H(()AQ), P] — then the expecta-
tion value (E}") is zero unless ¢ is even because

PlEys) = £[Ey) (18.2.116)
= (B9 |PE]"P| Ey o) = ((Ero| P) B} (P |Ev2)) = (Er2 | B Evg) (18.2.117)
= (E12|(PE]"P)| Er2) = (=) (Ev2 |E)| Erg) - (18.2.118)

To sum:
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To leading order, the potential energy arising from the interactions between neu-
tral atoms, whose individual dynamics obeys parity, vanishes unless their electric
multipole moments are even.

+L
01(En| Ez) = Z > e 2w Yo (MYYR)
la=2 Lp=1 ’ |a [€q—Ly| <L<lo4-Ly M=—L
ga even /;, even L#0

Lo+Ly+L even

X Z (Ey| B[]

Mma+mp=M

Ev) (By |E[" 2] Es) (Ca ma, €y my| L ML, 0y) .
(18.2.119)

Problem 18.4. Work out eq. ((18.2.119) up to the quadrupole order, i.e., 0 < £,,¢, < 2, in
terms of the electric dipole

= e X, (18.2.120)
acAl
Doy = ey (18.2.121)
beA2
and traceless quadrupole
ij ivi_ Lo
QL =D ea (Xaxg —~ g(sﬂxg) (18.2.122)
acAl
ij i j 1 i\
Q= e (YaYaJ - 55]1{3) (18.2.123)
beA2
operators. Hint: Remember the expansion in eq. (/18.2.96)). ]
Unpolarized Atoms If the atomic states |E;j’,m’) are equally likely to take on any

azimuthal m’ value for a fixed j’, we say they are unpolarized. In such a case, we will average
over m/, and invoke Wigner-Eckart to see that m = 0 on the E}* in order to produce a non-zero
result.

+5'
m 1 . m .
m/_ij/
. . +5
G E15) o : . .
= 1270 Z (3'm’5 0 4'100,5" m'). (18.2.125)
/ m ) 9
27"+ 1 i

Weinberg shows in the discussion leading up to his eq. (4.3.41) and the one leading up to
(4.4.21), that Y, (5 m';€ 5’| £ 0,7 m’) is zero unless ¢ = 0. Since neither ¢, nor ¢, can be zero
in our case, this tells us:

To first order in perturbation theory, a pair of unpolarized atoms suffers no shift
in energies due to their mutual interactions.
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That teaches us, to study the effective potential energy between two unpolarized atoms, we have
to go to second order in perturbation theory.

| (E] ® By |Hi| Ex @ Ey) |?
Sa(Er|Ey) = ) 1151 n 22 o) (18.2.126)

ElE,

The dominant term, as R — oo, arises from multiplying the lowest power of 1/R in eq.
(18.2.113]). We observe that

(' m |E] 3" m"y o< (3 m'; 0 3" € m, " m") (18.2.127)

is generically non-zero starting from j° = 0 — this simply requires ¢ = j” for instance. The
electric dipole, as Weinberg reminds us, would induce a transition from 1s to 2p. To lowest

order in 1/R, we take the ¢, =1 = ¢, term in eq. ((18.2.113)),

1 B +2 N
0o Er|Er) % s Y (B E-E B =y, ()Y Y(R)
E1+Eé;ﬁE1+E2 M=-2

Xy (B EPN]|E) (Bl ET[2] [ B) (1 ma, 1ms|2 M;11) |
Mmag+mp=M

(18.2.128)

Unpolarized Ground States Attract If £y and FE, are the ground states of the individual
atoms 1 and 2; we see that the van der Waals effective potential not only goes as 1/RS, it is in
fact attractive, because the potential energy is negative, since £y + Fy — E] — E, < 0.

18.3 Magnetic Moment

Interaction of electron with B field

<
oL
m

=

(18.3.1)
(18.3.2)

=
[l
@
[\
F|e
Uy
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19 JWKB (Short Wavelength) Approximation

When the wavefunction 1) varies much more rapidly than the potential V', it is possible to obtain

an approximate solution to the Schrodinger equation up to quadrature (i.e., in terms of explicit

integrals). In fact, this JWKB — more often simply dubbed WKB — scheme finds widespread

application beyond QM: geometric and wave optics, wave solutions in curved spacetimes, etc.
3 Dimensions We begin with the ansatz (given in Sakurai), for real p and S,

Y(t, @) = /p(t, &) exp (%S(t,f)) (19.0.1)

where we have restored h. The key assumption we shall make is that derivatives on S are to be
regarded as being more dominant than derivatives on p; that is, the phase exp(iS/h) oscillates
rapidly whereas the amplitude |/p varies slowly. Now, the Schrodinger equation reads

n? -
ihop) = (——V2 + V) Y. (19.0.2)
2m
That means at leading order in derivatives, we have

ihop) ~ \/pi*0,Se™" (19.0.3)

R~ T (@%mw/h)

2
U= = 1S/h
~ —hQ\/ﬁﬁVS - VSeSh, (19.0.4)
so that Schrodinger’s equation now becomes the following
= )2
0:S + V57 +V=0. (19.0.5)
2m

This is the Hamilton-Jacobi equation in classical mechanics.

Notice all the hs have canceled out. Because each derivative comes with one power of A,
JWKB is sometimes called the semi-classical limit, in the sense that i can be considered ‘small’.
However, h is dimension-ful (namely, [A] is energy x time) and therefore cannot be ‘small’ or
‘large’. Instead, what JWKB does it assumes the phase e*>/" varies more rapidly than VP, and
the hAs happen to count the number of derivatives. In any case, we see that if we first re-scale

7=2mf, (19.0.6)

followed by identifying

=V:S; 19.0.

i ViS; (19.0.7)
then we have
B, S(t, (1)) + VyS - VS = =V (7)) (19.0.8)
S, )+ - VgS = =V (19.0.9)
ds

— =— 19.0.1

n Vv (19.0.10)
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When V is independent of time, we may seek the stationary states; where ¥ oc e=*#*. Thus,
S(t,z) =W(z)— E -t (19.0.11)

and the Hamilton-Jacobi translates into

(VW)? = 2m(E — V). (19.0.12)

By taking an additional gradient,
U'g,U7 = —mo;V (19.0.13)
U' = o;W. (19.0.14)

This ‘fixed energy’ JWKB approximation scheme has a relationship with the corresponding ‘fixed
energy’ path integral; see Shankar for a discussion.

One Dimension We turn to one dimension, where — as we shall see shortly — in the
short wavelength limit it is possible to obtain W by integration. However, we wish to do things
more systematically. First, we will revert to setting A = 1, re-writing the Schrodinger equation
as

" + Uy =0, U=2m(E—-V). (19.0.15)

The € is not h, but a fictitious dimensionless parameter that counts derivatives; 1/e will turn out
to be an integral, for e.g. We will then postulate the following JWKB ansatz:

P(a) =) ay(x)e e, (19.0.16)
=0
Plugging this into our ODE, we obtain
0= Z e’ (ce(z) (8'(2)* = U(x)) — i (o1 (2)S" () + 28" (2)o)_1 (7)) — af_5(x))  (19.0.17)
=0
with the understanding that a_s(x) = a_;(z) = 0. We need to set the coefficients of €* to zero.
The first two terms (¢ = 0, 1) give us solutions to S(x) and ag(x).
0=ap (S (z)* = Ulz)) = Sy(z) =00+ / da’\/U(z'); o9 = const.

Co

0= —ie(205(2)S'(@) + a0(@)5"(x)) = aole) = prom

(While the solutions Si(x) contains two possible signs, the + in S’ and S” factors out of the
second equation and thus «y does not have two possible signs.)

Problem 19.1. Recursion relation for higher order terms By considering the ¢ > 2
terms in eq. (19.0.17)), show that there is a recursion relation between ay(z) and gy q(z). Can
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you use them to deduce the following two linearly independent JWKB solutions?

0 =Yl (x) + U(z)e(z) (19.0.18)

1 i [T, ] —
Yy (x) = Wexp {ZFE/ da’\/U(x )} %e Qo) (), (19.0.19)
Qus) (x) = i% /x U(i"f;/w di,2 (Qg(;'f))ﬁ)) Qo (x) =1 (19.0.20)

To lowest order
Ve (z) = Ul/%(x)exp [:Fé / dx’\/U[x’]} (14 0[] (19.0.21)

Note: in these solutions, the /- and /- are positive roots. O]

JWKB Counts Derivatives In terms of the Qs we see that the JWKB method
is really an approximation that works whenever each derivative d/dz acting on some power
of U(z) yields a smaller quantity, i.e., roughly speaking dInU(x)/dx ~ e < 1; this small
derivative approximation is related to the short wavelength approximation. Also notice from the
exponential exp[iS/e] ~ exp[+£(i/e) [ VU] that the 1/e indicates an integral (namely, an inverse
derivative). To sum:

The ficticious parameter € < 1 in the JWKB solution of €2¢” + U = 0 counts
the number of derivatives; whereas 1/¢ is an integral. The JWKB approximation
works well whenever each additional derivative acting on some power of U yields a
smaller and smaller quantity.

Turning Points & Connection Formulas Whenever ' > V| we expect an oscillatory
eigensolution; while whenever ¥ < V', we expect a damped one.

Vi)~ e (Cuct VT 4 CL et IVIE) BV 5 U >0 (19.0.22)
~ 1 <C,+€gfrmdz+0/_6_gﬂmdx>
—U

, E<V=-U>0. (19.0.23)

What happens when E ~ V? Notice the denominator in the 1/ VU of the JWKB solution goes
to zero there, and the approximation is likely breaking down. The strategy is then as follows.
Suppose at = x,, we have £ = V(z,), then we may Taylor expand

Ulx) =2m(E =V (x)) =2m(E —V(z,) — (x — )V (z,) +...) (19.0.24)
= —2m(z — z,)V'(z,) + O ((z — z,)?) . (19.0.25)

Since coordinates are arbitrary, let us re-center our 1D system such that z = (z — ).

V"(z) = 2mV'(z,)2(2) =0 (19.0.26)
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The solution to 1" — Azth = 0 for constant A are the Airy functions Ai[A3z] and Bi[A3 2], which
in turn are related to Bessel functions. Therefore, to leading order, near = ~ z,,

P(x) & CAAI[N2mV ' (x,)(x — )] + CpBi[v/2mV’(z,) (z — z,)]. (19.0.27)

We will now take their large argument limits so as to join these solutions to the JWKB ones. In
particular, let us record
exp (—%zg>

Ai(z = 00) ~ ROV =T (1+0(z7%?)), (19.0.28)
Bi(z — 00) ~ eXp\/g;ziig) (1+0(="7). (19.0.29)
and
Ai(z — —o0) (19.0.30)
~ g (o (G0t = T ) e o2 sin (52t - ) 0=
Bi(z — —o0) (19.0.31)
~ e (i (591 T) (o) +eos (S0t - T 07,
Case 1: Confining Potential  Let us first examine the case where V(z — 00) — o0,

where the potential is strictly confining. For simplicity we will assume £ > V for a single region
of space 1 < x < x5. In such a situation we know that the wavefunction must necessarily decay
for x < x7 and x > x5; so

Y(x ~ 1) = CaAI[N2m|V(z1)|(x1 — )] (19.0.32)
exp [ —2\/2m|V'(x)|(z1 — z 3
Yz g a) ~Ca 0 ( - i 1)‘( )1 ) (19.0.33)
2y (2m|V!(21)])12 (21 — )3
V(@ Z ) ~C o <§ 2mV/(a)(w —@1)* - %) (19.0.34)
ST RemIV @) @ — ) B
and
P(x ~ x9) & CYAI[Y/2m| V" (22)](x — x9)] (19.0.35)
cos (% 2m| V' (x9)] (s — )2 — %)
Yl S ag) ~Cy (19.0.36)

VRV (@)]) e (x — )1V

exp (—§\/2m|V’(:B2)|(:B — xz)%)
g w2) ~ C) ; — (19.0.37)
2ym(2m|V(22)]) %2 (v — o)

=
s
4%
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On the other hand, the JWKB solution can be superposed to yield cosine. Remember U =
2m(E — V); if we start integrating from x;, we may express the solution as

cos (f;l V2m(E — V(2'))dz’ — %)
V)

This guarantees that, near the left turning point  ~ x1, we may match unto the Airy solution.

Yrwks(T1 <@ < X2) & X4 (19.0.38)

Ccos (% 2m|V'(z1)|(z — 1) — Z)
T —r) R~ 19.0.39
Yywks( 1) = XA N T r ( )
Ca_____ XA (19.0.40)
VTE2m|V (z1)])12 /2mV (x)
Near the right turning point,
Yywks (T — T2)
cos <<f;;2 - fxm) da’\/2m(E — V(2')) — %)

7 (19.0.41)

VTN 2m(E =V (x))
eos ([ V/EmE = V) — 5 - 32V () (2 — 1) + )
AR VT 2mV (23) - (29 — )

We now demand that this be matched unto the Airy function solution near x ~ z5. We have
already fixed x4 in terms of C'4. We may demand that the integral from x; to x5 yield the same
cosine or its negative; namely

(19.0.42)

cos <§\/2mV’(x2)(x2 —x)— %)
VIV (23) (22— 2)

Then ") will be entirely fixed by x4 and hence by C4. This remaining constant Cy will in turn
be fixed (up to a multiplicative phase factor) by the normalization [ [1)|*dz = 1. We therefore
need to impose the following condition

Ywks (T — T2) = £xa (19.0.43)

xr2
/ V2m(E -V (2))da’ — g —nm, n=0,1,23,... (19.0.44)
z1

This allows the energy E to be determined.

Problem 19.2. Use JWKB to find the approximate energy eigenfunctions and levels of the
Hamiltonian

2

P
H:2—+>\X2”, A>0,n=1,23,.... (19.0.45)
m

Try to obtain the energy levels for arbitrary n. If you can’t, do it for the low lying ns. O

Case II: Tunneling
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20 Density Matrices: Schrodinger Picture

Schrédinger picture In a statistical ensemble of quantum states {|a;)}, with i being the
enumeration label, the statistical average of the quantum expectation value of some operator A
is given by

((4)) = Zpi (| Al v,

where p; corresponds to the probability that a randomly picked system is |;). (In particular,
Y. pi = 1; and, the sum over i does not necessarily equal to the dimensionality Dy of the vector
space.) Now, let us define the density operator

p= sz' i) (il -

Consider

Dy

Telp-Al= > pi(0lTas) (i Al €)

(=1 i

=575 pitai|AL0) (0] T]a)

i

- Zpi (i | Al ;) = ((A)).

Therefore the density operator is a central object in computing the statistical average of the
quantum expectation value of some operator A.
Time evolution How does this statistical ensemble evolve with time? In the Schrodinger

picture, if the quantum state at some initial time ¢’ is |«), at the time ¢ > t' it has evolved to
Ult,t']|o), where if H denotes the Hamiltonian i0,U[t,t'] = H[t|U[t,t'| and Ut = t'] = L
Suppose, at time ¢, the density operator is

o= pilai) (il

At time t > ', we have
pltl = Ut Ut t']".
Taking the time derivative gives us the equation for the density matrix itself.
10,p(t) = [H, p(t)] (20.0.1)

By inserting complete sets of position eigenstates,

Teplt]- Al = Y (@U@ (7ol §) (T |UTE T 9) (1AL ),

-
1’7$ 7y7y

= Y (@U@ ol i) GIUTL T (G1A| D).

-
:L":L’ 7y7y
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We have

@ UL ) 7) = /quxp[/tlt [qq'w}
U 17 / D exp |- / 1717

where we are assuming the path integral over the conjugate momentum can be performed to
leave a Lagrangian that depends solely on the positions {¢, ¢’} and velocities {q, q}.

— /de/dDgKin-in 2, 69,1 (§|A] Z) ;

with
Kinnl#.1:7.4) = /dDﬁ'/dD”/ Dq+/ DG T i
mn-in ) 7 - - J’- J’-
U AR P A PP
Xexp{ / (L[q+,q+] Lig- —i—J+ 7. —J - )dT:|
1 6N / D
= — - dﬁ’/dD/Dq/qu_"—’
(=N 6T [t 6T [t oy "
t
x exp {z (L) = L+ T - T )df} |
t/
ﬂflagl]z<f/|ﬁ0|gl>7 q_'EaTq_)
Statistical ensemble of position correlations Let A be a product of position operators.
Tr [pt] - ¢ .. /dD /dDyé Dilg— @i . &N Ky, t: 7,1]
:/ FE I K 67 1);
where
T N Tt 5J+ Fro J?_()

/dD*’/dD*/ Dq+/ Dq_plE, i
ZN Jt=J-=0

xeXp[ /t (L[Q+,Q+] LIgq)+J @ —J -q )dT}

(=)~ 6. [t]... 0,

At this point, we may perform a change of variables,

7 = Gq + &5
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where the “classical” portion q‘ﬁ obeys the boundary conditions

@t =17, @l =17
Gt =17, Qult] =7
and the quantum fluctuations 5 obey
&4t = &[] = 0.
Heisenberg Picture Expressed in terms of the initial density operator
Po=_pe 0] I, (20.0.2)
P
we have
(0)) = Tr[04p1t]] = Tr [O,UL, 70U 1, V] (20.0.3)
= Tr [U'[t,]OU[t, ¢']po] = Tr [Ox[t]po) ; (20.0.4)

where we have identified the relationship between Heisenberg picture operator and its Schrodinger
counterpart as

Oy[t] = UL, ')OU[L, 1. (20.0.5)
Example: SHO
20.1 Open Systems
Motivation If the Schrodinger equation is obeyed, as we have seen

p(t) = Ut t)p(tU(t, ). (20.1.1)

If the time evolution operator U is governed by a time dependent Hamiltonian that fluctuates in
time much more quickly than the density operator itself, we may obtain a time averaged version
of the above equation:

(i o(®)| ) = GIUG £ a) GO E)T13) (a lo(t') ) (20.1.2)
_ a’b’
= K;“7 (t,t") {alp(t)] b) . (20.1.3)
Open Quantum Systems More generally, open quantum systems have density matrices

obeying the same sort of equation. For simplicity we shall assume the statistical properties of
K are time independent, so that K = K(t — t').

(i |p(0)] §) = K" (t = ') {alp(t)] b) (20.1.4)

If p is to be Hermitian,
G lo@)i) = K" (t = 1) (blp(t)] a) (20.1.5)
= K,;"(t—1) (b|pt)a). (20.1.6)
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In other words,

x a't! ba
K 7 (t=t) = K;"(t = t). (20.1.7)

Ji

If we demand Tr [p] = 1 for all times,
L= K, (t—1)(alpt)|b). (20.1.8)

Since 6% (a |p(t')|b) = 1 and p is otherwise arbitrary,

> Kt —t) =", (20.1.9)

If we view ia and jb as a pair of collective indices, eq. (20.1.7) may be viewed as the statement
that K is Hermitian. That in turn implies, K itself must go as K ~ > A|A) (A|, where the
eigenvalues {\} are real.

b
J

K (=) = M1 M1 (20.1.10)

The eigenvalues {1} and eigen-matrices M[I] both depend on time through the difference t —¢'.
Furthermore, these matrices must be orthonormal

Tr [MIM[J]T] = 615. (20.1.11)

and in terms of them eq. reads
SOKM (=) =) Me M[T M(Te (20.1.12)
l = I (20.1.13)

When t = t/, we need to recover p(t) = p(t'). This in turn implies

a’t! ag b
K,""(0) = 6,%,". (20.1.14)

ij
This implies we may choose the first eigen-system at t = t’ to be

5,
M[1]* = \/15, AL = D; (20.1.15)

where D is the dimension of the space of matrices {M[I],%}.

20.2 Properties of Initial Density Operator

In this section, we wish to study the properties of the initial density operator

plt'] = Zpi o) (o] - (20.2.1)
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Firstly, since p; refers to the statistical probability, they must lie between 0 and 1. Therefore
p[t'] must be Hermitian; and as we shall soon see, its eigenvalues must also lie between 0 and 1.

Next, while {|a;)} can be assumed to be unit norm, they are not necessarily orthogonal since
they are distinct but otherwise arbitrary. We first recognize that Tr[p] is total probability, and
since total probability must be unity,

Tr [plt]] = 1. (20.2.2)

Choose an orthonormal basis {|i)} and perform the trace:

= ZZM (il ) {eul 5) (20.2.3)

_ZZPZ al’] j|()é, sz azlaz (2024)
= sz‘ =1 (20.2.5)

Because {|«a;)} are not necessarily orthogonal, they are not necessarily eigenvectors of p. How-
ever, the eigenvalues of p[t'] must necessarily be positive. Since p[t'] is Hermitian, it must be
diagonalizable. Let p|A) = A |A) and assume {|A)} are unit norm. Then,

A= (Ap[t][A) (20.2.6)
- sz )\l az a2| )‘ sz )\‘ Oéz (20.2.7)

< sz AN (] i) = sz — 1. (20.2.8)

Since A = >, pi| (A a;) |* and since probabilities must be non-negative, we must therefore con-
clude: the eigenvalues of p[t'| must lie between 0 and 1.

0<A<1 (20.2.9)
This also implies

0<... M IN<ALSL (20.2.10)

Equality is achieved iff A = 0 or 1. That is, if n and m are a pair of distinct positive integers,
with n < m:

AP=A" e A (1= AT = 0. (20.2.11)

We may write the initial density operator through its spectral decomposition, where only the
non-zero eigenvalues are involved:

=D AN (. (20.2.12)

A£0
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The square of the initial density operator is

Pt = NN (Al (20.2.13)
A#£0

The purity is defined as the trace of p[t']?.

Tr [p[t?] =D M (20.2.14)
A£0

Suppose all the eigenvalues obey A\? < A then we must have — upon term-by-term comparison —
Tr [p[t']?] < Tr[p[t]] = 1. (20.2.15)

Suppose one eigenvalue A’ obeys A = X = 1. Then since Tr [p[t']] = 3, A =14+, A =1,
and since all the A lie between 0 and 1, there must in fact be only A in the sum. Similar
reasoning will tell us, it is not possible to have two or more X that obey X2 = X = 1.

Purity of the initial density operator, defined as Tr[p[t']?], is unity iff p[t/] =
14} (1| describes to a pure state.
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21 Scattering Theory

Microscopic (quantum) systems are usually studied by scattering experiments. For instance,
Rutherford discovered the structure of (gold) atoms, that they have a heavy central nucleus, by
scattering alpha particles off a gold foil. In this section we shall study scattering theory itself.

Setup We will assume that the object of study is the potential V' generated by some
isolated quantum system; for e.g., the electric potential generated by a nucleus. The Schrodinger
equation for a particle scattering off such a potential is

(@—5) ) = V(X)) (21.0.1)

We will assume that V()? ) does not depend on time ¢ and only on space X , so we may focus
only on positive energy stationary states — namely, replace

B() = e Py, B >0, (21.0.2)
and obtain
(2mE - 132) ) = 2mV (X) i) . (21.0.3)
This allows the Schrodinger equation to be converted into an integral equation:
0 = o)+ (2mB — P?) " 2mV (@)(@) (21.0.4)
where [1) is, for now, an arbitrary homogeneous solution to

(2mE - ﬁQ) ) = 0 (21.0.5)

(2mE—132) /RS ((21; )*> < ‘¢0> - (21.0.6)

That tells us
<E

The inverse of the differential operator ¢ + V2 may be obtained via a Fourier transform:

> = 21)*6B) (K — @)gho ()€, @ = 2mE. (21.0.7)

~ 1
G(f “’,qz) =(7 — | 7
q2_|_P2
:/ / d3kj/ _) <]Z 1 ]Z/> <E’ f/>
R ( ]R3 @+ P?
d3k k(- $’>

_ /RB o q¢=V2mE = |q. (21.0.8)
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Problem 21.1. Inverse Verify that eq. (21.0.8) is indeed the inverse of (¢4 V?2): namely,

(&+ﬁ@é@—fm%=(f+6§yif—fm%:&%f—fy (21.0.9)
This means we may write eq. as
2m 3| o — %
) = o) + == | TN VD)) (21.0.10)
W(T) = Yo(T) +2m | PTCT - 75> = 2mE)V (F)(T), (21.0.11)

RS

because, if we apply 2mE + V2 on both sides, we recover the Schrodinger equation ([21.0.3)).
Notice this is very much like solving an inhomogeneous ODE; the general solution consists of
the homogeneous plus the particular solution.

The primary remaining issue is to compute G itself. First show that the 3D integral in eq.
(21.0.8) can be reduced to a 1D one:

@f—%fyzé/;igﬁ%gﬁg, R=1|7-7|. (21.0.12)
We shall see that there are (at least) two possible solutions:
éi@R):-f¢MR. (21.0.13)
4R

There is an ambiguity here. When integrating over k, there are two singularities at k = =+q.
This means we really need to choose a contour on the complex k plane to skirt them. O

Let us choose to skirt the pole at k = —q by going ‘under’ it; and the £k = +q by going above
it. Keeping in mind R > 0,

~ 1 © dk -k eikR _ o—ikR

P a) = 21.0.14

G(Jf $aQ) 2iR/—oo (271')2 (q+k)(q—k) ( 0 )
271 e R e—iaR

T 2iR(2m)? (<+)(—q) g~ ), ) (21.0.15)

- 21.0.16

~ 4rR’ (21.0.16)

We may check this result by noticing that, if we set ¢ = 0, G = —(47R)~!. From the integral
representation,

~ 1 (> dk sin(kR
G@_xmf:oyz_ﬁ/q(%y_%?l (21.0.17)
1 [ dke® —e
=—— — 21.0.1
2rR J_ 2m 2k (21.0.18)
1
=I5 (21.0.19)
s
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Note that, if G is a solution to (¢2 + V2)G = 6@, then for ¢* real, so is G*; that means we have
shown that both expressions in eq. (21.0.13]) are indeed solutions.
At this point, we may gather from eq. (21.0.11]),

V(@) (). (21.0.20)

If we put back the e=*#* and assume the V is localized enough that we may take the far zone
limit, namely when

r=17 > 7 =1 and qr > 1. (21.0.21)
From the Taylor expansion
|7 — 2|~ |7 -2 -7+
— A~
~r(1-2" 10 ((r’/r)Q)) (21.0.22)
we have
e:l:iq\a_c‘—f’\ e:i:iq(r—:?’?—i—...) r
~ 1+01—1). 21.0.23
Ar|Zd — 2| drr < * (r)) ( )
Therefore, in the far zone,
etia(rF(E/q)t)
e By(F) —» 8 TTE) L - f (21.0.24)
r
2 -
flar) = =2 | @37 V(@) (21.0.25)
47 R3

This far zone expression in eq. allows the following interpretation. The first term
on the RHS corresponds to a plane wave. Next, by choosing G = €% /(47 R), we obtain for
the second term on the RHS an outgoing spherical wave propagating to infinity. Whereas, by
choosing G = e~ /(47 R), we obtain for the second term on the RHS an ingoing spherical wave.
For scattering theory, we shall therefore choose G = eTR /(47 R), so that we may assert, the
homogeneous solution (1st term on RHS) is the ‘incoming’ plane wave, which then scatters off
the central potential V', then proceeds to propagate outwards to infinity (as described by the
2nd term on the RHS).

2\ _ iqT 32 I I
Y(¥)=e 2m g d°z —47r|x — |V(x Y (a"). (21.0.26)

Before moving on, let us provide a more involved but more systematic derivation of eq. (21.0.24)).
Firstly,

eizq|x il

izzqm qr<)h gl (gr>) Z Y @)Y (7)) (21.0.27)

4n|E — |
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Mz >1) - (—z)f“% (14+0@=™) (21.0.28)

Moreover,
ﬂ’”_zmz (£0)" o (kr) Z Y (@)Y (k). (21.0.29)

That means in the far zone, i.e., keeping only 1/r,

zq|:c T’

) L e’ DY (@)
47T]x — 7 — ZZCJJ@/ qr Ze, YE, Yg/ ') (21.0.30)
zqr e
SO ) Y WETEE elos
6zq(r xz) o
- Aqr (21.0.32)
Cross Sections & Probability Current One of the key observables in scattering exper-

iments is the differential cross section.

Consider a parallel beam of particles zipping down an accelerator tunnel. If L denotes flux
of particles (number of particles per unit time per unit area) across some infinitesimal cross
sectional area do, so that the number of particles per unit time crossing it is dN = Ldo,
then the differential cross section is defined by the number of particles scattered into a given
infinitesimal solid angle d€) divided by the luminosity L:

do Number of outgoing particles per solid angle (21.0.33)
dQ?  Number of incident particles per unit time per unit area o
1dN
- 21.0.34
L dQ) (21.0.34)

This definition is consistent with how cross section is actually measured: L is set by the pa-
rameters of the accelerator setup, whereas d/N/df) involves counting particles. Moreover, in
our quantum mechanical context, the flux of particles can be computed through the probability
current f, defined as

=3 1

Jt.7) = 5 (ww — w) (21.0.35)

Problem 21.2. Probability Conservation Law To check that J is indeed a probability
current, verify using the Schrodinger equation its conservation law:

QPP =-V-J, (21.0.36)

which states that the rate of change of probability ||? within an infinitesimal volume must be
equal to the negative rate of flow out the said volume. That is, if there is a net flow out of the
volume, there must be a decrease in [1)|?; whereas if there is a note flow into the volume, there
must be an increase. O
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We may interpret J -7 as the number of particles following through the surface normal to
the unit vector 7 per unit time per unit area; moreover, recall that r2dS is the area element of
a sphere of radius r. Therefore, in the far zone gr > 1,

do _ Number of outgoing particles per solid angle (21.0.37)
dQ2  Number of incident particles per unit time per unit area A
= hmr%oon(Joutgiing 7) (21.0.38)
Jincident g
We can compute the numerator and denominator as follows
2 wqr —iqr
I oot e o (e .
lim 77 - Joutgoing = lim — lim 7 (z A% ( f > + c.c.) (21.0.39)
r—00 r—00 21N r—>00 r r
~ g E]\ . Ga T~ —id-T
: Jincomin = 5 < rVe T . > . 21.0.40
q il e +c.c ( )
Problem 21.3. Show that eq. (21.0.38)) yields
do 9
— = : 21.0.41
= (21.0.41)
Note that f depends on 7; recall eq. (21.0.24). The r — oo limit is important here. ]
Born Approximation Apart from allowing us to choose the outgoing boundary con-

ditions readily, converting the Schrodinger PDE into an integral equation allows us to find

approximate solutions via repeated iteration. That is, we suppose the 2nd term on the RHS is
‘small’. Then, we may iterate the RHS into itself:

L 6iq|f—f’| .,

) =97 —2m [ &P7————=V(T)eTT + O(V?). 21.0.42

v(@) [ @ V@) ) (21.0.42)

We have suppressed the O(V?) term that contains ¢ (Z). If that term is small relative to the

O(V1) term, however, we may discard the former and obtain the first Born approximation
solution to .

ei(ﬂf_fll

AN l(j'f_z d3 =/ 14 =1\ 1T
(@) ~e m g x—47r|97:’—f’\ (Z')e

|7l = V2mE = q. (21.0.44)

(21.0.43)

At this point, upon taking the far zone limit,

iqr

Plgr > 1,7) = 77+ f(@) (21.0.45)
r
A 2 s ()2
F(@q@) = -2 | PFV(E)eT D (21.0.46)
47 R3
=—2m [ &7 V"()Y"ME) (21.0.47)
R =0



Z ) ju(gr) Z Y (@)Y (@) (21.0.48)
m!=—g
e//
X Z i jer(qr’)y Y YR @)YE (@) (21.0.49)
01'=0 m!=—g
)= V@ (21.0.50)
=0
Spherically Symmetric V For a spherically symmetric central potential, namely V(&) =
V(r),
A 2 (=g E
f(@q7) = -2 | B @ OTy () (21.0.51)
4 R3
= —2m/ dr'rV (r Z]gl qr’) Z Y (@)Y Q). (21.0.52)
m!=—g
We can also do the first integral directly, by reducing it to a 1D one.
o
= —m/ dr'r '2/ lla=arirey (1) (21.0.53)
-1
ei“j*q,ﬂr/ — efi‘q'fq?‘r/
= —m/ dr'r?V (') — (21.0.54)
0 ilg — qrlr
o0 sin (\/5(]7"/\/1—@\-57\)
= —Qm/ dr'r'V (r") — (21.0.55)
0 V2qy/1-q- 7
Note that, if we define cosf =¢q-7
V2 /1 =77 = /4sin®(0/2) = 2sin(6/2). (21.0.56)
Consider, as Sakurai does, the Yukawa potential
e—Hr
V=0 (21.0.57)
Within the first Born approximation,
R S 0 B le—m"’ €i2qr'sin(9/2) 010,58
f(q qz) = —2m om/ T 2gsin(0/2) (21.0.58)
N U | dr'e Hr ' +12qr’ sin(6/2) 21.0.59
~ gsin 0/2 m/ ne ( )
2 g 2
___mb asin (;) S e (21.0.60)
qsin(0/2) pu? — 2¢% cos(9) + 2¢> p? — 2q2 cos(0) + 2¢?
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The scattering cross section for scattering off a Coulomb potential can be gotten by setting
w— 0.

do[Coulomb]  (2mUj)?
dQ ~ 16g4sin*(6/2)

(21.0.61)

This is what Rutherford found.

Problem 21.4. Dipole-Yukawa Potential Consider the scattering off the following po-
tential

—pr

V= erﬂ Y20, ). (21.0.62)

Find the differential cross section within the first Born approximation in terms of spherical
harmonics:

DI I e R G () (21.0.63)

£1,m1 l2,mo

Can you take the g — 0 limit?
Hint: This problem involves the addition of angular momentum. Try to push the analysis as
far as you can. ]

22 Acknowledgments

A Classical Mechanics of a Point Particle: Review

In this section, I shall provide a review of the classical mechanics of point particles.
Lagrangian Mechanics Let us start by assuming the variational principle, which is
encapsulated within the Lagrangian L. We shall suppose L only depends on the trajectory ¢(t)
and its velocity ¢(t), but not on its higher time derivatives.
The extremum of the action leads to the Euler-Lagrange equations

oL d oL
- = ——— A.0.1
dq"  dt 0¢ ( )
Hamiltonian Dynamics The momentum conjugate to ¢ is defined as
OL(.)
= —. A.0.2
p 2 (A.0.2)

This eq. (A.0.2) will usually allow us to solve ¢ in terms of ¢ and 7. In turn, the Hamiltonian
is defined as

H(q,9) = pid'(¢,p) — L(,P)- (A.0.3)
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Note that, since we have switched variables from (g, §) to (¢, §), we need to understand how the
partial derivatives in eq. (A.0.1]) are altered. Viewed as a function of (g, q),

. L (OL(Tq . (0L ¢
0H(q,q) = 0pid" + pidg" — ( (4 CD) 8q" — ( (4 CD) 84
q 7

aq’ g’
) . d (0L : y
— 5 i t 15 . — I e— (5 [ 15 !
Piq° + piog dt ( o . 4 — piogq
q
= opig’ — pidq' (A.0.4)
Whereas, when viewed as a function of (¢, p),
OH . OH .
0H(q,p) = - | 0q¢" - | op". A.0.5
@0 =(55) o0+ (5) (A05)
Comparing the two expressions then hands us Hamilton’s equations:
5 OH(q,p)
= A.0.6
q apl ) ( )
. OH(q,p)
= D) A.0.7
p g (A.0.7)
Poisson brackets & Hamiltonian flow The Poisson bracket between two functions (f, g)
of (¢, p) is defined as
0f(q.p) 09(q:p)  0f(q,p) 09(q,p)
= . — — A.0.8
U gen dq* Ip; Ip; dq" ( )

We now see that, using these Poisson brackets, that the Hamilton ‘generates’ time evolution:

of OH  Of OH

H == — =
V- Hhes = 5 09, ~ 091 00,
of , of . df(qt),plt))
=—q P = ———————. A.0.9
954 + ot pn ( )
Spatial translations & Momentum flow Using the Poisson brackets, we may also show
that momentum generates spatial displacements in that
_O0f Ope  Of Ope
t:pekes = d¢' dp;  Op' Dy,
of
=L A.0.10
o (4.0.10)
Electromagnetism of Point Particles In Minkowski spacetime, the relativistic action

for a point electric charge e is given by

S—/dt (—merefT-U—ecﬁ). (A.0.11)
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Here, m is its mass; ¢ = dg/dt its spatial velocity; A is the vector potential; and ¢ = Ag is the
electric potential (and also the zeroth component of the vector potential). In the non-relativistic
limit, we have

S = /dt (=m+ Lgm + O(v*)) | (A.0.12)
where the Lagrangian is
Lgy = %172 +eA-T—eg. (A.0.13)
Problem A.1. Electromagnetic Hamiltonian Using the definition in eq. (A.0.2)),
namely
OLgm
)= A.0.14
show that
1 -
7= (ﬁ— eA) . (A.0.15)
m

From this result, show that the Hamiltonian Hgy associated with the electromagnetic Lagrangian

in eq. (A.0.13)) is

1 N2
Hey = — (ﬁ— 6A> t e, (A.0.16)
2m
Eq. (A.0.16)) is often the starting point of electromagnetism in the quantum mechanics. ]

We may check the consistency of the classical Hamiltonian in eq. (A.0.16)) by computing its

Hamilton’s equations. Applying eq. (A.0.6) recovers eq. (A.0.15); while employing eq. (A.0.7))
yields

p= _321?\4 = —% (pi — eAi) (—e)VA; — eV 0. (A.0.17)
Utilizing eq. once again,
p= eviﬁin — eﬁqrb (A.0.18)
% (m17+ eAlt, q_)) — ev'V A — eV, (A.0.19)
Now, dff/dt = 0,A + 199, A. Hence, we arrive at
mit =e (Um@»Am — 0", A" — 9, A" — ng) ) (A.0.20)

If we remember the relationship between the electric and magnetic fields with that of the vector
potential, namely

E' = —0;¢ — 0, A’ and B! = Mg, A", (A.0.21)
we recover the familiar Lorentz force law:

mit = e (E T (7 x E)i) . (A.0.22)
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Problem A.2. Use the result

et — o1 67, (A.0.23)
to demonstrate that
(7 x B) = v™9;A™ — 0", A’ (A.0.24)
This connects eq. (A.0.20) to eq. (A.0.22). O
B Some Identities
For linear operators A, B, and C,
[AB,C| = A[B,C] + [A,C]B (B.0.
[A, B]' = —[AT, B]. (B.0.2)
C Last update: March 15, 2022
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